						ALERSHIPS IN A								
Location SI. No. (Not applicable for IOC/HPC)	Name Of Location	Revenue District	Type of RO (Regular/Rur al)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.).	Estimated working capital requirement for operation of RO (Rs in Lakhs)	t of	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	BUKKAPATNAM VILLAGE & MANDAL	ANANTAPUR	Rural	48	SC	CFS	20	20	400	0	0	DRAW OF	0	2
2		ANANTAPUR	Rural		SC	CFS		20				LOTS DRAW OF		2
3	GOTLUR VILLAGE, DHARMAVARAM MANDAL		Rural	48			20		400	0	0	LOTS DRAW OF	0	2
4	VAYALPADU (NOT ON NH - SH), VAYALAPADU MANDAL THONDAVADA VILLAGE (NOT ON NH/SH), CHANDRAGIRI	CHITTOOR	Rural	48	SC SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
5	MANDAL DODDIPALLE (NOT ON NH/SH), PILERU MANDAL	CHITTOOR	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
6	NARAYANA NELLORE VILLAGE (NOT ON SH/NH) NANDALUR	KADAPA	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
7	MANDAL ARAKATAVEMULA NOT ON SH/NH , RAJUPALEM MANDAL	KADAPA	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
8	GUTTURU VILLAGE, PENUKONDA MANDAL	ANANTAPUR	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
9	MADDALACHERUVU VILLAGE, KANAGANAPALLE MANDAL	ANANTAPUR	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
10	KALICHERLA (NOT ON NH/SH), PEDDAMANDYAM MANDAL	CHITTOOR	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
11	CHINNACHEPALLE, NOT ON SH/ NH, KAMALAPURAM	KADAPA	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
12	MANDAL GUDIPADU NOT ON SH/NH, DUVVUR MANDAL	KADAPA	Rural	48	SC	CFS	20	20	400	0	0	DRAW OF	0	2
13	BUGGANIPALLE VILLAGE NOT ON NH/SH, BETHAMCHERLA	KURNOOL	Rural	48	SC	CFS	20	20	400	0	0	DRAW OF	0	2
14	MANDAL GOVINDPALLE VILLAGE NOT ON NH/SH, SIRVEL MANDAL	KURNOOL	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF	0	2
15	POLAKAL VILLAGE NOT ON NH/SH, C . BELAGAL MANDAL	KURNOOL	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
16	VENKATAPURAM (NOT ON NH/ SH), DHONE MANDAL	KURNOOL	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
17	BETWEEN NERABAILU AND KAMALAYYAVARIPALLE ON TALAKONA ROAD / NERABAILU ROAD YERRAVARIPALEM MANDAL	CHITTOOR	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
18	PADAMATIYALERU VILLAGE, ATMAKUR MANDAL	ANANTAPUR	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
19	NIMMANAPALLI (NOT ON NH-SH), NIMMANAPALLI MANDAL	CHITTOOR	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
20	DEVI NURSING HOME TO ADONI BYPASS CIRCLE ON ADONI- YEMMIGANUR ROAD (ADONI TOWN MUNICIPALITY LIMITS)	KURNOOL	Regular	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
21	YEMMIGANUR TO HANDRI KHAIRAWADI SH	KURNOOL	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
22	NH BELLARY CROSS ROAD TO RACHANAPALLI ,RHS	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
23	RAYADURG, WITHIN 3 KM FROM RAYADURG APSRTC BUSTAND JUNCTION TOWARDS BELLARY	ANANTAPUR	Regular	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
24	KADAPA TOWN(FROM YERRAMUKKAPALLI CIRCLE TO SLN FUNCTION HALL AT VISWANATHAPURAM ON JAMAAL PALLE - KADAPA ROAD)	KADAPA	Regular	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
25	LHS FROM KASTURBA GANDHI BALIKALA SCHOOL, CHILAKALADONA(V), MANTRALAYAM(M) TO HALAHARVI ON NH167(BETWEEN KM STONE 103 TO 108)	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
26	BUKKAPATNAM - MUDIGUBBA ROAD- IN PAMUDURTHI VILLAGE - ON EITHER SIDE	ANANTAPUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
27	BETWEEN TANAKALLU - NALLACHERUVU ON NH	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
28	BRAHMANAKOTKUR VILLAGE ON NEWLY PROPOSED NH	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
29	ODC- YSR CIRCLE TO KADIRI ON HINDUPUR - KADIRI ROAD, WITHIN 15 KM FROM YSR CIRCLE - ON RHS - SH 87	ANANTAPUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
30	GUMMAYAGARIPALLI CIRCLE TO KODUR JUNCTION - EITHER SIDE	ANANTAPUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
31	NUTHIMADUGU TO KALYANDURG ON DHARMAVARM - KALYANDURG ROAD- EITHER SIDE	ANANTAPUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
32	KARKAMBADI RURAL (ON SH31) (ON LHS TOWARDS KADAPA)	CHITTOOR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
33	ANKIREDDY PALLI ON NH	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
34	PONTHALACHERUVU CROSS (ON NH40)	CHITTOOR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
35	CHENNAMMA CIRCLE, KURNOOL TO BELLARY CHOWRASTA ON NH(KURNOOL TOWN MUNICIPALITY LIMITS)	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
36	KASAPURAM - GUNTAKAL ROAD (WITHIN 3KMS FROM KASAPURAM TEMPLE ARCH TOWARDS GUNTAKAL	ANANTAPUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
37	ON V.KOTA - GUDIYATTAM ROAD WITHIN 5 KMS FROM V.KOTA(ON LHS)	CHITTOOR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
38	BETWEEN VELDURTHY AND KURNOOL ON NH-44, ON LHS TOWARDS KURNOOL	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
39	RAYADURG, WITHIN 2 KM FROM RAYADURG BSNL OFICE TOWARDS KANEKAL	ANANTAPUR	Regular	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
40	ON MADANAPALLI BY-PASS	CHITTOOR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
41	ITIKYALA TO KANAKADRIPALLI ON NH67	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
42	SHIVA THEATRE, YEMMIGANUR TO GONEGANDLA CIRCLE, YEMMIGANUR ON BOTH SIDES (YEMMIGANUR TOWN LIMITS)	KURNOOL	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
43	MYDUKUR TOWARDS KURNOOL ON NH 40 RHS (WITHIN 8KMS FROM MYDUKUR BY PASS ROAD - NH 40 JN)	KADAPA	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
44	CHERLOPALLI TO R.KOTHAPALLI ON NS GATE- PERURU ROAD	ANANTAPUR	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
45	RHS FROM NANDIKOTKUR TO JUPADU BUNGALOW ON NEWLY PROPOSED NH NH 7/44,RUDRAMPET BYPASS CIRCLE TO RAPTHADU POLICE	KURNOOL	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS DRAW OF	0	3
46	STATION JN. LHS	ANANTAPUR	Regular	150	ST	CFS	45	45	2025	0	0	LOTS	0	3

							I	1						I
47	PENUKONDA TO MADAKSIRA ROAD- LHS. AFTER 10 KM FROM NTR CIRCLE AND WITHIN 20 KM FROM NTR CIRCLE	ANANTAPUR	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
48	PENUKONDA JAIL TO NH7/44 JUNCTION TOWARDS BANGALORE- ON EITHER SIDE	ANANTAPUR	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
49	RAMARAJUPALEM, GUDUR MANDAL	KRISHNA	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
50	MANTADA - NOT ON HIGHWAY IN PAMIDIMUKKALA MANDAL	KRISHNA	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
51 52	NANDIVELUGU VILLAGE, TENALI MANDAL SOMAVARAPPADU, KORISAPADU MANDAL	GUNTUR PRAKASAM	Rural Rural	46 46	SC SC	CFS CFS	20 20	20 20	400 400	0	0	RAW OF LOTS	0	2
53	VAKADU, VAKADU MANDAL (NOT ON HIGHWAY) VIJAYAWADA MUNICIPALITY LIMITS - BETWEEN	NELLORE	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
54	SUNNAPUPATTILU JUNCTION TO MACHAVARAM POLICE STATION	KRISHNA	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
55	CHUTTUGUNTA CENTRE TO NALLAPADU MIRCHI YARD (ON LHS)	GUNTUR	Regular	150	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
56 57	VIJAYAWADA CITY (LOYOLA COLLGE ROAD) GUDAVALLI TO PRASADAMPADU ON NH LHS	KRISHNA KRISHNA	Regular Regular	150 150	ST SC	CFS CFS	20 45	20 45	400 2025	0	0	DRAW OF LOTS	0	3
58 59	PHIRANGIPURAM RTC Bus Stand TO REPUDI ON NH	GUNTUR	Regular	150	SC SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
60	KANKIPADU TO CHALIVENDRAPALEM RHS ON NH 65 BETWEEN KAVALI TOLL PLAZA AND ONGOLE WITH IN	KRISHNA NELLORE	Regular Regular	150 150	ST	CFS CFS	45 45	45 45	2025	0	0	DRAW OF LOTS	0	3
61	NELLLORE DISTRICT ON NH 16 (RHS) NARASARAOPET (MALLAMMA CENTRE) TO RAVIPADU (ON	GUNTUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
62	SH) KANTEPUDI TO NANDIGAMA X ROAD (ON SH)	GUNTUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
63	Lammasinghi to G. Madugola , Chintapalli Mandal	VISAKHAPATNAM	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
64	Pothavaram	WEST GODAVARI	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
65	From Vemalupudi to Pamulavaka, Narsipatnam Mandal	VISAKHAPATNAM	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
66	Lakshmipuram Village, Dattirajeru Mandal	VIZIANAGARAM	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
67	SRIKURMAM VILLAGE, GARA MANDAL NOT ON SH ,GARA	SRIKAKULAM	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
68	Mandal From Erra Koneru NH Jn to Hamsavaram High school on LHS	EAST GODAVARI	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
69	,Tuni Mandal Mummidivaramto Edarada towards Mammidikuduru on	EAST GODAVARI	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
70	Either Side, Mammidikuduru Mandal BALLIPADU (KAPAVARAM TO TALLAPUDI) , Peravali Mandal	WEST GODAVARI	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Peravali Mandal													
71	Kodamanchili Village ,Achanta Mandal	WEST GODAVARI	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
72	Kotalaparru Village, Penugonda Mandal	WEST GODAVARI	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
73	Gedalapeta (Not on SH), PONDURU Mandal	SRIKAKULAM	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
74	Duvva Village, Tanuku Mandal	WEST GODAVARI	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
75	Narayanapuram on Ganapavaram Road	WEST GODAVARI	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
76	Manchili to unikili	WEST GODAVARI	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
77	KATAVARAM VILLAGE ON SEETHANAGARAM MAIN ROAD	EAST GODAVARI	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
78	NAD Jn to Gajuwaka Jn (on NH16)	VISAKHAPATNAM	Regular	150	sc	CFS	45	45	2025	0	0	Draw of Lots	0	3
79	Chittavaram to Narsapur on NH 216	WEST GODAVARI	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
80	PM Palem, Not on NH16	VISAKHAPATNAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
81	Bendigate to Kasibugga Railway gate on Old NH5 road	SRIKAKULAM	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
82	Mandapeta to Alamuru road on Mandapeta bypass with in	EAST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
83	toll gates on RHS within 5 KM Eitherside of Bora Junction on SH39	VISAKHAPATNAM	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
84			-											
	Pitaputam to Panduru village on NH 216 LHS	EAST GODAVARI	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
85	Sagar Nagar, Visakhapatnam Vizianagaram Town (Mayuri Junction to NCS Theater road via	VISAKHAPATNAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
86	Railwaystation) on either side	VIZIANAGARAM	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
87	Samalkota town in municipal limits	EAST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
88	OLD BUSTAND - GNT ROAD, ELURU	WEST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
89	Tuni within municipal limit on Tuni Main road	EAST GODAVARI	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
90	Srikakulam Town, from Ramlaksmana Junction to Peddapadu Junction	SRIKAKULAM	Regular	100	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
91	JONNADA toMadiki on NH 16 (from 937 km to 933 km stones)	EAST GODAVARI	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
92	NARSIPATNAM-K D PETA WITH IN 01 KM of Narsipatnam Gabbada Rd	VISAKHAPATNAM	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
93	Seethamadhara	VISAKHAPATNAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
94	Palasa to Ichhapuram on NH 16 LHS towards Ichhapuram	SRIKAKULAM	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
95	From Sativada to Ranastalam Road (3KM from Ranastalam	SRIKAKULAM	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
96	Road JN) BETWEEN GARLADINNE RAILWAY GATE TO BUDEDU CROSS,	ANANTAPUR		48		DC	20	20	400	12	30	DRAW OF	5	4
	PENAKACHERLA DAM ROAD, GARLADINNE MANDAL		Rural		Open							LOTS DRAW OF		
97	PULAKURTHY VILLAGE NOT ON NH/SH, KODUMUR MANDAL ANGALLU-CTM ROAD (WITHIN 4 KM FROM ANGALLU),	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	LOTS DRAW OF	4	3
98	ANGALLU MANDAL	CHITTOOR	Rural	48	SC	CFS	20	20	400	0	0	LOTS	0	2
99	BRAHMASAMUDRAM VILLAGE (NOT ON NH/ SH), BRAHMASAMUDRAM MANDAL	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
100	CHINTAKAYAMANDA PANCHAYAT(THIMMAMPALLI HAMLET VILLAGE), YELLANUR MANDAL	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
101	PERURU VILLAGE - WITHIN 2 KM FROM PERURU BUS STAND TO THOGARAKUNTA ROAD, RAMAGIRI MANDAL	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF LOTS	4	3
102	BANDLAPALLE VILLAGE IN KOTHACHERUVU MANDAL NOT ON NH/SH	ANANTAPUR	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
103	KOTANKA VILLAGE, GARLADINNE MANDAL	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
104	WITHIN 4 KM FROM PULAKUNTAPALLI - KOKKANTI CROSS	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
	ROAD (NOT ON NH-SH), PULAKUNTLAPALLI MANDAL				· ·							LOTS DRAW OF		
105	VELPANUR VILLAGE NOT ON NH/SH, VELGODE MANDAL	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	LOTS	4	3
106	KONDAKAMARLA VILLAGE, OD CHERUVU MANDAL	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
107	ALLADUPALLE, NOT ON NH /SH, CHAPADU MANDAL	KADAPA	Rural	48	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	2

	GOVINDAWADA VILLAGE (NOT ON NH/ SH), BOMMANHAL											DRAW OF		T
108	MANDAL CHENNAIHGARIPALLI VILLAGE (NOT ON NH/SH),	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	LOTS DRAW OF	4	3
109	PULLAMPETA MANDAL	KADAPA	Rural	48	Open CC 1	DC	20	20	400	12	30	LOTS	5	4
110	ON SAJJALADINNE TO ALUR ROAD, WITHIN 2 KM FROM PENNA CEMENT CROSS TOWARDS ALUR (NOT ON NH/SH) IN TADIPATRI MANDAL	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
111	CHINNA HOTTUR VILLAGE (NOT ON NH/ SH), VAJRAKARUR MANDAL	ANANTAPUR	Rural	48	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
112	KOMMEMARI (NOT ON NH/ SH), PEAPULY MANDAL	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF LOTS	4	3
113	PEDDAVADUGURU VILLAGE (NOT IN SH/ NH) ,	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
114	PEDDAVADUGURU MANDAL KANEKAL TOWN,KANEKAL MANDAL	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
												LOTS DRAW OF		
115	CHOWLUR VILLAGE IN HINDUPUR MANDAL B THANDRAPADU VILLAGE NOT ON NH/SH, KURNOOL	ANANTAPUR	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
116	MANDAL	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	LOTS	4	3
117	ON PAMIDI-KALLUR ROAD, WITHIN 2 KM FROM PAMIDI BUS STAND TOWARDS KALLURU (NOT ON NH)	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
118	PATTIKONDA (NOT ON NH & ASPARI ROAD)	KURNOOL	Rural	48	Open CC 2	DC	20	20	400	12	30	DRAW OF LOTS	5	4
119	RALLABUDUGUR (NOT ON NH/SH)	CHITTOOR	Rural	48	OBC CC 1	DC	20	20	400	12	30	DRAW OF LOTS	4	3
120	DEVENAKONDA VILLAGE (NOT ON SH/NH), DEVANAKONDA MANDAL	KURNOOL	Rural	48	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
121	NARPALA TO GUGUDU ROAD LHS WITHIN NARPALA	ANANTAPUR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
122	PANCHAYAT LIMITS VEDURU KUPPAM (NOT ON NH/SH), VEDURUKUPPAM	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
	MANDAL											LOTS DRAW OF	4	
123	GANGAVARAM (NOT ON NH/SH), BELUGUPPA MANDAL PULICHERLA VILLAGE (NOT ON NH-SH), PULICHERALA	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	LOTS DRAW OF	·	3
124	MANDAL	CHITTOOR	Rural	48	ST	CFS	20	20	400	0	0	LOTS	0	2
125	POLAKALA (NOT ON NH - SH), IRALA MANDAL	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
126	MANGALAMPETA VILLAGE (NOT ON NH-SH), PULICHERLA MANDAL	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
127	CHABOLU VILLAGE NOT ON NH/SH, NANDYAL MANDAL	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF LOTS	4	3
128	ROMPHICHERLA VILLAGE (NOT ON NH-SH), ROMPICHERLA MANDAL	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
129	KIRIKERA VILLAGE, HINDUPUR MANDAL	ANANTAPUR	Rural	48	SC	CFS	20	20	400	0	0	DRAW OF	0	2
130	PUTHALAPTTU-KANIPAKKAM ROAD , PUTHALAPATTU	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
	MANDAL GARUDAPURAM VILLAGE (NOT ON NH/SH), KALYANDURG											LOTS DRAW OF		
131	MANDAL	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	LOTS DRAW OF	4	3
132	CHINNA TEKUR VILLAGE (NOT ON NH/ SH), KALLUR MANDAL	KURNOOL	Rural	48	Open CC 1	DC	20	20	400	12	30	LOTS	5	4
133	RAKETLA VILLAGE (NOT ON SH/ NH), URAVAKONDA MANDAL	ANANTAPUR	Rural	48	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
134	PODARALLA VILLAGE (NOT ON SH/ NH), BUKKARAYASAMUDRAM MANDAL	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF LOTS	4	3
135	KADURU VARDAIHPALEM ROAD, NOT IN SH/NH VARDAIHPALEM MANDAL	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
136	MAHAKALIDEVIPUTUR (Not on SH/NH) YERPEDU MANDAL	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
137	GUGUDU VILLAGE (NOT ON NH/ SH), NARPALA MANDAL	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF	4	3
138	MARURU VILLAGE, RAPTHADU MANDAL	ANANTAPUR	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF	0	2
139						DC				12		DRAW OF		4
	CHANDRAGIRI TOWN	CHITTOOR	Rural	48	Open		20	20	400		30	LOTS DRAW OF	5	
140	BRAHAMANAPATTU - KAYAM-PUDI ROAD	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	LOTS DRAW OF	5	4
141	RATNAGIRI VILLAGE (NOT ON NH/SH), ROLLA MANDAL	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	LOTS	4	3
142	NANDAPALAPADU VILLAGE - ON THERANAPALLI ROAD UNDER GRAM PANCHAYAT(NOT ON NH/SH) IN TADIPATRI MANDAL	ANANTAPUR	Rural	48	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
143	DAMALCHERUVU VILLAGE (NOT ON NH/SH)	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
144	RAYALAPETA	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
145	NAGULAGUTTAPALLE	KADAPA	Rural	48	OBC PH	DC	20	20	400	12	30	LOTS DRAW OF	4	3
												LOTS DRAW OF		
146	EEDIGAPALLI (NOT ON NH/SH), EEDIGAPALLI MANDAL GOLLAVANIGUNTA ROAD CONNECTING TIRUPATI BY PASS	CHITTOOR	Rural	48	SC PH	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
147	ROAD CHINTHAKOMMADINNE NOT ON SH/NH,	CHITTOOR	Rural	48	Open	DC	20	20	400	12	30	LOTS	5	4
148	CHINTHAKOMMADINNE NOT ON SHANH, CHINTHAKOMMADINNE MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
149	MELAVOI VILLAGE, MADAKASIRA MANDAL	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF LOTS	4	3
150	GANGARAJUPODU VILLAGE (NOT ON NH/SH), KODUR MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
151	VIGILAPURAM (NOT ON NH/SH), VIGILAPURAM MANDAL	CHITTOOR	Rural	48	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
152	JANGALAPALLE NOT ON SH/NH, PEDDAMUDIYAM MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
153	UDEGOLAM VILLAGE (NOT ON NH/ SH), RAYADURG MANDAL	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF	4	3
												LOTS DRAW OF		
154	KAMANUR NOT ON SH/ NH, PRODDATUR MANDAL NARAVARIPALLI VILLAGE (NOT ON NH-SH), CHANDRAGIRI	KADAPA	Rural	48	Open	DC	20	20	400	12	30	LOTS DRAW OF	5	4
155	MANDAL PEDDAPOLAMADA VILLAGE (NOT ON NH/ SH), TADPATRI	CHITTOOR	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
156	MANDAL	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	LOTS	4	3
157	KHAJIPETA SUNKESULA TOWARDS KAMALAPURAM WITHIN KHAJIPETA SUNKESULA VILLAGE , NOT ON NH/SH, KHAJIPETA MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
158	KOCHERUVU VILLAGE (NOT ON NH/ SH), DHONE MANDAL	KURNOOL	Rural	48	Open CC 1	DC	20	20	400	12	30	DRAW OF LOTS	5	4
159	VENGALAMMACHERUVU VILLAGE (NOT ON NH/SH),	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF	4	3
160	PUTTAPARTHI MANDAL GOVARDHANAGIRI VILLAGE (NOT ON SH/ NH), VELDURTHY	KURNOOL	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF	0	2
	MANDAL											LOTS DRAW OF		
161	KOTHAPALLE (NOT ON SH/NH), RAJAMPET MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	LOTS DRAW OF	5	4
162	LEBAKA (NOT ON SH/NH), NANDALUR MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	LOTS	5	4
		i i							i		1	DRAW OF		3
163	NANNUR VILLAGE NOT ON NH/SH, ORVAKAL MANDAL	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	LOTS DRAW OF	4	

									I			DRAW OF	I	
165	MYLAVARAM, NOT ON SH/NH, MYLAVARAM MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	LOTS	5	4
166	VEERABALLI (NOT ON NH/SH), RAYACHOTI MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
167	KALAMALLA NOT ON SH/ NH, YERRAGUNTLA MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
168	MAHAL (NOT ON NH-SH), KALIKIRI MANDAL	CHITTOOR	Rural	48	OBC CC 1	DC	20	20	400	12	30	DRAW OF LOTS	4	3
169	RACHERLA VILLAGE (NOT ON NH/ SH), PEAPULY MANDAL	KURNOOL	Rural	48	ST CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
170	MULAKANUR PANCHAYAT LIMITS, KAMBADUR MANDAL	ANANTAPUR	Rural	48	Open PH	DC	20	20	400	12	30	DRAW OF	5	4
171	GAJULAPALLE VILLAGE NOT ON NH/SH, MAHANANDI	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF	4	3
172	MANDAL KOKATAM VILLAGE NOT ON SH/ NH, KAMALAPURAM					DC				12		LOTS DRAW OF		4
	MANDAL THUMMALAPENTA VILLAGE (NOT ON SH/NH),	KADAPA	Rural	48	Open		20	20	400		30	LOTS DRAW OF	5	
173	KOLIMIGUNDLA MANDAL	KURNOOL	Rural	48	SC	CFS	20	20	400	0	0	LOTS	0	2
174	SUNDUPALLI MANDAL (WITHIN 1 KM FROM 4 ROAD JUNCTION TOWARDS PEDDAPALLI, KAMMAGUTTAPALLI)	KADAPA	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
175	TERNEKAL VILLAGE (NOT ON NH/ SH), DEVANAKONDA	KIIBNOOI	Rural	49	OBC	DC	20	20	400	12	30	DRAW OF	4	3
	MANDAL FROM VEERABHADRAPURAM TO LINGALADINNE AT	KURNOOL		48			20	20				LOTS DRAW OF		
176	BRAHMAMGARI MATTAM, CUDDAPAH DIST DUVVUR VILLAGE FROM YSR STATUE JN TOWARDS	KADAPA	Rural	48	Open	DC	20	20	400	12	30	LOTS DRAW OF	5	4
177	PRODDATUR STRETCH OF 5 KM FROM YSR STATUE JN	KADAPA	Rural	48	Open	DC	20	20	400	12	30	LOTS	5	4
178	UTTUKONDA VILLAGE (NOT ON SH/ NH), DHONE MANDAL	KURNOOL	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
179	TRIPURAVARAM (NOT ON NH/SH), KHAJIPET MANDAL	KADAPA	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF LOTS	4	3
180	GUDIKAL VILLAGE NOT ON NH/SH, YEMMIGANUR MANDAL	KURNOOL	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
181	ALUR VILLAGE (NOT ON NH/ SH) IN TADIPATRI MANDAL	ANANTAPUR	Rural	48	Open CC 1	DC	20	20	400	12	30	DRAW OF	5	4
	FROM VEMPALLI BYPASS ROAD JN TOWARDS GANDI		_									DRAW OF		
182	STRETCH OF 4 KM FROM BYPASS JN ON RAYACHOTI - VEMPALLI ROAD	KADAPA	Rural	48	SC	CFS	20	20	400	0	0	LOTS	0	2
183	GUNTLAKONDA VILLAGE (NOT ON NH/ SH), DEVANAKONDA MANDAL	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF LOTS	4	3
184	BUJANUR-GADIGAREVULA STRETCH ON GADIVEMULA ROAD NOT ON NH/SH, GADIVEMULA MANDAL	KURNOOL	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
185	KOTHAPALLE VILLAGE NOT ON NH/SH, KOTHAPALLE MANDAL	KURNOOL	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
186	PETNIKOTA VILLAGE (NOT ON NH/ SH), KOLIMIGUNDLA	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF	4	3
187	MANDAL ON JALADURGAM TO DHONE ROAD (NOT ON NH)	KURNOOL	Rural	48	SC	CFS	20	20	400	0	0	LOTS DRAW OF	0	2
	ON JALADURGAM TO DHONE ROAD (NOT ON NH) MAMIDALAPADU,KURNOOL ON SUNKESULA ROAD(NOT ON											LOTS DRAW OF		
188	NH/SH), KURNOOL MANDAL	KURNOOL	Rural	48	Open	DC	20	20	400	12	30	LOTS	5	4
189	SIRVEL MANDAL NOT ON NH/SH, SIRVEL MANDAL	KURNOOL	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
190	RAMALLAKOTA VILLAGE (NOT ON NH/ SH), VELDURTHY MANDAL	KURNOOL	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF LOTS	4	3
191	AMARAPURAM	ANANTAPUR	Rural	48	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
192	YAGANTIPALLE VILLAGE ON YAGANTI ROAD NOT ON NH/SH, BANAGANAPALLE MANDAL	KURNOOL	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
193	DEEBAGUNTLA VILLAGE NOT ON NH/SH, GOSPADU MANDAL	KURNOOL	Rural	48	Open	DC	20	20	400	12	30	DRAW OF	5	4
194	VALLUR NOT ON SH/ NH, VALLUR MANDAL	KADAPA	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF	4	3
195		ANANTAPUR	Rural	48	ST	CFS	20	20	400	0	0	DRAW OF	0	2
193	K.LOCHARLA VILLAGE, KOTHACHERUVU MANDAL	ANANTAPUR	Nulai	48								LOTS	U	2
								20	400	12				
196	GOSPADU VILLAGE NOT ON NH/SH, GOSPADU MANDAL	KURNOOL	Rural	48	Open	DC	20				30	LOTS	5	4
196 197	SOMALADODDI JUNCTION, NOT ON NH	KURNOOL ANANTAPUR	Rural Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	3
	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL								400 400	12 12		LOTS DRAW OF		
197	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE	ANANTAPUR	Rural	48	OBC	DC	20	20			30	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	4	3
197	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL	ANANTAPUR KURNOOL	Rural Rural	48	OBC Open	DC DC	20	20	400	12	30	DRAW OF LOTS DRAW OF	4 5	3
197 198 199	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RTE ROAD[KIOILKUNTLA TOWN LIMITS] R.KRISHNAPURAN NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2 KM FROM BY	ANANTAPUR KURNOOL KURNOOL	Rural Rural Rural	48 48 48	OBC Open Open	DC DC	20 20 20	20 20 20	400	12	30 30 30	LOTS DRAW OF	4 5 5	3 4 4
197 198 199 200 201	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANGAMAPALLE TO SRI VEERA	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR	Rural Rural Rural Rural Rural	48 48 48 48 48	OBC Open Open SC OBC	DC DC DC CFS DC	20 20 20 20 20	20 20 20 20 20 20	400 400 400 400	12 12 0	30 30 30 0 30	LOTS DRAW OF LOTS	4 5 5 0 4	3 4 4 2 3
197 198 199 200	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE GNAMA PALLE TO SIN VEITH	ANANTAPUR KURNOOL KURNOOL KURNOOL	Rural Rural Rural	48 48 48 48	OBC Open Open SC	DC DC DC CFS	20 20 20 20	20 20 20 20 20	400 400 400	12 12 0	30 30 30 0	LOTS DRAW OF LOTS	4 5 5 0	3 4 4 2
197 198 199 200 201	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RIT ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAN NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2 KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE,	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR	Rural Rural Rural Rural Rural	48 48 48 48 48	OBC Open Open SC OBC	DC DC DC CFS DC	20 20 20 20 20	20 20 20 20 20 20	400 400 400 400	12 12 0	30 30 30 0 30	LOTS DRAW OF LOTS	4 5 5 0 4	3 4 4 2 3
197 198 199 200 201 202 203	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SIS VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE (BANAGANAPALLE TO TRUN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LET HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7. KM	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL KURNOOL	Rural Rural Rural Rural Rural Rural Rural	48 48 48 48 48 48	OBC Open Open SC OBC Open Open	DC DC CFS DC DC DC	20 20 20 20 20 20 20 20	20 20 20 20 20 20 20 20	400 400 400 400 400 400	12 12 0 12 12	30 30 30 0 30 30 30	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 5	3 4 4 2 3 4
197 198 199 200 201 202	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RTC ROADIKOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE (BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL	Rural Rural Rural Rural Rural Rural	48 48 48 48 48	OBC Open Open SC OBC Open	DC DC CFS DC DC	20 20 20 20 20 20	20 20 20 20 20 20 20	400 400 400 400 400	12 12 0 12	30 30 30 0 30 30	LOTS DRAW OF LOTS	4 5 5 0 4	3 4 4 2 3 4
197 198 199 200 201 202 203	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIG DE KODIKUNTLA POLICE STATION ON RTC ROAD[KOILKUNTLA TOWN LIMITS] R.KRISHNAPURANN NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO TON SH/NH/I, MUDIGUBBA	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL KURNOOL	Rural Rural Rural Rural Rural Rural Rural	48 48 48 48 48 48	OBC Open Open SC OBC Open Open	DC DC CFS DC DC DC	20 20 20 20 20 20 20 20	20 20 20 20 20 20 20 20	400 400 400 400 400 400	12 12 0 12 12	30 30 30 0 30 30 30	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 5	3 4 4 2 3 4
197 198 199 200 201 202 203 204	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON ETHER BIG DE KOLIKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBABUR ROAD (WITHIN 2KM FROM BY PASSIJUNCTION TOWARDS KAMBABUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE (BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO TON SK/NHI, MUDIGUBBA	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL KURNOOL ANANTAPUR	Rural Rural Rural Rural Rural Rural Rural Rural	48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC SC OPEN Open	DC DC DC CFS DC DC CFS CFS CFS	20 20 20 20 20 20 20 20 20 20 20	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400	12 0 12 12 12 12	30 30 30 0 30 30 30	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 0 0	3 4 4 2 3 4 4
197 198 199 200 201 202 203 204 205	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER BIG DE KODIKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BBAHMENDRA SWAMY TEMPLE, BANAGANAPALLE (BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYTA MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM RAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL KURNOOL ANANTAPUR ANANTAPUR	Rural	48 48 48 48 48 48 48 48	OBC Open Open SC Open Open SC Open Open Open Open SC Open	DC DC DC CFS DC DC CFS DC DC DC	20 20 20 20 20 20 20 20 20 20 20 20	20 20 20 20 20 20 20 20 20 20 20	400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 0	30 30 30 0 30 30 30 30 0	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 0 4 4	3 4 4 2 3 4 4 2
197 198 199 200 201 202 203 204 205	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KANBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TON SIVEERA BRAHMENDRA SWAMM TEMPLE, BANAGANAPALLE RONA GANAPALLE TON LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMADA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMA ROAD WITHIN 7 KM FROM MALKAVEMULA CROSS TO THALLAMA ROAD WI	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR KURNOOL	Rural	48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC Open Open Open Open Open	DC DC DC CFS DC DC CFS DC DC DC	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20	400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 0 30 30 30 0 30 30	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 0 4 5 5 5 0 6 4 5 5 5 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6	3 4 4 2 3 3 4 4 4 4
197 198 199 200 201 202 203 204 205 206	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIG DE KODIKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURANN NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM RAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TOWN LIMITS OWK VILLAGE (NOT ON SH/NH), OWK MANDAL	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR KURNOOL ANANTAPUR KURNOOL KURNOOL	Rural	48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC Open Open Open Open SC OBC Open Open Open Open Open Open Open Open	DC DC DC CFS DC DC DC DC DC DC DC DC	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 0 30 30 30 0 30 30 30 30 30	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	3 4 4 2 3 3 4 4 4 4
197 198 199 200 201 202 203 204 205 206 207 208 209	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KANBADUR ROAD (WITHIN 2 KM FROM BY PAS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TOW LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAYEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAYEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAYEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAYEMULA CROSS TO SHALLAMADA ROAD (WITHIN 7 KM FROM MALKAYEMULA CROSS TO THE STATEM	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR KURNOOL ANANTAPUR KURNOOL KURNOOL CHITTOOR ANANTAPUR	Rural	48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC Open Open SC OBC Open SC OBC Open SC Open Open SC Open Open SC Open Open SC Open	DC DC CFS DC DC CFS DC DC CFS DC CFS DC CFS DC CFS	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 10	30 30 30 0 30 30 30 0 30 30 30 30 30	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 4 0 0	3 4 4 2 3 4 4 2 3 4 4 2 3 4 4 2 2 3 4 4 2 2
197 198 199 200 201 202 203 204 205 206 207 208 209	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RITC ROADIKOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KANBADUR ROAD (WITHIN 2KM FROM BY PAS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMAY TEMPLE, BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM AMMODAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TOWN LIMITS OWK VILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THOTTAMBEDU ON SRIKALAHASTI PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS)	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR KURNOOL ANANTAPUR KURNOOL ANANTAPUR KURNOOL CHITTOOR ANANTAPUR CHITTOOR	Rural	48 48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC Open Open SC OBC Open SC Open Open SC Open Open Open Open Open SC Open Open Open Open Open Open ST Open	DC DC DC CFS DC DC DC DC CFS DC DC CFS DC DC DC DC DC DC DC	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 4 0 5 5 5 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6	3 4 4 2 3 4 4 2 3 4 4 2 4 2 4 4 4 4 4 4
197 198 199 200 201 202 203 204 205 206 207 208 209 210	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON ETHER BIG DE KODIKUNITLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBABUR ROAD (WITHIN 2KM FROM BY PASSIJUNCTION TOWARDS KAMBABUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMM TEMPLE, BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM ANDAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TOWN LIMITS OWK VILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THOTTAMBEDU ON SRIKALAHASTI PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOOR - KANIPAKKAM ROAD (outside municipal limits)	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR KURNOOL CHITTOOR ANANTAPUR ANANTAPUR CHITTOOR	Rural	48 48 48 48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC Open Open SC Open Open SC Open Open Open Open Open Open Open Open	DC DC DC CFS DC DC DC DC CFS DC	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 5 4 0 0 5 5 5 5 5 5 5 5 5	3 4 4 2 3 4 4 2 3 4 4 2 4 4 4 4 4 4 4 4
197 198 199 200 201 202 203 204 205 206 207 208 209	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RITC ROADIKOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KANBADUR ROAD (WITHIN 2KM FROM BY PAS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMAY TEMPLE, BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM AMMODAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TOWN LIMITS OWK VILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THOTTAMBEDU ON SRIKALAHASTI PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS)	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR KURNOOL ANANTAPUR KURNOOL ANANTAPUR KURNOOL CHITTOOR ANANTAPUR CHITTOOR	Rural	48 48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC Open Open SC OBC Open SC Open Open SC Open Open Open Open Open SC Open Open Open Open Open Open ST Open	DC DC DC CFS DC DC DC DC CFS DC DC CFS DC DC DC DC DC DC DC	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 4 0 5 5 5 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6	3 4 4 2 3 4 4 2 3 4 4 2 4 2 4 4 4 4 4 4
197 198 199 200 201 202 203 204 205 206 207 208 209 210	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON ETHER BIG DE KODIKUNITLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBABUR ROAD (WITHIN 2KM FROM BY PASSIJUNCTION TOWARDS KAMBABUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMM TEMPLE, BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM ANDAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TOWN LIMITS OWK VILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THOTTAMBEDU ON SRIKALAHASTI PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOOR - KANIPAKKAM ROAD (outside municipal limits)	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR KURNOOL CHITTOOR ANANTAPUR ANANTAPUR CHITTOOR	Rural	48 48 48 48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC Open Open SC Open Open SC Open Open Open Open Open Open Open Open	DC DC DC CFS DC DC DC DC CFS DC	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 5 4 0 0 5 5 5 5 5 5 5 5 5	3 4 4 2 3 4 4 2 3 4 4 2 4 4 4 4 4 4 4 4
197 198 199 200 201 202 203 204 205 206 207 208 209 210 211	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIG DE KOJUKUNTLA POLICE STATION ON RTC ROAD(KOLKUNTLA TOWN LIMITS) R.KRISHNAPURANN NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA TO TON SH/NH), MUDIGUBBA MANDAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TOWN LIMITS OWK VILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THOTTAMBEDU ON SAKIKALAHAST PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOOR - KANIPAKKAM ROAD (Outside municipal limits) THUMALA GUNTA MAIN ROAD TO CHERLOPALI NOT ON NH	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR CHITTOOR CHITTOOR CHITTOOR	Rural	48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC OBC Open Open SC OBC Open Open Open Open Open Open Open Open	DC DC DC CFS DC DC DC CFS DC	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 5 4 0 0 5 5 5 4 4	3 4 4 2 3 3 4 4 3 3 2 4 4 3 3
197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIG OF KOIKUNTLA POLICE STATION ON RTC ROAD[KOILKUNTLA TOWN LIMITS] R.KRISHNAPURANN NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE (BANAGANAPALLE TO WILLIAMTS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA TO TO SHIVINITS) OWK VILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THOTTAMBEDU ON SRIKALAHAST PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOOR - KANIPAKKAM ROAD (OUTSIde municipal limits) THUMALA GUNTA MAIN ROAD TO CHERLOPALI NOT ON NH MALYAM VILLAGE (NOT ON NH/SH), KANEKAL MANDAL	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR CHITTOOR CHITTOOR ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR	Rural	48 48 48 48 48 48 48 48 48 48	OBC Open Open SC Open Open Open SC Open Open Open SC ST Open Open Open Open SC SC SC	DC DC CFS DC DC CFS DC DC CFS DC DC CFS DC DC DC CFS DC DC CFS DC CFS	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 0 12 12 0 12 12 10 10 10 11 11 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 4 0 0 5 5 4 0 0	3 4 4 2 3 3 4 4 3 3 2 2 4 4 3 3 2 2
197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIGO F KOIKKUNTLA POLICE STATION ON RTC ROAD(KOIKKUNTLA TOWN LIMITS) R.KRISHNAPURANN NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE (BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM WILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THOTTAMBEDU ON SRIKALAHASTI PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOOR - KANIPAKKAM ROAD (Outside municipal limits) THUMALA GUNTA MAIN ROAD TO CHERLOPALI NOT ON NH MALYAM VILLAGE (NOT ON NH/SH), KANEKAL MANDAL YS GATE (NOT ON NH/SH), KANEKAL MANDAL	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR CHITTOOR CHITTOOR	Rural	48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC OBC Open Open SC OBC Open Open SC OBC Open Open Open Open Open OBC SC Open Open Open Open Open Open Open Open	DC D	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 4 0 0 5 5 5 4	3 4 4 2 3 3 4 4 4 3 3 2 4 4 4 3 3 2 4 4
197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIGE OF KOILKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURANN NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMM TEMPLE, PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD WITHIN 7 KM RROM MAIKAVEMULA CROSS-NOT ON SH/NH), MUDIGUBBA MANDAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TOWN LIMITS OWK VILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUBGUNTA AND THOTTAMBEDU ON SMIKALAMSTI PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOOR - KANIPAKKAM ROAD (outside municipal limits) THUMALA GUNTA MAIN ROAD TO CHERLOPALI NOT NH MALYAM VILLAGE (NOT ON NH/SH), KANEKAL MANDAL YS GATE (NOT ON NH/SH), KANEKAL MANDAL YS GATE (NOT ON NH/SH), IRALA MANDAL THAVANAMPALLI VILLAGE, ATMAKUR MANDAL GORIDINDLA VILLAGE, ATMAKUR MANDAL	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR CHITTOOR CHITTOOR ANANTAPUR CHITTOOR CHITTOOR ANANTAPUR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR	Rural	48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC OBC Open Open SC OBC Open Open COBC Open Open OBC SC Open Open OBC SC Open	DC D	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF	4 5 5 0 4 5 5 4 0 0 5 5 5 4 4	3 4 4 2 3 4 4 2 3 4 4 3 2 4 4 3 2 4 4 3 2 4 4 3 3
197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOUKUINTLA POLICE STATION ON RTC ROADIKOIKUNTLA POLICE STATION ON RTC ROADIKOIKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALKANDURG TO KANBABDUR ROAD (WITHIN 2KM FROM BY PASSIJUNCION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO'SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE (BANAGANAPALLE TO'SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALE (BO'N ALLE THANA SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM ANDAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TO'N SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THO'TTAMBEDU ON SRIKALAHASTI PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOOR - KANIPAKKAM ROAD (outside municipal limits) THUMALA GUNTA MAIN ROAD TO CHERLOPALI NOT ON NH MALYAM VILLAGE (NOT ON NH/SH), KANEKAL MANDAL THAVANAMPALLI VILLAGE ON CHITTOR ARAGONDA ROAD GORIDINDA VILLAGE, ATMAKUR MANDAL TOPUDURTHI VILLAGE (NOT ON NH-SH), ATMAKUR MANDAL	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR KURNOOL CHITTOOR CHITTOOR CHITTOOR ANANTAPUR CHITTOOR CHITTOOR CHITTOOR CHITTOOR CHITTOOR CHITTOOR ANANTAPUR CHITTOOR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR ANANTAPUR ANANTAPUR	Rural	48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC OBC Open Open SC OBC Open Open SC Open Open Open Open Open Open Open Open	DC DC DC CFS DC DC DC DC CFS DC	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	DRAW OF LOTS	4 5 5 0 4 5 5 4 0 0 5 5 4 5 5 4 5 5 6 6 6 6 6 6 6 6 6 6 6 6	3 4 4 2 3 4 4 2 3 4 4 2 4 3 2 4 4 3 2 4 4 3 4 3
197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON ETHER SIGO E KOUKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMM TEMPLE, BANAGANAPALLE (BANAGANAPALLE TOWN LIMITS) PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM ANDAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TOWN LIMITS OWK VILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THOTTAMBEDU ON SRIKALAHASTI PICHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOR - KANIPAKKAM ROAD (outside municipal limits) THUMALA GUNTA MAIN ROAD TO CHERLOPALI NOT ON NH MALYAM VILLAGE (NOT ON NH-SH), KANEKAL MANDAL YS GATE (NOT ON NH-SH), IRALA MANDAL THAVANAMPALLI VILLAGE, ATMAKUR MANDAL TOPUDURTHI VILLAGE(NOT ON NH-SH), ATMAKUR MANDAL YADIKI (NOT ON NH-SH), ATMAKUR MANDAL	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR CHITTOOR CHITTOOR ANANTAPUR CHITTOOR CHITTOOR ANANTAPUR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR	Rural	48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC OBC Open Open SC OBC Open Open COBC Open Open OBC SC Open Open OBC SC Open	DC D	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 4 0 0 5 5 5 4 4	3 4 4 2 3 4 4 2 3 4 4 3 2 4 4 3 2 4 4 3 2 4 4 3 3
197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOUKUINTLA POLICE STATION ON RTC ROADIKOIKUNTLA POLICE STATION ON RTC ROADIKOIKUNTLA TOWN LIMITS) R.KRISHNAPURAM NOT ON SH/ NH, ALLAGADDA MANDAL KALKANDURG TO KANBABDUR ROAD (WITHIN 2KM FROM BY PASSIJUNCION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO'SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALLE (BANAGANAPALLE TO'SRI VEERA BRAHMENDRA SWAMY TEMPLE, BANAGANAPALE (BO'N ALLE THANA SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM ANDAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TO'N SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THO'TTAMBEDU ON SRIKALAHASTI PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOOR - KANIPAKKAM ROAD (outside municipal limits) THUMALA GUNTA MAIN ROAD TO CHERLOPALI NOT ON NH MALYAM VILLAGE (NOT ON NH/SH), KANEKAL MANDAL THAVANAMPALLI VILLAGE ON CHITTOR ARAGONDA ROAD GORIDINDA VILLAGE, ATMAKUR MANDAL TOPUDURTHI VILLAGE (NOT ON NH-SH), ATMAKUR MANDAL	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR KURNOOL CHITTOOR CHITTOOR CHITTOOR ANANTAPUR CHITTOOR CHITTOOR CHITTOOR CHITTOOR CHITTOOR CHITTOOR ANANTAPUR CHITTOOR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR CHITTOOR ANANTAPUR ANANTAPUR ANANTAPUR	Rural	48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC OBC Open Open SC OBC Open Open SC Open Open Open Open Open Open Open Open	DC DC DC CFS DC DC DC DC CFS DC	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	LOTS DRAW OF LOTS	4 5 5 0 4 5 5 4 0 0 5 5 4 5 5 4 5 5 6 6 6 6 6 6 6 6 6 6 6 6	3 4 4 2 3 4 4 2 3 4 4 2 4 3 2 4 4 3 2 4 4 3 4 3
197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215 216 217 218	SOMALADODDI JUNCTION, NOT ON NH PEDDA KADUBUR VILLAGE NOT ON NH/SH, PEDDA KADUBUR MANDAL 1 KM STRETCH ON EITHER SIDE OF KOILKUNTLA POLICE STATION ON RTC ROAD(KOILKUNTLA TOWN LIMITS) R.KRISHNAPURANN NOT ON SH/ NH, ALLAGADDA MANDAL KALYANDURG TO KAMBADUR ROAD (WITHIN 2KM FROM BY PASS JUNCTION TOWARDS KAMBADUR) SANGAM HOTEL, BANAGANAPALLE TO SRI VEERA BRAHMENDRA SWAMY TEMPLE, PATTIKONDA PANCHAYAT MARKET YARD TO TUGGALI ROAD LEFT HAND SIDE MALKAVEMULA CROSS TO NALLAMADA ROAD (WITHIN 7 KM FROM MALKAVEMULA CROSS NOT ON SH/NH), MUDIGUBBA MANDAL KAMMUR PANCHAYAT BETWEEN ANANTAPUR KUDERU NANDIKOTKUR TOWN LIMITS OWK VILLAGE (NOT ON SH/NH), OWK MANDAL BETWEEN THIMMANAIDUGUNTA AND THOTTAMBEDU ON SRIKALAHASTI PITCHATUR ROAD MULAKALEDU VILLAGE, SETTUR MANDAL KUPPAM (WITHIN TOWN LIMITS) CHITTOOR - KANIPAKKAM ROAD (OUTSIDE MURICIPAL INTO N NH MALYAM VILLAGE (NOT ON NH/SH), KANEKAL MANDAL YS GATE (NOT ON NH/SH), KALAKAL MANDAL THAVANAMPALLI VILLAGE, ON CHITTOR ARAGONDA ROAD GORIDINDIA VILLAGE, ATMAKUR MANDAL THAVANAMPALLI VILLAGE, ATMAKUR MANDAL TOPUDURTHI VILLAGE, ON CHITTOR ARAGONDA ROAD GORIDINDIA VILLAGE, ATMAKUR MANDAL TOPUDURTHI VILLAGE, ON CHITTOR ARAGONDA ROAD GORIDINDIA VILLAGE, ATMAKUR MANDAL YADIKI (NOT ON NH-SH), ATMAKUR MANDAL VADIKI (NOT ON NH-SH), ATMAKUR MANDAL TOPUDURTHI VILLAGE, ON CHITTOR ARAGONDA ROAD GORIDINDIA VILLAGE, ATMAKUR MANDAL YADIKI (NOT ON NH-SH), ATMAKUR MANDAL VADIKI (NOT ON NH-SH), ATMAKUR MANDAL VADIKI (NOT ON NH-SH), ATMAKUR MANDAL	ANANTAPUR KURNOOL KURNOOL KURNOOL ANANTAPUR KURNOOL ANANTAPUR ANANTAPUR ANANTAPUR CHITTOOR ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR ANANTAPUR	Rural	48 48 48 48 48 48 48 48 48 48	OBC Open Open SC OBC Open Open SC OBC Open Open SC Open Open SC Open Open Open Open Open Open Open Open	DC D	20 20 20 20 20 20 20 20 20 20 20 20 20 2	20 20 20 20 20 20 20 20 20 20 20 20 20 2	400 400 400 400 400 400 400 400 400 400	12 12 0 12 12 12 12 12 12 12 12 12 12 12 12 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	DRAW OF LOTS	4 5 5 0 4 5 5 5 4 0 0 5 5 5 4 5 5 0 0 5 5 5 0 0 5 5 5 0 0 5 5 5 0 0 5 5 5 5 0	3 4 4 2 3 4 4 2 3 4 4 3 2 4 4 3 2 4 4 3 2 4 4 2 2

				ı				ı						
221	PULLURU NOT ON SH/ NH, KHAJIPET MANDAL	KADAPA	Rural	48	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
222	VANGANUR VILLAGE (NOT ON NH/ SH), TADIPATRI MANDAL	ANANTAPUR	Rural	48	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	2
223	YATAKAL VILLAGE (NOT ON NH/SH), SETTUR MANDAL	ANANTAPUR	Rural	48	OBC	DC	20	20	400	12	30	DRAW OF LOTS	4	3
224	KALAKADA TO AGRAHARAM ROAD	CHITTOOR	Rural	48	OPEN	DC	20	20	400	12	30	DRAW OF LOTS	5	4
225	VIRUPAKSHIPURAM (NOT ON NH/SH), VIRUPAKSHIPURAM	CHITTOOR	Rural	48	OPEN	DC	20	20	400	12	30	DRAW OF	5	4
	MANDAL SANJEEVA REDDY PALLI VILLAGE, NOT ON NH /SH, DUVVUR				-							LOTS DRAW OF		
226	MANDAL	KADAPA	Rural	48	OBC	DC	20	20	400	12	30	LOTS DRAW OF	4	3
227	ULINDAKONDA VILLAGE (NOT ON NH), KALLUR MANDAL	KURNOOL	Rural	48	ST	CFS	20	20	400	0	0	LOTS	0	2
228	GANDLAPENTA NOT ON NH AND SH, GANDLAPENTA MANDAL	ANANTAPUR	Rural	48	OPEN	DC	20	20	400	12	30	DRAW OF LOTS	5	4
229	HINDUPUR- MELAPUR CIRCLE TO SOMANDAPALLY ROAD- WITHIN 1 KM FROM MELAPUR CIRCLE	ANANTAPUR	Regular	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
230	NANDYAL TOWN MUNICIPALITY LIMITS	KURNOOL	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
231	NH 44,BETWEEN GOOTY TOLL GATE TO MIDTHUR , LHS	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF	0	3
232	DHARAMAVARAM TO NS GATE ROAD - PYADINDI VILLAGE	ANANTAPUR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF	15	5
	DHARMAVARAM TO PUTTAPARTHI ROAD - LHS - WITHIN 1											LOTS DRAW OF		
233	KM FROM YSR STATUE KURNOOL ON NANDYAL NEW BYPASS ROAD UP TO TOLL	ANANTAPUR	Regular	100	OPEN	DC	30	30	900	25	60	LOTS DRAW OF	15	5
234	PLAZA NANNURU ON NH	KURNOOL	Regular	150	OBC	DC	45	45	2025	25	75	LOTS	15	4
235	CHERLOPALLI TO THONDAWADA ON NH	CHITTOOR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
236	ANANTAPUR COLLECTOR OFFICE TO JNTU ROAD- LHS- WITHIN MUNICIPAL LIMITS	ANANTAPUR	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
237	ANANTAPUR TOWN- WITHIN MUNICIPAL LIMITS	ANANTAPUR	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
	ATMAKUR BUS STAND TO NANDYAL CHOWRASTA,ATMAKUR											DRAW OF		
238	ON SH(ATMKAUR TOWN LIMITS)	KURNOOL	Regular	100	OBC	DC	30	30	900	25	60	LOTS	15	4
239	HINDUPUR- WITHIN MUNICIPAL LIMITS	ANANTAPUR	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
240	WITHIN 3 KMS FROM KALLUR JUNCTION ON NH	CHITTOOR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
241	DHARMAVARAM BUS STAND TO YSR STATUE JUNCTION - RHS	ANANTAPUR	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF	15	4
242	CHERLOPALLI TO RAMI REDDI PALLI ON NH (LHS)	CHITTOOR	Regular	150	Open CC 1	CC	45	45	2025	25	10	LOTS BIDDING	30	5
243	DHARMAVARAM - WITHIN MUNICIPAL LIMITS	ANANTAPUR	Regular	100	OPEN	CC	20	20	400	25	10	BIDDING DRAW OF	30	5
244	PALASAMUDRAM TO HINDUPUR ROAD - ON EITHER SIDE	ANANTAPUR	Regular	100	SC	CFS	30	30	900	0	0	LOTS	0	3
245	GUNTAKAL WITHIN TOWN LIMITS (NOT ON NH)	ANANTAPUR	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
246	NH 42- ANANTAPUR TO KUDERU- LHS- KM 61 TO KM 63 STONE	ANANTAPUR	Regular	150	OPEN	cc	45	45	2025	25	10	BIDDING	30	5
247	KADIRI - RAYACHOTY ROAD (WITHIN 4 KMS ON SH FROM KADIRI)	ANANTAPUR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
248	GOOTY TO GUNTAKAL ON RIGHT HAND SIDE	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF	0	3
249	KESAPURAM (BETWEEN GURRAMKONDA AND RAYACHOTY,	CHITTOOR	Regular	150	OBC	DC	45	45	2025	25	75	LOTS DRAW OF	15	4
	ON NH 340) BETWEEN MOLAKAVEMULA VILLAGE AND PATNAM VILLAGE											LOTS		
250	ON NH 205 ON LHS TOWARDS KADIRI BETWEEN BATHALAPALLI AND ANANTHAPUR (ON NH	ANANTAPUR	Regular	150	OPEN	cc	45	45	2025	25	10	BIDDING DRAW OF	30	5
251	BETWEEN 7TH AND 15TH KM FROM BATHALAPALLI)	ANANTAPUR	Regular	150	Open CC 2	DC	45	45	2025	25	75	LOTS	15	5
252	NH BETWEEN LOLUR TO MUNTIMADUGU CROSS	ANANTAPUR	Regular	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
253	KALAKADA GURRAMKONDA ROAD(WITHIN 4 KMS FROM KALAKADA BUS STAND), KALAKADA MANDAL	CHITTOOR	Regular	100	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
254	KADIRI WITHIN MUNICIPAL LIMITS	ANANTAPUR	Regular	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
255	KARNATAKANAGEPALLI CIRCLE TO NALLAMADA- RHS,	ANANTAPUR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF	15	5
256	WITHIN 2 KM FROM KARNATAKANEGEPALLI CIRCLE FROM THANAPALLI CROSS TO CHANDRAGIRI CROSS ROAD	CHITTOOR	Regular	150	OBC	DC	45	45	2025	25	75	LOTS DRAW OF	15	4
	ON NH KUPPAM-PALAMANER ROAD ON NH (WITHIN 3 KMS FROM											LOTS DRAW OF		-
257	BAIREDDYPALLI)	CHITTOOR	Regular	150	ST	CFS	45	45	2025	0	0	LOTS	0	3
258	NANDYAL TO SAMBAVARAM BYPASS JUNCTION ON NH(LHS FROM NANDYAL TO GOVINDAPALLE(V),SIRIVEL(M))	KURNOOL	Regular	150	OPEN	сс	45	45	2025	25	10	BIDDING	30	5
259	KODUMUR VILLAGE ON SH (UPTO 1.5 KM STRETCH ON EITHER SIDE OF SH FROM KODUMUR OLD BUS STAND)	KURNOOL	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
260	PANJANI (ON NH)	CHITTOOR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF	15	4
261	GOOTY WITHIN TOWN LIMITS (NOT ON NH)	ANANTAPUR	Regular	100	OPEN	DC	25	25	625	25	45	LOTS DRAW OF	15	5
												LOTS DRAW OF		
262	GOOTY TO GUNTAKAL ON LEFT HAND SIDE	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	LOTS DRAW OF	0	3
263	PALAMANER (WITHIN MUNICIPALITY LIMITS)	CHITTOOR	Regular	100	OPEN	DC	25	25	625	25	45	LOTS	15	5
264	ON NH44, ANANTAPUR TO GOOTY , ON RHS	ANANTAPUR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
265	ON HINDUPUR - BANGALORE ROAD. FROM SADLAPALLI VILLAGE TO THUMMUKUNTA CHECKPOST ON EITHER SIDE	ANANTAPUR	Regular	100	Open CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	5
266	CHAMALUR PANCHAYAT NARPALA TO TADIPATRI ROAD LEFT HAND SIDE	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
267	JALADURTHI TO DHONE, NH44 ON LHS TOWARDS DHONE	ANANTAPUR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
268	SOMULADODDI HANUMAN TEMPLE JUNCTION TO	ANANTAPUR	Regular	150	OPEN	cc	45	45	2025	25	10	BIDDING	30	5
269	WADIAMPET ON NH 44 ON RHS NH44 BETWEEN GUTTUR TO PALASAMUDRAM CROSS,	ANANTAPUR		150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
	EITHER SIDE		Regular									DRAW OF		
270	PUNGANUR (WITHIN MUNICIPALITY LIMITS)	CHITTOOR	Regular	100	OBC	DC	25	25	625	25	45	LOTS	15	4
271	TIRUPATI TOWN CLUB TO GARUDA CIRCLE	CHITTOOR	Regular	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
272	PILERU TO ROMPICHERLA ROAD (WITHIN 6 KMS FROM PILERU)	CHITTOOR	Regular	150	OPEN	сс	45	45	2025	25	10	BIDDING	30	5
273	CHOWDEPALLI	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
					OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
274	ON NH RAMDASPETA TOWARDS ANANTAPUR KALLUR	ANANTAPUR	Regular	150										1
274	PANCHAYAT KHAJIPETA TOWARDS MYDUKUR UPTO 9 KM ON NH 40						45	45	2025	0	n	DRAW OF	0	2
274 275	PANCHAYAT KHAJIPETA TOWARDS MYDUKUR UPTO 9 KM ON NH 40 FROM STONE 175 TO 166 ON NH 40 LHS)	KADAPA	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
274	PANCHAYAT KHAJIPETA TOWARDS MYDUKUR UPTO 9 KM ON NH 40 FROM STONE 175 TO 166 ON NH 40 LHS) BETWEEN RAMANUJA CIRCLE TO RENIGUNTA CHECK POST						45 45	45 45	2025 2025	0 25	0	DRAW OF LOTS BIDDING	0 30	3 5
274 275	PANCHAYAT KHAJIPETA TOWARDS MYDUKUR UPTO 9 KM ON NH 40 FROM STONE 175 TO 166 ON NH 40 LHS)	KADAPA	Regular	150	SC	CFS						DRAW OF LOTS		

278	FROM ELAMANDYAM TO GAJULAMANDYAM ON NH ON			450					2025			DRAW OF		
	EITHER SIDE	CHITTOOR	Regular	150	OBC PH	DC	45	45	2025	RS 25,00,000	75	LOTS DRAW OF	15	4
279	CHITTOOR (WITHIN MUNICIPALITY LIMITS) BETWEEN NENDRAGUNDA AND THENEPALLE ON LHS	CHITTOOR	Regular	100	SC PH	CFS	25	25	625	0	0	LOTS	0	3
280	TOWARDS TIRUPATI	CHITTOOR	Regular	150	OPEN	cc	45	45	2025	25	10	BIDDING	30	5
281	KANIPAKKAM	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
282	BETWEEN CHINNA GOTTIKALLU AND ROMPICHERLA ON NH	CHITTOOR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
283	MADANAPALLI (WITHIN MUNICIPALITY LIMITY)	CHITTOOR	Regular	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
284	KURUGUNTA ON HIGHWAY (ANANTHAPUR-KALYANDURG ROAD)	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
285	ON PUNGANUR BY-PASS CHINNATEKUR VILLAGE TO CHETLAMALLAPURAM ON NH 44	CHITTOOR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING DRAW OF	30	5
286	ON LHS	KURNOOL	Regular	100	OBC	DC	30	30	900	25	60	LOTS	15	4
287	ON LHS FROM GANDLAKOTHUR - BANGARUPALAYAM ON NH	CHITTOOR	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
288	NH44 BETWEEN GUTTUR TO PALASAMUDRAM CROSS, LHS	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
289	KADIRI - ANANTHAPUR ROAD (WITH 5 KMS FROM KADIRI BUS STAND ON NH)	ANANTAPUR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
290	WITHIN 2 KM FROM RALLANATHAPURAM ON NH PULIVENDULA - KADIRI ROAD (WITHIN 3 KMS FROM KURLI	ANANTAPUR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING DRAW OF	30	5
291	ON SH)	ANANTAPUR	Regular	100	Open CC 1	DC	30	30	900	25	60	LOTS DRAW OF	15	5
292	ON SH, MACHAPURAM TO KARIVEMULA	KURNOOL	Regular	100	OBC	DC	30	30	900	25	60	LOTS	15	4
293	NH 42- URAVAKONDA TO BELLARY STRETCH ON LHS	ANANTAPUR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
294	WITHIN 3 KMS FROM AUTONAGAR, MADANAPALLI ON NH	CHITTOOR	Regular	150	OPEN	cc	45	45	2025	25	10	BIDDING	30	5
295	MORAM VILLAGE (ON NH)	CHITTOOR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING DRAW OF	30	5
296	KALIKIRI (WITHIN 3 KMS FROM JNTU COLLAGE ON NH)	CHITTOOR	Regular	150	OBC	DC	45	45	2025	25	75	LOTS DRAW OF	15	4
297	VEMULAPADU ON NH 67 ON PALAMANER BY-PASS	ANANTAPUR CHITTOOR	Regular Regular	150 150	SC OPEN	CFS	45 45	45 45	2025 2025	0 25	10	LOTS	30	5
298	ON PALAMANER BY-PASS KANDURU NOT ON SH/NH, KANDURU MANDAL	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF	15	5
300	YERPEDU - VAMPALLI ON NH	CHITTOOR	Regular	150	OPEN	CC	45	45	2025	25	10	LOTS BIDDING	30	5
301	BETWEEN GYARAMPALLI TO MAHAL JUNCTION (ON NH 40)	CHITTOOR	Regular	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
302	NARAYANAVANAM TO KEELAGARAM ON SH	CHITTOOR	Regular	100	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
303	YELLAMANDA(BETWEEN SUNDUPALLI AND PILERU ROAD), YERRAYARIPALAYAM MANDAL	CHITTOOR	Regular	100	Open PH	DC	30	30	900	25	60	DRAW OF LOTS	15	5
304	PALAMNER-MADANAPALLI ROAD (WITHIN 2 Km from Palamner)	CHITTOOR	Regular	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
305	BETWEEN ANNAMAYYA CIRCLE AND AVILALA CIRCLE (LHS)	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	45	DRAW OF	15	5
306	ON NH42, BETWEEN URAVAKONDA TO KUDERU	ANANTAPUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF	0	3
307	BETWEEN UPPARAPALLI ROAD TO MAHILA UNIVERSITY ROAD	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	45	LOTS DRAW OF	15	5
												LOTS DRAW OF		
308 309	PATURU (ON NH 40) ON BANGARUPALAYAM BY-PASS	CHITTOOR	Regular Regular	150 150	OBC	CC	45 45	45 45	2025 2025	25 25	75 10	LOTS BIDDING	15 30	5
310	WITH IN SRIKALAHSTI TOWN NOT ON NH/SH	CHITTOOR	Regular	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
311	TADIPATRI - BUGGA ROAD (WITHIN 3 KMS FROM BY PASS	ANANTAPUR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF	0	3
312	INTERSECTION TOWARDS BUGGA) ON NH 544D RR HOSPITAL,NANDYAL TO NANDYAL RTC BUS	KURNOOL	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF	15	4
313	STAND(NANDYAL TOWN LIMITS) NAGARI TO NINDRA ROAD WITHIN MUNICIPALITY LIMITS	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	45	LOTS DRAW OF	15	5
314	NOT ON NH/SH PILERU TO CHITTOOR ROAD(UPTO 6KMS FROM PILERU), ON	CHITTOOR	Regular	150	Open CC 1	DC	45	45	2025	25	75	LOTS DRAW OF	15	5
314	RHS ON TADIPATRI - PUTLURU ROAD, FROM PUTLUR ROAD	CHITTOOK	Regulai	130	Open cc 1	ьс	43	45	2023	23	73	LOTS	13	3
315	JUNCTION TO RAVINDRA BHARATHI SCHOOL, WITHIN TADIPATRI MUNICIPAL LIMITS	ANANTAPUR	Regular	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS DRAW OF	0	3
316	KOTHACHERUVU TO PENUKONDA ROAD - ON EITHER SIDE	ANANTAPUR	Regular	100	OBC	DC	30	30	900	25	60	LOTS DRAW OF	15	4
317	GUDUPALLI (NEAR KUPPAM)	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	60	LOTS	15	5
318	MR PALLI POLICE STATION TO VAIKUNTAPURAM ROAD	CHITTOOR	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
319	PUTTAPARTHI TO GORANTLA ROAD. LHS - WITHIN 12 KKM FROM MAMILLAKUNTA	ANANTAPUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
320	KOTHAPALLIMITTA	CHITTOOR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
321	BETWEEN MGM HOSPITAL TO KATUR VILLAGE ON SRIKALAHASTI CHENNAI ROAD	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
322	DAMINEDU TO KLM HOSPITAL CIRCLE ON TIRUPATI BYPASS ROAD ON NH	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
323	PENUKONDA TO KUMBHA KARNA GARDEN ROAD. ON EITHER SIDE	ANANTAPUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
324	BETWEEN RAMANUJA CIRCLE TO NANDI CIRCLE VIA LEELA MAHAL JUNCTION	CHITTOOR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
325	BHAKARAPET TO RANGAMPETA ON NH	CHITTOOR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
326	CHITTOOR - KANIPAKKAM ROAD (before By pass junction in Chittoor)	CHITTOOR	Regular	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
327	THOGARAKUNTA TO MAMILLAPALLI CROSS ON DHARMAVARAM - KALYANDURG ROAD - EITHER SIDE	ANANTAPUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
328	BETWEEN MGM HOSPITAL AND SRIKALAHSTI POLICE STATION	CHITTOOR	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
329	ON NH 71 FROM SRI KALAHASTI RAILWAY STATION TO CHITTOOR DISTRICT BORDER TOWARDS PELLAKUR	CHITTOOR	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
330	MAMILLAPALLI CROSS TO NH 7/44 JUNCTION TOWARDS HYDERABAD - EITHER SIDE	ANANTAPUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
331	CHITTOOR (WITHIN 2 KM FROM MSR JUNCTION)	CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	45	DRAW OF	15	5
332	RAJAMPETA (ON RS ROAD)	KADAPA	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF	15	5
333	ON NH 40 FROM 179 KM STONE TO 177 KM STONE, LHS	KADAPA	Regular	150	SC	CFS	45	45	2025	0	0	LOTS DRAW OF	0	3
	NEAR SERANNAKAPALLI ANANTAPUR TOWN- FROM TOWER CLOCK TO RAILWAY		-									LOTS DRAW OF		
334	STATION - ON EITHER SIDE	ANANTAPUR	Regular	100	OBC	DC	25	25	625	25	45	LOTS DRAW OF	15	4
335	CHITVEL ON SH 58 BADVEL WITHIN MUNICIPAL LIMITS (TOWARD	KADAPA	Regular	100	OPEN	DC	30	30	900	25	60	LOTS DRAW OF	15	5
336	KRISHNAPATNAM PORT ON RHS)	KADAPA	Regular	100	OPEN	DC	25	25	625	25	45	LOTS	15	5
337	FROM G. UPPALAPADU TO VADDIRALA JN ON JAMMALAMADUGU - TADIPATRI ROAD	KADAPA	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
338	ON HEMAVATHI VILLAGE TO AMARAPURAM ROAD STRETCH- EITHER SIDE	ANANTAPUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
					-									

			1	1	1	1		ı	1				1	
339	NANDALUR (ON SH 31)	KADAPA	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
340	MADANAPALLI - KADIRI ROAD (WITHIN 3 KM FROM NTR JUNCTION)	CHITTOOR	Regular	100	Open CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
341	ON SH3, ON KAMBADUR TO KALYANDURG ROAD - EITHER SIDE	ANANTAPUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
342	FROM RUDRAMPET BYPASS TOWARDS ALAMUR ROAD (RHS), WITHIN 5 KMS FROM RUDRAMPETA BYPASS	ANANTAPUR	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
343	IN KODUR TOWN LIMITS TOWARDS CHITVEL ROAD	KADAPA	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
344	PRODDATUR TOWN LIMITS, NOT ON NH	KADAPA	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF	15	5
345	FROM GUNTAKAL HANUMAN CIRLCE WITHIN 2KM TOWARDS	ANANTAPUR	Regular	100	ОВС	DC	30	30	900	25	60	DRAW OF	15	4
	ALURU KURNOOL NH CROSS TOWARDS PANDIPADU ROAD,NEAR											LOTS DRAW OF		
346	KALLUR, ON PANDIPADU ROAD (NOT ON NH)	KURNOOL	Regular	100	SC	CFS	25	25	625	0	0	LOTS DRAW OF	0	3
347	PULIVENDULA TOWN, NOT ON NH FROM YSR CIRCLE, RAYACHOTY ROAD , NH 40 TO POWER	KADAPA	Regular	100	OPEN	DC	20	20	400	25	45	LOTS DRAW OF	15	5
348	GRID SUBSTATION AT JAMALPALLE , NH 40 LHS	KADAPA	Regular	150	OPEN	DC	45	45	2025	25	75	LOTS	15	5
349	VAJRAKARUR ON SH-26	ANANTAPUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
350	GOOTY MARKET YARD TO GOOTY RAILWAY STATION	ANANTAPUR	Regular	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
351	B.KOTHAKOTA-MADANAPALLI ROAD (WITHIN 4 KMS FROM B.KOTHAKOTA), B.KOTHAKOTA MANDAL	CHITTOOR	Regular	100	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
352	BETWEEN RENIGUNTA CHECK POST TO KAPUGANNERI	CHITTOOR	Regular	150	OPEN CC 2	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
353	BETWEEN LEELA MAHAL JUNCTION TO MANGALAM BUS DEPOT	CHITTOOR	Regular	100	OBC CC 1	DC	30	30	900	25	45	DRAW OF LOTS	15	4
354	JONNAGIRI, ON GOOTY - TUGALI ROAD	ANANTAPUR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
355	NANNUR TOLL PLAZA TO ORVAKAL ON NH(LHS FROM NANNUR TOLL PLAZA TO ORVAKAL)	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
356	KALYANDURG WITHIN TOWN LIMITS (NOT ON NH)	ANANTAPUR	Regular	100	OBC	DC	25	25	625	25	45	DRAW OF	15	4
	KADAPA TOWN (FROM GANDHI STATUE JN, TRUNK ROAD											DRAW OF		
357	NEAR BOMBAY MARRIAGE HALL TO VINAKA NAGAR CIRCLE)	KADAPA	Regular	100	OPEN	DC	20	20	400	25	45	LOTS	15	5
358	KADAPA TOWN (FROM CHINNA CHOWK POLICE STATION TO SBI CHINNA CHOWK BRANCH, LHS)	KADAPA	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
359	TADIPATRI WITHIN TOWN LIMITS (NOT ON NH)	ANANTAPUR	Regular	100	ОВС	DC	25	25	625	25	45	DRAW OF LOTS	15	4
360	ON NH 44 BETWEEN BATLO KOTHAPALLE AND VADIYAMPETA TOWARDS ANANTAPUR	ANANTAPUR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
361	GOVT GENERAL HOSPITAL, TEKKE, NANDYAL TO RAJ THEATRE, NANDYAL ON ROAD SIDE (NANDYAL TOWN	KURNOOL	Pagular	100	OPEN	DC	20	20	400	25	45	DRAW OF	15	5
301	MUNICIPALITY LIMITS)	KURNOUL	Regular	100	OPEN	DC	20	20	400	25	45	LOTS	15	3
362	NANDYAL NEW BYPASS ROAD(RTO OFFICE, NANDYAL TO WERBURGH CSI HOSPITAL, NANDYAL)(NOT ON NH)	KURNOOL	Regular	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
363	PILERU TO KALIKIRI ROAD (WITHIN 6 KM FROM PILERU 4 ROADS JUNCTION)	CHITTOOR	Regular	150	ОВС	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
364	ORVAKAL TO NANNUR ON NH RIGHT HAND SIDE FROM NANNUR TOWARD NANDYAL	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
365	KOILKUNTLA NEW POLICE STATION-MRO OFFICE, KOILKUNTLA ON SH	KURNOOL	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
366	VIDYUT NAGAR CIRCLE TO JNTU ROAD- WITHIN MUNICIPAL LIMITS	ANANTAPUR	Regular	100	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
367	BETWEEN TIRUPATI LAKSHMIPURAM CIRCLE AND TIRCHANOOR GHANTASALA CIRCLE (WITHIN MUNICIPALITY	CHITTOOR	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF	15	4
307	LIMITS	CHITTOOK	Regulai	100	ОВС	ьс	30	30	900	23	43	LOTS	13	-
368	DEEBAGUNTLA TO ALLAGADDA ON NH, LHS TOWARD KADAPA	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
369	PADMAVATI NAGAR IN NANDYAL TOWN, KURNOOL (NANDYAL TOWN MUNICIPALITY LIMITS)	KURNOOL	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
370	HUSSAINAPURAM(V),BANAGANAPALLE(M) TO	KIIBNOOI	Danila	100	OPEN	200	20	20	900	25	60	DRAW OF	45	5
	BANAGANAPALLE VILLAGE ON SH	KURNOOL	Regular	100		DC	30	30		25		LOTS DRAW OF	15	
371 372	BETWEEN LAKSHMIPURAM CIRCLE TO RAMANUJA CIRCLE GIDDALUR JUNCTION.AYYALUR-SIRVEL ON NH	CHITTOOR	Regular Regular	100 150	OBC	DC CC	30 45	30 45	900	25 25	45 10	LOTS BIDDING	15 30	5
373	LHS FROM NANDIKOTKUR TO PAMULAPADU ON NEW PROPOSED NH	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
374	LAXMAN THEATRE, YEMMIGANUR-AYESHA MASJID CHOWRASTA ON BOTH SIDES ON NH(YEMMIGANUR TOWN	KURNOOL	Regular	150	OPEN	сс	45	45	2025	25	10	BIDDING	30	5
	LIMITS)													
375	WITHIN 2KM RADIUS FROM AMBEDKAR STATUE AT PUTTUR TOWN WITH IN MUNICIPALITY LIMITS NOT ON NH	CHITTOOR	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
376	AYESHA MASJID CHOWRASTA-YEMMIGANUR BUS STAND ON TANK BAND ROAD(NOT ON NH/SH)(YEMMIGANUR TOWN	KURNOOL	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
377	LIMITS) BETWEEN KARVETINAGAR AND KOLLAGUNTA ON CHITTOR- PUTTUR ROAD (WITHIN 5 KM FROM KARVETINAGAR)	CHITTOOR	Regular	100	ST PH	CFS	30	30	900	0	0	DRAW OF	0	3
378	NH 44, BETWEEN MARUR TOLL PLAZA AND	ANANTAPUR	Regular	150	OBC PH	DC	45	45	2025	RS 25,00,000	75	DRAW OF	15	4
	NAGASAMUDRAM CROSS SOMAPPA CIRCLE, YEMMIGANUR TO SOMAPPA MUNICIPAL											LOTS DRAW OF		
379	PARK,YEMMIGANUR ON PARK ROAD(YEMMIGANUR TOWN LIMITS) SYNDICATE BANK MAIN BRANCH,NANDYAL TO SRI	KURNOOL	Regular	100	OPEN	DC	20	20	400	25	45	LOTS	15	5
380	VENKATESHWARA THEATRE, NANDYAL (NANDYAL TOWN LIMITS)	KURNOOL	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
381	PUNGANUR MADANAPALLI ROAD (WITHIN 2 KMS FROM PUNGANUR BUS STAND)	CHITTOOR	Regular	100	ОВС	DC	25	25	625	25	45	DRAW OF LOTS	15	4
382	TADIPATRI - KADAPPA ROAD ON NH 67 (WITHIN 3 KM FROM	ANANTAPUR	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF	0	3
	GERDAU STEEL FACTORY) MARKET YARD, NANDIKOTKUR TO NANDIKOTKUR											DRAW OF		
383	MUNICIPAL OFFICE ON SH(NANDIKOTKUR TOWN LIMITS)	KURNOOL	Regular	100	OPEN	DC	30	30	900	25	60	LOTS	15	5
384	BELLARY CHOWRASTA, KURNOOL TO JYOTI MALL, KURNOOL (KURNOOL TOWN MUNICIPALITY LIMITS)	KURNOOL	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
385	VENKATA RAMANA COLONY MAIN ROAD(KURNOOL TOWN MUNICIPALITY LIMITS)	KURNOOL	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
386	ATMAKUR TOWN LIMITS	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
387	GAJULAPALLE VILLAGE(MAHANANDI MANDAL) ON NH	KURNOOL	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
388	DHONE FLYOVER END NEAR MARKET YARD TO NH 44 RHS WITHIN MUNICIPAL LIMITS	KURNOOL	Regular	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
389	NH44 FROM GOSAMRAKSHANASHALA POINT UPTO 2KM	KURNOOL	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
390	TOWARDS DHONE JUPADU BUNGALOW ON SH	KURNOOL	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF	15	4
530	JOF ADO BONGALOW ON 3FI	KOMNOOL	negulai	100	OBC	DC.	30	30	500	-23	UU .	LOTS	13	-

1969 1969				1		1		1	1	1		1			
Section Sect	391	VELGALAMPALLI, PEAPULY MANDAL, ON NH-44, RHS TOWARDS HYDERABAD	KURNOOL	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
140 150	392		ANANTAPUR	Regular	100	Open CC 1	DC	30	30	900	25	45		15	5
Market M	393		KURNOOL	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF	15	4
THE CENT COLORISES OF SERVICE AND ADMITTALES AND AD	394	KURNOOL TOWN (HOTEL SURAJ GRAND TO HOTEL DVR	KIIBNOOI		100	OPEN	DC	20	20	400	25	45		15	5
March Marc															
March Marc	395		ANANTAPUR	Regular	150	ST	CFS	45	45	2025	0	0	LOTS	0	3
March Marc	396		KURNOOL	Regular	100	OPEN	DC	20	20	400	25	45	LOTS	15	5
		PERUSOMULA VILLAGE, SANJAMALA(MANDAL) ON SH	KURNOOL	Regular	100	OBC	DC	30	30	900	25	60		15	4
Control Cont															
STATES S													DRAW OF		
Section Processor Control	401	SATYAVEDILON SH	CHITTOOR	Regular	100	OBC CC 1	DC	30	30	900	25	60	DRAW OF	15	4
MINISTRATE PROPRIESSON PROPERTY AND PROPER	402		CHITTOOK	Kegular	100	OPEN	DC	30	30	900	25	45	LOTS	15	5
March Marc	403		CHITTOOR	Regular	100	Open PH	DC	30	30	900	25	60		15	5
March Marc	404		CHITTOOR	Regular	100	SC	CES	30	30	900	0	0		0	3
This Print															
STATE STAT				Kegular									LOTS		
STATE STAT	406		CHITTOOR	Regular	100	OPEN	DC	30	30	900	25	45		15	5
The Image of Conference of C	407	STATION, KURNOOL ON KURNOOL-ULCHALA ROAD ON SH(KURNOOL TOWN MUNICIPALITY LIMITS)	KURNOOL	Regular	100	OBC	DC	30	30	900	25	60	LOTS	15	4
Second Process Control	408		KADAPA	Regular	100	sc	CFS	20	20	400	0	0		0	3
	409		CHITTOOR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF	15	5
MODISMENS MACRO CRISTON PROVIDED NO. MARCH May 100 OTH	410	KADAPA TOWN WITH IN MUNICIPAL LIMITS	KADAPA	Regular	100	OPEN	DC	20	20	400	25	45	DRAW OF	15	5
Commonwealth Land Register Centrol Register 100 Centrol 100 Cent	411	PRODDATUR TOWN (FROM RCM CHURCH , TB ROAD TO											DRAW OF		
PRINT MELANCE CENTRUM, MULLEANCE ENGINEER AND MORPH MORP			IN DOLO	Sulai	100	O. EIV	50			-30					+ -
14 15 15 15 15 15 15 15	412		CHITTOOR	Regular	100	OBC	DC	30	30		25	60		15	4
Add ON No.69-PROM. 23 PARTISOTICS DESIRATIONS, AND NO.69 Regular 150 OPEN CC 65 65 203 23 130 BEROOM 30 5	413	MUDDANUR JN TO CHILAMKUR JN , RHS	KADAPA	Regular	100	SC	CFS	30	30	900	0	0		0	3
CONTROL CONTROL CONTROL CONTROL CONTROL Sepular 100 CONTROL	414		KADAPA	Regular	150	OPEN	CC	45	45	2025	25	10		30	5
ADDITIONAL MANAGEMENT COMPANY CONTROL Regular 100 ORC CC 20 20 400 22 45 ORANGE 25 4															
ADDITION OF THE PROPERTY AND ADDITION SOCIETY A				Kegular											
141 ONN FOR DOOR JAN DOOR DESTRUCTION Model 100 OPEN CC 45 45 2025 25 100 BIDDING 30 5 4 1 1 1 1 1 1 1 1 1	416	ADONI TOWN MUNICIPALITY LIMITS	KURNOOL	Regular	100	OBC	DC	20	20	400	25	45	LOTS	15	4
Manual	417		ANANTAPUR	Regular	150	ST	CFS	45	45	2025	0	0		0	3
1-20 CHEROMALINAMINA DEL CHEROM P. CONTIONS Regular 150 CRE CRE 25 25 25 25 25 25 25 2	418		KADAPA	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
## CATTAMANCHI CHITCOR Regular 100 OPEN CC 45 45 2015 51 10 BERONE 8 5 1 1 1 1 1 1 1 1 1	419	CHEROPALLI ALIPIRI ROAD ON NEW NH 71	CHITTOOR	Regular	150	ОВС	DC	45	45	2025	25	75		15	4
421 CHERLOPALLY DEAM RECORD FALLO RAN (RIPS) 422 WITHOUT SAME FROOD PALLOT RATE RESIDE OF A LEAD AND A LADAM Region* 130 SC C75 45 45 45 2025 2.0 0 0 0 DEMANOF 0 3 3 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	420		CHITTOOR	Regular	100	OPEN	DC	25	25	625	25	45	DRAW OF	15	5
1.23 11 10 10 10 10 10 10 1	421		CHITTOOR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
MARCHEANT LIMITS MARCHEANT L	422		KADAPA	Regular	150	SC	CFS	45	45	2025	0	0	LOTS	0	3
## ## ## ## ## ## ## ## ## ## ## ## ##	423		KURNOOL	Regular	100	SC	CFS	20	20	400	0	0		0	3
425 MADAMAPALICTM ROAD (Before By parc) CHTTOOR Regular 100 OPEN DC 25 25 C25 25 45 DDAWOF LTS 5	424		KURNOOL	Regular	100	ОВС	DC	25	25	625	25	45		15	4
425 BETWEEN MEMBAGIAGRIGHON LISS CHITTOOR Regular 150 OPEN CC 45 45 2025 25 10 BROWNE 30 5	425		CHITTOOR	Regular	100	OPEN	DC	25	25	625	25	45	DRAW OF	15	5
A	426		CHITTOOR	Regular	150	OPEN	СС	45	45	2025	25	10		30	5
A28 CHENTOLITOWN MUNICIPALITY LIMITS KURNOOL Regular 100 OBC DC 20 20 400 25 45 DRAW OF LIST 4	427		CHITTOOR		150	SC	CES	45	45	2025	0	0		0	3
ADDITIONAL CONTRACT MANDAL RECTOR CONTRACT NUMBER ADDITION A				-											
430 KONCAPURAN KONCAPURAN MANDAL (NOT ON HIGHWAY) NELLORE Rural 46 OBC DC 20 20 400 12 30 RAW OF LOTS 5 3 3 431 NAGULUR / KOTHA NAGULUR IN REDDIGUDEM MANDAL KRISHNA Rural 46 OSC CFS 20 20 400 0 0 RAW OF LOTS 5 4 422 CHINITALAPADU IN TRUVURU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 433 CHILUNDUR JUDGIBRIAM MANDAL GUNTUR Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 443 REPAILE TO PENIMUUS ROAD (NOT ON HIGHWAY), REPAILE GUNTUR Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 443 REPAILE TO PENIMUUS ROAD (NOT ON HIGHWAY), RESHINA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 444 RURAL RESHINA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 445 RURAL RESHINA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 447 RURAL RESHINA RURA									-			-	LOTS		
A31 NAGUUR / KCTHA RACULUR N REDIGIDED MANDAL KRISHNA Rural 46 SC CFS 20 20 400 0 0 RAW OF LOTS 0 2 432 CHINTALAPADU IN TRUVURU JAMADAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 4 4 4 4 4 4 4 4		KONDAPURAM TO KOMMI, KONDAPURAM MANDAL (NOT													
432 CHINTALAPADU IN TRUVURU MANDAL KIRSHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 433 CHILUVURU, DUGGIRLAM MANDAL GUNTUR Rural 46 OPEN CC 20 20 400 12 30 RAW OF LOTE 5 4 434 RPALLE TO PENNUMDUR LODO FOR HINWAY), REPALLE MANDAL GUNTUR Rural 46 OPEN CC 20 20 400 12 30 RAW OF LOTE 5 3 435 ON RUCHIPUTO TO EDOPHODI RODO, MARUTHALUR GUNTUR Rural 46 OPEN CC 20 20 400 12 30 RAW OF LOTE 5 3 436 PENUGDIANU VILLAGE (GAMPALAGUDEM MANDAL KIRSHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 437 BANDIPALEM IN JAGGALAMPET MANDAL (NOT ON HIGHWAY) KIRSHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 438 PARMIPEDA LORGANDEPT MANDAL (NOT ON HIGHWAY) KIRSHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 439 ON NICH CHINADORA ADD RAND PEDA DORNALA MANDAL MANDAL GUNTUR RURAL 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 441 VOLETINARIPALEM VICLE FLORIUM MANDAL GUNTUR RURAL 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 442 VEMANARAM TO NUBURDADA K ROD, PIRKASAM RURAL 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 444 VEMANARAM TO NUBURDADA RODO PERA DORNALA RURAL 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 444 VEMANARAM TO NUBURDADA RODO PERA DORNALA RURAL 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 444 VEMANARAM TO NUBURDADA RODO PERA DORNALA RURAL 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 444 VEMANARAM TO NUBURDADA RODO PERA DORNALA RURAL 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 4 444 VEMANARAM TO NUBURDADA RODO PERA DORNALA RURAL 46 OPEN DC 20 20 400 12 30 RAW OF LOTE 5 3 4 VEMANDA RURAL PROVIDER RURAL ADDRESS PEDA DORNALA R	431			Rural	46	SC	CFS	20	20	400	0	0		0	2
433 CHILUVURU, DUGGINALA MANDAL GUNTUR Rural 46 OPEN CC DC 20 20 400 12 30 RAW OF LOTS 5 4		CHINTALAPADU IN TIRUVURU MANDAL				OPEN									
A35 MANDAL GUNTUR RUFAL RUFA		CHILUVURU , DUGGIRALA MANDAL													
435 MANDAL GUNTUR RURAL 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4		MANDAL													
A37 BANDIPALEM IN JAGGAIAHPET MANDAL (NOT ON HIGHWAY) KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4		MANDAL													
438 PAMIDIPADU AGRAHARAM, NARASARAOPET MANDAL GUNTUR Rural 46 OBC DC 20 20 400 12 30 RAW OF LOTS 5 3															
FROM NH 765 TO EVRAUIGATTU ROAD WITHIN 1 KM [NOT]		, ,													
A40 ANANTHAVARAM VILLAGE, KOLLUBU MANDAL GUNTUR Rural 46 SC CFS 20 20 400 0 0 RAW OF LOTS 0 2		FROM NH 765 TO DEVRAJUGATTU ROAD WITHIN 1 KM (NOT ON NH) CHINNADORNALA ADDA ROAD,PEDDA DORNALA													
A42 VEMAVARAM TO NUDURUPADU X ROAD, PHIRANGIPURAM GUNTUR Rural 46		ANANTHAVARAM VILLAGE, KOLLURU MANDAL													
443 CHANDARLAPADU IN CHANDARLAPADU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 444 ANKEPALLE, VENKATACHALAM MANDAL NELLORE Rural 46 OBC DC 20 20 400 12 30 RAW OF LOTS 5 3 446 VINAGADAPA IN GAMPALAGUDEM MANDAL KRISHNA Rural 46 OBC DC 20 20 400 12 30 RAW OF LOTS 5 3 3 446 VINAGADAPA IN GAMPALAGUDEM MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 47 RURITHIVERNU (SECTHANAPALU VILLAGE ROAD) IN KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 447 RURITHIVERNU SARUGULZARUGUMILLI MANDAL PRAKASAM Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 448 NARASINGOLU, ZARUGUMILLI MANDAL RURIH AF OPEN DC 20 20 400 12 30 RAW OF LOTS 5 3 4 449 EDUPUGALLU- NOT ON HIGHWAY IN KANKIPADU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 3 4 451 DOWPARRU IN GUDLAVALLERU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 451 DOWPARRU IN GUDLAVALLERU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 452 ULAVAPADU VILLAGE (NOT ON HIGHWAY), ULYAPADU PRAKASAM Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 452 ULAVAPADU JULLAGE (NOT ON HIGHWAY), ULYAPADU PRAKASAM Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 3 4 453 GARAPADU, PEDAKURAPADU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 454 KUDABAVALLI IN NANDIVADA MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 455 POLUKONDA IN NANDIVADA MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 455 POLUKONDA IN NANDIVADA MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 455		VEMAVARAM TO NUDURUPADU X ROAD , PHIRANGIPURAM													
445 ENDROY (ON GUNTUR-AMARANATH ROAD) GUNTUR Rural 46 OBC PH DC 20 20 400 12 30 RAW OF LOTS 5 3	443	CHANDARLAPADU IN CHANDARLAPADU MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
A46	445					OBC PH					12		RAW OF LOTS	5	
447 KRUTHIVENNU MANDAL KNSHNA NUTAI 46 UPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 4 448 NARASINGOLU, ZARUGUMILLI MANDAL PRAKASAM RUTAI 46 OBC DC 20 20 400 12 30 NRAW OF LOTS 5 3 449 EDUPUGALLI- NOT ON HIGHWAY IN KANKIPADU MANDAL KRISHNA RUTAI 46 OFFN DC. 20 20 400 0 0 0 NRAW OF LOTS 0 2 450 VINNAKOTA IN GUDLAVALLERU MANDAL KRISHNA RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 4 451 DOKIPARRU IN GUDLAVALLERU MANDAL KRISHNA RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 4 452 ULAVAPADU VILLAGE (NOT ON HIGHWAY), ULVAPADU MANDAL MANDAL MANDAL MANDAL BRISHNA RUTAI 46 OBC DC. 20 20 400 12 30 NRAW OF LOTS 5 3 453 GARAPADU, PEDAKURAPADU MANDAL GUNTUR RUTAI 46 OFFN DC. 20 20 400 12 30 NRAW OF LOTS 5 3 454 KUDARAVALLI IN NANDIVADA MANDAL KRISHNA RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 3 455 POLUKONDA IN NANDIVADA MANDAL KRISHNA RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 4 456 REMAILE IN BAPULAPADU MANDAL KRISHNA RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 4 457 JONNATHAL (NOT ON HIGHWAY). MANDAL KRISHNA RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 4 458 POLUKONDA IN NANDIVADA MANDAL KRISHNA RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 4 457 JONNATHAL (NOT ON HIGHWAY). MANDAL KRISHNA RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 4 457 JONNATHAL (NOT ON HIGHWAY). MANDAL PRAKASAM RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 4 457 JONNATHAL (NOT ON HIGHWAY). MANDAL PRAKASAM RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 3 30 NRAW OF LOTS 5 4 457 JONNATHAL (NOT ON HIGHWAY). MANDAL PRAKASAM RUTAI 46 OPEN DC. 20 20 400 12 30 NRAW OF LOTS 5 3		VINAGADAPA IN GAMPALAGUDEM MANDAL	KRISHNA			OPEN									
449 EDUPUGALLU- NOT ON HIGHWAY IN KANKIPADU MANDAL KRISHNA Rural 46 ST CFS 20 20 400 0 0 RAW OF LOTS 0 2		KRUTHIVENNU MANDAL													
450 VINNAKOTA IN GUDLAVALLERU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 IRAW OF LOTS 5 4 451 DOKIPARRU IN GUDLAVALLERU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 IRAW OF LOTS 5 4 452 ULAVAPADU VILLAGE (NOT ON HIGHWAY), ULVAPADU MANDAL RISHNA Rural 46 OBC DC 20 20 400 12 30 IRAW OF LOTS 5 3 453 GARAPADU, PEDAKURAPADU MANDAL GUNTUR Rural 46 SC CFS 20 20 400 0 12 30 IRAW OF LOTS 0 2 454 KUDARAVALILI IN NANDIVADA MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 IRAW OF LOTS 5 4 455 POLUKONDA IN NANDIVADA MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 IRAW OF LOTS 5 4 456 REMALLE IN BAPULAPADU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 IRAW OF LOTS 5 4 456 REMALLE IN BAPULAPADU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 IRAW OF LOTS 5 4 457 JONNATHAL (NOT ON HI), MARTUR MANDAL FRAKASAM Rural 46 OPEN DC 20 20 400 12 30 IRAW OF LOTS 5 4 457 JONNATHAL (NOT ON HI), MARTUR MANDAL PRAKASAM Rural 46 OBC DC 20 20 400 12 30 IRAW OF LOTS 5 3															
452 ULAVAPADU VILLAGE (INDT ON HIGHWAY), ULVAPADU PRAKASAM Rural 46	450	VINNAKOTA IN GUDLAVALLERU MANDAL	KRISHNA	Rural	46				20			30	RAW OF LOTS	5	4
MANUAL MANUAL		ULAVAPADU VILLAGE (NOT ON HIGHWAY), ULVAPADU													
454 KUDARAVALLI IN NANDIVADA MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 455 POLUKONDA IN NANDIVADA MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 456 REMALE IN BAPULAPADU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 RAW OF LOTS 5 4 457 JONNATHAL (NOT ON NH), MARTUR MANDAL PRAKASAM Rural 46 OBC DC 20 20 400 12 30 RAW OF LOTS 5 3															
456 REMAILE IN BAPULAPADU MANDAL KRISHNA Rural 46 OPEN DC 20 20 400 12 30 IRAW OF LOTS 5 4 457 JONNATHALI (NOT ON NH), MARTUR MANDAL PRAKASAM Rural 46 OBC DC 20 20 400 12 30 IRAW OF LOTS 5 3	454	KUDARAVALLI IN NANDIVADA MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
	456	REMALLE IN BAPULAPADU MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4

450		WEIGHT.							***					
459 460	KALIDINDI NOT ON SH IN KALIDINDI MANDAL DUDDUKURU, INKOLLU MANDAL (NOT ON HIGHWAY)	KRISHNA PRAKASAM	Rural	46 46	OPEN CC 1 OBC	DC DC	20	20 20	400 400	12 12	30 30	RAW OF LOTS	5	3
461	PEDAPALEM (T.KOTHAPALEM VILLAGE) NOT ON SH,	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
462	NAGAYALANKA MANDAL GANGADIPALEM TO REPALLE , REPALLE MANDAL	GUNTUR	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
463	VEERAPANENIGUDEM IN GANNAVARAM MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
464	RAVINUTHLA, KORISAPADU MANDAL	PRAKASAM	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
465	VEDURUPAVULURU VILLAGE IN GANNAVARAM MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
466 467	KOTHAPATNAM VILLAGE, KOTHAPATNAM MANDAL MANDAPAKALA IN KODUR MANDAL	PRAKASAM KRISHNA	Rural	46 46	OPEN SC CC 1	DC CFS	20 20	20 20	400 400	12 0	30 0	RAW OF LOTS	5	4 2
468	THURLAPADU VILLAGE, EDLAPADU MANDAL	GUNTUR	Rural	46	OBC CC 1	DC	20	20	400	12	30	RAW OF LOTS	5	3
469	AMARAVATHI SHIVALAYAM TOWARDS VIJAYAWADA ROAD, WITHIN 3 KM, AMARAVATHI MANDAL (NOT ON HIGHWAY)	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
470	KAKARLA IN TIRUVURU MANDAL	KRISHNA	Rural	46	OPEN PH	DC	20	20	400	12	30	RAW OF LOTS	5	4
471	ETHAMUKKALA, KOTHAPATNAM MANDAL PRABHAGIRI PATNAM, PODALAKUR MANDAL (NOT ON	PRAKASAM	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
472	HIGHWAY) TADIKONDA VILLAGE,ON TADIKONDA TO PEDAPARIMI ROAD,	NELLORE	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
473 474	TADIKONDA MANDAL INTURU VILLAGE, AMRUTHALUR MANDAL	GUNTUR	Rural	46 46	OPEN OBC	DC DC	20	20	400	12 12	30	RAW OF LOTS	5	3
474	NELAPADU VILLAGE,ON TENALI TO BURRIPALEM ROAD,	GUNTUR	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
476	TENALI MANDAL KASUKARRU, PONNUR MANDAL (NOT ON HIGHWAY)	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
477	CHINTHAYAPALEM, PITTLAVANIPALEM MANDAL	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
478 479	RAVELA VILLAGE, TADIKONDA MANDAL EDLAPADU, EDLAPADU MANDAL	GUNTUR GUNTUR	Rural	46 46	OPEN OBC	DC DC	20	20 20	400 400	12 12	30	RAW OF LOTS	5	3
480	BASINEPALLI, BESTAVARIPETA MANDAL	PRAKASAM	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
481	VELDURTI VILLAGE (NOT ON HIGHWAY), VELDURTI MANDAL	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
482 483	NANDIVADA IN NANDIVADA MANDAL	KRISHNA PRAKASAM	Rural Rural	46 46	OPEN CC 1 OBC	DC DC	20	20 20	400 400	12 12	30 30	RAW OF LOTS	5	4 3
484	BOTLAGUDURU VILLAGE, PAMURU MANDAL KATHEVARAM , TENALI MANDAL	GUNTUR	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
485	ROMPICHERLA (ON MUPPALLA ROAD) , ROMPICHERLA MANDAL	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
486	LAKKAVARAM VILLAGE, THALLURU MANDAL POTHAVARAM (ON CHILAKALURIPET ROAD) ,	PRAKASAM	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
487	CHILAKALURIPET MANDAL	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
488	NALLAPADU RURAL TO VENGALAYAPALEM (NOT ON HIGHWAY, NOT IN GUNTUR MUNCIPAL LIMITS), GUNTUR MANDAL	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
489	KESANUPALLI , NARASARAOPET MANDAL (NOT ON HIGHWAY)	GUNTUR	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
490	HIGHWAY) NARAVA VILLAGE, GIDDALURU MANDAL	PRAKASAM	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
491	MOPIDEVI-NOT ON THE HIGHWAY, MOPIDEVI MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
492	GUNUPADU, CHITTAMUR MANDAL (NOT ON HIGHWAY)	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
493 494	MARRIPUDI, MARRIPUDI MANDAL FROM NH 16 - VELLAMPALLI TO THALLURU ROAD WITHIN 3	PRAKASAM PRAKASAM	Rural	46 46	SC	CFS DC	20	20	400	12	30	RAW OF LOTS	5	3
495	KM (NOT ON NH), MADDIPADU MANDAL MANNAR POLUR, SULLURPETA MANDAL	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
496	KODURU, THOTAPALLI GUDUR MANDAL (NOT ON HIGHWAY)	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
497	ISUKUDARSI (NOT ON NH), MARTUR MANDAL	PRAKASAM	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
498	SRIKAKULAM VILLAGE (GHANTASALA MANDAL) IN	KRISHNA	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
499	GHANTASALA MANDAL GUNDEMADAKALA, VINJAMUR MANDAL	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
500	ALLUR, ALLUR MANDAL	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
501	PEDAKAKANI VILLAGE(NOT ON HIGHWAY), PEDAKAKANI MANDAL	GUNTUR	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
502	MIRIJAPURAM NOT ON SH IN NUZVID MANDAL	KRISHNA	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
503 504	MARELLA VILLAGE, MUNDLAMURU MANDAL MUTUKULA VILLAGE, PULLALA CHERUVU MANDAL	PRAKASAM PRAKASAM	Rural Rural	46 46	OPEN OPEN	DC DC	20 20	20 20	400 400	12 12	30 30	RAW OF LOTS	5	4
505	BANDARUPALLI , TADIKONDA MANDAL	GUNTUR	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
506	THALLURU VILLAGE,KANIGIRI MANDAL	PRAKASAM	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
507	GANGAVARAM VILLAGE,SANTHANUTHALAPADU MANDAL	PRAKASAM	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
508 509	TAKKELLAPADU VILLAGE, PEDDAKAKKANI MANDAL MUNGAMURU NOT ON NH, BOGOLE MANDAL	GUNTUR NELLORE	Rural	46 46	OBC OPEN CC 1	DC DC	20	20 20	400 400	12 12	30 30	RAW OF LOTS	5	3
510	GAJJALAKONDA VILLAGE, MARKAPUR MANDAL	PRAKASAM	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
511	KOSURU IN MOVVA MANDAL INDUKURPET ROAD, DEVISPET (NOT ON SH), INDUKURPET	KRISHNA	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
512	MANDAL DONAKONDA TO ADDANKI ROAD WITHIN 1.5 KMS (FROM	NELLORE	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
513	AMBEDKAR STATUE TO ADDANKI ROAD),DONAKONDA MANDAL	PRAKASAM	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
514	VIPPARLA TO REDDYPALEM (NOT ON SH) , ROMPICHERLA MANDAL	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
515 516	EDLAPALLI-TSUNDUR , TSUNDUR MANDAL JUJJAVARAM IN PAMARRU MANDAL	GUNTUR KRISHNA	Rural Rural	46 46	SC OBC	CFS DC	20 20	20 20	400 400	0 12	30	RAW OF LOTS	5	3
517	PINNELLI , MACHAVARAM MANDAL	GUNTUR	Rural	46	OPEN CC 2	DC	20	20	400	12	30	PAW OF LOTS	5	4
518 519	AVANIGADDA NOT ON HIGHWAY IN AVANIGADDA MANDAL GUDAVALLI VILLAGE IN VIJAYAWADA RURAL MANDAL	KRISHNA KRISHNA	Rural	46 46	OPEN CC 2 OBC CC 1	DC DC	20	20	400	12 12	30 30	RAW OF LOTS	5	3
520	MOTURU IN GUDIVADA MANDAL	KRISHNA	Rural	46	SC CC 1	CFS	20	20	400	0	0	RAW OF LOTS	0	2
521 522	PEDAPUTHEDU, DAGADARTHI MANDAL CHAKALAKONDA VINIAMUR MANDAL (NOT ON HIGHWAY)	NELLORE NELLORE	Rural	46 46	OPEN OPEN	DC DC	20	20	400	12	30	RAW OF LOTS	5	4
522	CHAKALAKONDA, VINJAMUR MANDAL (NOT ON HIGHWAY) KODURUPADU - NOT ON NH IN BAPULAPADU MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	3
524	DAMANCHERLA (NOT ON NH/SH), VARIKUNTAPADU MANDAL	NELLORE	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
525 526	SIDDAVARAM, KOTA MANDAL BOGANAMPADU VILLAGE, PONNALURU MANDAL	NELLORE PRAKASAM	Rural Rural	46 46	OPEN OPEN	DC DC	20 20	20 20	400 400	12 12	30 30	RAW OF LOTS	5 5	4
527	THOTLAVALLURU IN THOTLAVALLURU MANDAL	KRISHNA	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
528 529	CHINAGANJAM (NOT ON NH), CHINAGANJAM MANDAL	PRAKASAM GUNTUR	Rural	46 46	OPEN SC	DC CFS	20	20	400 400	12 0	30	RAW OF LOTS	5	4 2
530	POTUMERAKA , REPALLE MANDAL DAMMALAPADU , MUPPALLA MANDAL	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
531 532	GOGULAPADU , ROMPICHERLA MANDAL ANANTHAVARAPADU , VATTICHERUKURU MANDAL	GUNTUR GUNTUR	Rural Rural	46 46	OBC OPEN CC 1	DC DC	20 20	20 20	400 400	12 12	30 30	RAW OF LOTS	5	3 4
533	NADAKUDURU IN CHALLAPALLI MANDAL	KRISHNA	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
534	MANGAMURU VILLAGE,SANTHANUTHALAPADU MANDAL	PRAKASAM	Rural	46	ОВС	DC	20	20	400	12	30	RAW OF LOTS	5	3
535	PENAMAKURU IN THOTLAVALLURU MANDAL JONNAWADA, BUCHIREDDYPALEM MANDAL (NOT ON	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
536 537	HIGHWAY) VINDURU, GUDUR MANDAL, GUDUR MANDAL	NELLORE NELLORE	Rural	46 46	OPEN OBC	DC DC	20	20	400	12 12	30	RAW OF LOTS	5	3
538	PEDAKALLEPALLE IN MOPIDEVI MANDAL	KRISHNA	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
539 540	SOMAVARAM IN CHATRAI MANDAL KONIJERLA IN GAMPALAGUDEM MANDAL	KRISHNA KRISHNA	Rural Rural	46 46	OPEN OPEN	DC DC	20	20 20	400 400	12 12	30 30	RAW OF LOTS	5	4
541	DUGARAJUPATNAM (NOT ON SH) , VAKADU MANDAL	NELLORE	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
542	AKUMARRU NOT ON HIGHWAY IN GUDUR MANDAL	KRISHNA	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
543	JUJJURU IN VEERULLAPADU MANDAL (NOT ON HIGHWAY)	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
544	DONABANDA IN IBRAHIMPATNAM MANDAL (NOT ON HIGHWAY)	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4

545 546	ODURU, CHILLAKUR MANDAL UTUKUR, VIDAVALUR MANDAL	NELLORE NELLORE	Rural Rural	46 46	OBC PH SC PH	DC CFS	20 20	20 20	400 400	12	30 0	RAW OF LOTS	5	3
547	GULLAPUDI IN GAMPALAGUDEM MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
548	NAWABPETA IN PENUGANCHIPROLU MANDAL (NOT ON	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
549	HIGHWAY) NADUPURU IN PEDANA MANDAL	KRISHNA	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
550	KEESARA IN KANCHIKACHERLA MANDAL (NOT ON HIGHWAY)	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
551	GOTTIPADU VILLAGE, PRATHIPADU MANDAL	GUNTUR	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
552	MANGOLU IN VATSAVAI MANDAL (NOT ON HIGHWAY)	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
553 554	ADDADA NOT ON NH IN PAMARRU MANDAL	KRISHNA KRISHNA	Rural	46 46	OBC OPEN	DC DC	20	20 20	400 400	12 12	30 30	RAW OF LOTS	5 5	3
555	MUNDLAPADU IN PENUGANCHIPROLU MANDAL DAMARAMADUGU (NOT ON HIGHWAY), BUCHIREDDYPALEM	NELLORE	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
	MANDAL									-				
556 557	RAMANNAGUDEM IN NUZVID MANDAL VELVADAM IN MYLAVARAM MANDAL	KRISHNA KRISHNA	Rural	46 46	OBC OPEN	DC DC	20 20	20 20	400 400	12 12	30 30	RAW OF LOTS	5	3 4
558	SANGUPALEM - KODURU, PITTALAVANIPALEM MANDAL	GUNTUR	Rural	46	OPEN CC 1	DC	20	20	400	12	30	RAW OF LOTS	5	4
559	ALAVALA , ROMPICHERLA MANDAL	GUNTUR	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
560	GUDAVALLI TO KANAGALA (NOT ON HIGHWAY) ,	GUNTUR	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
560	CHERUKUPALLE MANDAL	GUNTUR	Kurai	46	31	CFS	20	20	400	U	U	RAW OF LOTS	-	2
561	MADDURU (ON AVANIGADDA YENAMALAKUDUR ROAD KATTA ROAD) IN KANKIPADU MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
562	VARAHAPATNAM IN KAIKALURU MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
563	VENTRAPRAGADA IN PEDAPARUPUDI MANDAL RAMANNAPALEM (NOT ON HIGHWAY), KODAVALUR	KRISHNA	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
564	MANDAL	NELLORE	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
565	ELAMARRU IN PEDAPARUPUDI MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
566	AMUDALAPALLI, ON GANNAVARAM TO PUTTAGUNTA ROAD IN UNGUTURU MANDAL (NOT ON HIGHWAY)	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
567	SOMESWARAM IN KAIKALURU MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
568 569	CHOWTAPALLE IN GUDIVADA MANDAL CHINAGARLAPADU, KAREMPUDI MANDAL	KRISHNA GUNTUR	Rural	46 46	OBC CC 1 ST CC 1	DC CFS	20 20	20 20	400 400	12 0	30	RAW OF LOTS	5	2
570	KAMAKUR, BALAYAPALLE MANDAL (NOT ON HIGHWAY)	NELLORE	Rural	46	OPEN PH	DC	20	20	400	12	30	RAW OF LOTS	5	4
370	CHINTALADEVI TO SAIPETA, KONDAPURAM MANDAL (NOT	HELEUNE	nulai	40	OF EN PH	DC	20	20	700	12	30		,	+
571	CHINTALADEVI TO SAIPETA, KONDAPURAM MANDAL (NOT ON HIGHWAY)	NELLORE	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
572	MAJERU NOT ON NH IN CHALLAPALLI MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
573	RAMATHIRTHAM, VIDAVALUR MANDAL MUNIPEDA VILLAGE (ON NEELIPUDI ROAD) IN KRUTHIVENNU	NELLORE	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
574	MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
575 576	KOTHAPALEM, KOTA MANDAL	NELLORE	Rural	46	OBC	DC	20	20	400	12	30	PAW OF LOTS	5	3 4
576	PEDDA MADDURU , AMARAVATHI MANDAL DEVARAPALLE, ON YANAMALAKUDURU ROAD-	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	PRAW OF LOTS	5	
577	THOTLAVALLURU MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
578	NAGULLUPALAPADU - GUNDLAPALLI ROAD IN MADDIPADU MANDAL (NOT ON NH)	PRAKASAM	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
579	VARAGALI, CHILLAKUR MANDAL (NOT ON HIGHWAY)	NELLORE	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
580 581	KUCHINAPUDI, NIZAMPATNAM MANDAL	GUNTUR	Rural Rural	46	OPEN	DC	20 20	20	400 400	12	30	RAW OF LOTS	5	4
582	KANUKOLLU IN MANDAVALLI MANDAL PUSULURU VILLAGE, PEDANANDIPADU MANDAL	KRISHNA GUNTUR	Rural	46 46	OPEN CC 1 SC	DC CFS	20	20 20	400	12 0	30 0	RAW OF LOTS	0	2
583	THAMMINAPATNAM, CHILLAKUR MANDAL	NELLORE	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
584	VATTIGUDIPADU-EDULAGUDEM ROAD IN AGIRIPALLE MANDAL	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
585	KUNCHANAPALLI , TADEPALLI MANDAL	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
586 587	VARIGONDA, THOTAPALLI GUDUR MANDAL VALLURU, KAKUMANU MANDAL	NELLORE GUNTUR	Rural Rural	46 46	OBC SC	DC CFS	20 20	20 20	400 400	12 0	30 0	RAW OF LOTS	5	2
	KOTHURU TADEPALLI IN VIJAYAWADA RURAL MANDAL (NOT													
588	ON HIGHWAY)	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
589	MANUBOLU (NOT ON HIGHWAY), MANUBOLU MANDAL	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
590	THOPU KHANDRIKA, TADA MANDA	NELLORE	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
591 592	NUTHAKKI, MANGALAGIRI MANDAL UTUKUR. SYDAPURAM MANDAL	GUNTUR NELLORE	Rural	46 46	SC OPEN	CFS DC	20	20 20	400 400	0 12	30	RAW OF LOTS	0 5	2
593	JUVVALADINNE VILLAGE, BOGOLE MANDAL	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
594	NEMMIKURU- NOT ON HIGHWAY IN PAMARRU MANDAL	KRISHNA	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
595	KANURU BEACH ROAD IN MACHILIPATNAM MANDAL	KRISHNA	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
596	EPURU BIT I A & EPURU BIT I B, MUTHUKUR MANDAL (NOT	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
597	ON HIGHWAY) MALLAVALLI IN BAPULAPADU MANDAL	KRISHNA	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
598	THOTLA VALLURU TO ROYYURU IN THOTLAVALLURU	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
	MANDAL													
599	HARISHCHANDRAPURAM, THULLUR MANDAL VETAPALEM (ON CHIRALA-ONGOLE ROAD WITHIN 2 KM	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
600	RADIUS OF APSRTC BUS STAND)	PRAKASAM	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
601	SURAYAPALEM ROAD IN VIJAYAWADA RURAL MANDAL KANIGIRI TO KAMEPALLI ROAD (GARLAPETA BUS STAND TO	KRISHNA	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
602	THALLUR ROAD WITHIN 2 KM)	PRAKASAM	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
603	KOVUR (NOT ON NH)	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	PAW OF LOTS	5	4
604	CHINNAMPETA, CHATRAI MANDAL MANGAMURU DONKA OLD NH 16 TO MANGUMURU ROAD	KRISHNA	Rural	46	SC	CFS	20	20	400	0	0	PRAW OF LOTS		2
605	WITHIN 2 KM	PRAKASAM	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
606	ON KRISHNAPATNAM PORT ROAD CONNECTING NH 16 AND KRISHNAPATNAM PORT (FROM ADANI WILMAR FACTORY	NELLORE	Rural	200	OPEN	сс	45	45	2025	12	5	BIDDING	10	4
	TOWARDS KRISHNAPATNAM PORT)													
607	KHAJIPALEM, PITTLAVANIPALEM MANDAL	GUNTUR	Rural	46	OPEN CC 1	DC	20	20	400	12	30	RAW OF LOTS	5	4
608 609	JAKKAMPUDI – AMBAPURAM, VIJAYAWADA RURAL VENKANNAPALEM,MANDAL MANUBOLU	KRISHNA NELLORE	Rural Rural	46 46	OBC ST	DC CFS	20 20	20 20	400 400	12 0	30 0	RAW OF LOTS	5	2
610	KODUR ROAD, NARUKURU TO KOTHA KODURU BEACH	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
	(OUTSIDE NELLORE MUNICIPAL LIMITS) WITHIN 3 KM FROM KAIKALUR TOWARDS ELURU (NOT ON													
611	HIGWAY)	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
612	G KONDURU – GANGINENIPALEM, GKONDURU MANDAL	KRISHNA	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
	VISSANANAPET VILLAGE ON LHS OF VISSANANAPET - NUZVID					0								+
613	ROAD	KRISHNA	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
614	PEDAPARIMI	GUNTUR	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
615	ADURUPALLI (OUTSIDE ADURUPALLI LIMITS) TO VAVILERU	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
616	UPPUMAGULURU, BALLIKURVA MANDAL	PRAKASAM	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
617 618	SRICITY- NELLORE DISTRICT GUNTUPALLE IN IBRAHIMPATNAM MANDAL	NELLORE KRISHNA	Rural Rural	46 46	OPEN SC CC 1	DC CFS	20 20	20 20	400 400	12 0	30 0	RAW OF LOTS	5	2
619	ADURUPALLE TO PENCHALAKONA	NELLORE	Rural	46	OPEN CC 2	DC	20	20	400	12	30	RAW OF LOTS	5	4
620	PALICHERLAPADU, VENKATACHALAM MANDAL (NOT ON HIGHWAY)	NELLORE	Rural	46	OBC CC 1	DC	20	20	400	12	30	RAW OF LOTS	5	3
621	HANUMAN JUNCTION TOWN (BAPULAPADU MANDAL)	KRISHNA	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
622	POLAVARAM, CHATRAI MANDAL	KRISHNA	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
623	NIDAMANURU TO PORANKI ROAD MEDARAMETLA TOWARDS ONGOLE - 1KM FROM RTC	KRISHNA	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
624	BUSTAND ,KORISPADU MANDAL	PRAKASAM	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
625 626	CHERUKUPALLI TOWN LIMITS LAM (ON GUNTUR AMARAVATHI ROAD)	GUNTUR GUNTUR	Rural Rural	46 46	OPEN OBC	DC DC	20	20 20	400 400	12 12	30 30	RAW OF LOTS	5 5	3
	ROAD CONNECTING VIDYANAGAR (OUTSIDE VIDYANAGAR				OBC									
627	LIMITS)-METTU-ANNAMEDU-NH16 AT YERRAMSETTIPALEM	NELLORE	Rural	46	ST	CFS	20	20	400	0	0	RAW OF LOTS	0	2
628	(NOT ON NH) CHIMAKURTHY TOWN (NOT ON HIGHWAY)	PRAKASAM	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
				·										

629	BETWEEN PODALKUR TO SANGAM ON MDR 3203	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
630 631	TIRUVURU TOWN (NEAR RTC BUSSTAND- NOT ON NH) KODURU - ON VULLIPALEM ROAD IN KODURU MANDAL	KRISHNA KRISHNA	Rural Rural	46 46	OBC SC	DC CFS	20 20	20 20	400 400	12 0	30 0	RAW OF LOTS	5	2
632	MUTHUKUR CENTRE TO KRISHNA PATNAM PORT VIA GOPALA	NELLORE	Rural	46	OPEN	DC	20	20	400	12	30	RAW OF LOTS	5	4
633	PURAM THATIPARTHI VILLAGE, PODALKUR MANDAL (NOT ON	NELLORE	Rural	46	OPEN CC 1	DC	20	20	400	12	30	RAW OF LOTS	5	4
634	HIGHWAY) NAIDUPETA MUNICIPAL LIMIT (NOT ON NH)	NELLORE	Rural	46	OBC	DC	20	20	400	12	30	RAW OF LOTS	5	3
635	NIZAMPATNAM-MAIN ROAD EITHER SIDE (WITH IN 2 KM	GUNTUR	Rural	46	SC	CFS	20	20	400	0	0	RAW OF LOTS	0	2
	FROM NIZAMPATNAM CENTER) GUNTUR TOWN (CHUTTUGUNTA CENTRE TO													4
636	ANKYREDDYPALEM 'Y' JUNCTION)	GUNTUR	Regular	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
637	KAMINENI HOSPITAL ROAD (IN BETWEEN ENKIPADU ELURU ROAD CROSS & TADIGADAPA BANDAR ROAD CROSS) RHS	KRISHNA	Regular	150	OPEN	СС	20	20	400	25	10	BIDDING	30	5
638	VIJAYAWADA CITY MG ROAD	KRISHNA	Regular	250	OPEN	cc	20	20	400	25	10	BIDDING	30	5
639	ANDHRA PRABHA COLONY, SINGH NAGAR - PAYAKAPURAM	KRISHNA	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
640	GUNTUR (PATTABHIPURAM FLYOVER TO GUJJANAGUNDLA	GUNTUR	Regular	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
	CENTRE) VIJAYAWADA CITY (YV RAO ESTATE-PIPULA ROAD AT INNER													
641	RING ROAD) LHS	KRISHNA	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
642	VIJAYAWADA CITY SITARA CONVENTION CENTRE - GOLLAPUDI Y CROSS	KRISHNA	Regular	150	OPEN	cc	20	20	400	25	10	BIDDING	30	5
643	GUNTUR TOWN (FROM LODGE CENTRE TOWARDS AMARAVATHI WITHIN MUNICIPALITY LIMITS-ON RHS)	GUNTUR	Regular	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
644	VIJAYAWADA CITY -GUNADALA ON THE MAIN ROAD	KRISHNA	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
645	NTR CIRCLE TO AUTONAGAR BUS TERMINAL ON THE LHS, ON NH-65	KRISHNA	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
646	NTR CIRCLE TO AUTONAGAR BUS TERMINAL ON THE RHS, ON NH-65	KRISHNA	Regular	150	OPEN	СС	20	20	400	25	10	BIDDING	30	5
647	GUNTUR TOWN (ON GT ROAD BETWEEN CHUTTUGUNTA	GUNTUR	Regular	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
	CENTRE AND MASTAN DARGA CENTER) GURUNANAK COLONY ROAD (FROM RAMESH HOSPITAL													
648	JUNCTION TO AUTONAGAR) RHS	KRISHNA	Regular	150	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
649	AUTO NAGAR BUS TERMINAL TO V.R SIDDHARTHA ENGINEERING COLLEGE ON THE LHS, ON NH-65	KRISHNA	Regular	150	OPEN	СС	20	20	400	25	10	BIDDING	30	5
650	AUTO NAGAR BUS TERMINAL TO V.R SIDDHARTHA ENGINEERING COLLEGE ON THE RHS, ON NH-65	KRISHNA	Regular	150	OPEN	СС	20	20	400	25	10	BIDDING	30	5
651	NAWABPET ROAD FROM ATMAKUR BUSSTAND TO	NELLORE	Regular	160	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
652	ALLIPURAM (WITHIN NELLORE MUNICIPAL LIMITS) VIJAYAWADA CITY (MEESALA RAJA RAO BRIDGE TO AYODHYA	KRISHNA	Regular	250	OPEN	СС	20	20	400	25	10	BIDDING	30	5
653	NAGAR) VIJAYAWADA- POLYCLININC ROAD	KRISHNA	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
654	NTR CIRCLE TO AUTONAGAR 100 FT CROSS ON PANTA	KRISHNA	Regular	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
655	KALUVA ROAD RHS ON NH 216 BETWEEN NANDAMURU & MUNJULURU	KDICIINA		450	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
656	VILLAGE RHS BENZ CIRCLE TO NTR CIRCLE, VIJAYAWADA	KRISHNA	Regular Regular	150 250	OPEN CC 1	CC	20	45 20	2025 400	25	75 10	BIDDING	30	5
657	VIJAYAWADA- A.S. RAMARAO ROAD	KRISHNA	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
658	NTR MARG ROAD (BETWEEN RAMALAYAM TEMPLE TO VR SIDDARTHA ENGINEERING COLLEGE), RHS	KRISHNA	Regular	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
659	MAHATMA GANDHI INNER RING ROAD JUNCTION NEAR RTO	GUNTUR	Regular	150	OPEN	СС	20	20	400	25	10	BIDDING	30	5
660	OFFICE GUNTUR AUTONAGAR (ON LHS OF GRAND TRUNK ROAD	GUNTUR	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
661	BETWEEN RELIANCE PETROL PUMP AND NH-16) BUDAMPADU (ON BAPATLA ROAD)	GUNTUR	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
662	AUTONAGAR TO NEW AUTONAGAR, VIJAYAWADA	KRISHNA							400	25	60	DRAW OF LOTS		4
002		KRISHINA	Regular	230	OBC	DC	20	20	400	23	00	JRAW OF LOT.	15	*
663	GUNTUR AUTONAGAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16)	GUNTUR	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
	GUNTUR AUTONAGAR (ON RHS OF GRAND TRUNK ROAD													
663 664 665	GUNTUR AUTONAGAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RHS MACHERLA ON SH (RAILWAY GATE TO SAGAR X ROAD)	GUNTUR KRISHNA GUNTUR	Regular Regular Regular	150 150 100	OPEN Open CC 2 OBC CC 1	CC DC CC	20 45 30	20 45 30	400 2025 900	25 25 25	10 75 10	BIDDING DRAW OF LOTS BIDDING	30 15 30	5 5 4
663 664 665 666	GUNTUR AUTONAGAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RHS	GUNTUR KRISHNA GUNTUR NELLORE	Regular Regular Regular Regular	150 150 100 150	OPEN Open CC 2 OBC CC 1 SC CC 1	CC DC CC CFS	20 45 30 45	20 45 30 45	400 2025 900 2025	25 25 25 0	10 75 10 0	BIDDING DRAW OF LOT! BIDDING DRAW OF LOT!	30 15 30 0	5 5 4 3
663 664 665 666 667	GUNTUR AUTOMACAR (ON RINS OF CRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR	Regular Regular Regular Regular	150 150 100 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN	CC DC CC CFS CC	20 45 30 45 20	20 45 30 45 20	400 2025 900 2025 400	25 25 25 0 25	10 75 10 0	BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING	30 15 30 0 30	5 5 4 3 5
663 664 665 666 667	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KESSARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RHS)	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR	Regular Regular Regular Regular Regular	150 150 100 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OPEN	CC DC CC CFS CC CC	20 45 30 45 20	20 45 30 45 20 20	400 2025 900 2025 400 400	25 25 25 0 25 25	10 75 10 0 10	BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING BIDDING	30 15 30 0 30 30	5 5 4 3 5
663 664 665 666 667	GUNTUR AUTONACAR (ON RINS OF CRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDHI INNER RING ROAD (BETWEEN CHILLIES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDHI INNER RING ROAD (BETWEEN CHILLIES	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR	Regular Regular Regular Regular	150 150 100 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN	CC DC CC CFS CC	20 45 30 45 20	20 45 30 45 20	400 2025 900 2025 400	25 25 25 0 25	10 75 10 0	BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING	30 15 30 0 30	5 5 4 3 5
663 664 665 666 667 668 669	GUNTUR AUTOMAGAR (ON RIKS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDHI INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDHI INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) VIJAYAWADA CITY ELURU ROAD ETKURU (ON PRATHIPADU ROAD) ANNAMYYA (GRICLE TO AYPAPAGUDI CENTRE (WITHIN) ANNAMYAY CIRCLET O AYPAPAGUDI CENTRE (WITHIN)	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KRISHNA	Regular Regular Regular Regular Regular Regular Regular	150 150 100 150 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OPEN OBC	CC DC CC CFS CC CC CC	20 45 30 45 20 20	20 45 30 45 20 20	400 2025 900 2025 400 400	25 25 25 0 25 25 25 25	10 75 10 0 10 10	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT:	30 15 30 0 30 30 30	5 5 4 3 5 5
663 664 665 666 667 668 669 670	GUNTUR AUTOMAGAR (ON RIKS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDHI INNER RING ROAD (BETWEEN CHILLES DIMABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDHI INNER RING ROAD (BETWEEN CHILLES DIMABA TO RELIANCE PETROL PUMP ON RHS) VIJAYAWADA CITY ELURU ROAD ETKURU (ON PRATHIPADU ROAD) ANNAMAYYA CIRCLE TO AYPAPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS).	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE	Regular	150 150 100 150 150 150 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OPEN OBC ST OPEN	CC DC CFS CC	20 45 30 45 20 20 20 20 20	20 45 30 45 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400	25 25 25 0 25 25 25 25 0 25	10 75 10 0 10 10 60 0 10	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING DRAW OF LOT: DRAW OF LOT: BIDDING	30 15 30 0 30 30 30 15 0	5 5 4 3 5 5 4 3 5
663 664 665 666 667 668 669 670	GUNTUR AUTOMAGAR (ON RIKS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDHI INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDHI INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) VIJAYAWADA CITY ELURU ROAD ETKURU (ON PRATHIPADU ROAD) ANNAMYYA (GRICLE TO AYPAPAGUDI CENTRE (WITHIN) ANNAMYAY CIRCLET O AYPAPAGUDI CENTRE (WITHIN)	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KRISHNA GUNTUR	Regular Regular Regular Regular Regular Regular Regular Regular Regular	150 150 100 150 150 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OPEN OBC ST	CC DC CC CFS CC CC CC CC CC CC CC	20 45 30 45 20 20 20	20 45 30 45 20 20 20 20	400 2025 900 2025 400 400 400	25 25 25 0 25 25 25 25 0	10 75 10 0 10 10 60	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING DRAW OF LOT: DRAW OF LOT: DRAW OF LOT:	30 15 30 0 30 30 30 15	5 5 4 3 5 5 5
663 664 665 666 667 668 669 670	GUNTUR AUTOMACAR (ON RIKS OF GRAND TRUNK ROAD. BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KESSARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERLA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS MAHATMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LIS) MAHATMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS VIJAYAWADA CITY ELURU ROAD ETKURU (ION PRATHIPADU ROAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLOR DE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA ISKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE	Regular	150 150 100 150 150 150 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OPEN OBC ST OPEN	CC DC CFS CC	20 45 30 45 20 20 20 20 20	20 45 30 45 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400	25 25 25 0 25 25 25 25 0 25	10 75 10 0 10 10 60 0 10	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING DRAW OF LOT: DRAW OF LOT: BIDDING	30 15 30 0 30 30 30 15 0	5 5 4 3 5 5 5 4 3 5
663 664 665 666 667 668 669 670 671	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KIM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON RHS) VIJAYAWADA CITY LEURU BOAD ETRURU (ON PRATHIPADU ROAD) ETRURU (ON PRATHIPADU ROAD) FRUNDI (ON PRATHIPADU ROAD) FROM ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL GUNTIST ON MINI BYPASS ROAD	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR KRISHNA GUNTUR NELLORE NELLORE	Regular	150 150 100 150 150 150 150 150 150 160	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OPEN OBC ST OPEN OPEN	CC DC CFS CC CC DC CFS CC CC CC CC CC	20 45 30 45 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400	25 25 25 0 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 10 10	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING DRAW OF LOT: DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING	30 15 30 0 30 30 30 15 0 30	5 5 4 3 5 5 4 3 5
663 664 665 666 667 668 669 671 672	GUNTUR AUTOMACAR (ON RIKS OF GRAND TRUNK ROAD. BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KESSARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERLA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS MAHATMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LIS) MAHATMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS VIJAYAWADA CITY ELURU ROAD ETKURU (ION PRATHIPADU ROAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLOR DE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA ISKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE NELLORE KRISHNA	Regular	150 150 100 150 150 150 150 150 160	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	CC DC CC CFS CC	20 45 30 45 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400	25 25 25 20 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 10 10 60 10 10	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING DRAW OF LOT: DRAW OF LOT: BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT:	30 15 30 0 30 30 30 15 0 30 30	5 5 4 3 5 5 5 4 3 5
663 664 665 666 667 668 669 670 671 672 673 674	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KESSARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERLA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS MAHATHA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS VIJAYAWADA CITY ELURU ROAD ETKURL (ION PRATIED UMPAD ON RIS VIJAYAWADA CITY ELURU ROAD ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 15 CROSS, VIA ISKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE TO A THAN BYPASS ROAD POLISETIPADU - JELEAKUNTA ON NH VIJAYAWADA CITY BETS ROAD	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA KRISHNA KRISHNA	Regular	150 150 100 150 150 150 150 150 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OPEN OBC ST OPEN OPEN OPEN OPEN OPEN OPEN OBC OPEN OBC OPEN OBC	CC DC CFS CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING	30 15 30 0 30 30 15 0 30 30 15 0 30 30 30	5 5 4 3 3 5 5 5 4 4 5 5 5 5 5 5 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON RHS) VIJAYAWADA CITY LEURU ROAD ETRURU (ON PRATHIPADU ROAD) ETRURU (ON PRATHIPADU ROAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD SETTIMEN AND AND AND AND AND AND AND AND AND AN	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA NELLORE	Regular	150 150 150 150 150 150 150 150 150 150	OPEN Open CC 2 OBC CCC 1 SC CC 1 OPEN OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OBC	CC DC CFS CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 4	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 60 10 10 10 10 60	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 30 30 30 3	5 5 4 3 5 5 5 5 5 5 5 5 5 5 4 3 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KESSARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERLA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS MAHATHA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS VIJAYAWADA CITY ELURU ROAD ETKURL (ION PRATIED UMPAD ON RIS VIJAYAWADA CITY ELURU ROAD ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 15 CROSS, VIA ISKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE TO A THAN BYPASS ROAD POLISETIPADU - JELEAKUNTA ON NH VIJAYAWADA CITY BETS ROAD	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA KRISHNA KRISHNA	Regular	150 150 100 150 150 150 150 150 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OPEN OBC ST OPEN OPEN OPEN OPEN OPEN OPEN OBC OPEN OBC OPEN OBC	CC DC CFS CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING	30 15 30 0 30 30 15 0 30 30 15 0 30 30 30	5 5 4 3 3 5 5 5 4 4 5 5 5 5 5 5 5 5 5 5
663 664 665 666 667 668 669 671 672 673 674 675 676 677 678 679 680	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NIN-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS DHABAT ON RELIANCE PETROL PUMP ON LIS) MAHATIMA GANDH ININER RING ROAD (BETWEEN CHILLES DHABAT OR RELIANCE PETROL PUMP ON LIS) MAHATIMA GANDH ININER RING ROAD (BETWEEN CHILLES DHABAT OR RELIANCE PETROL PUMP ON RIS) VIJATAWADA CITY ELURI ROAD ANNAMYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINIB BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BETS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS)	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA MELLORE KRISHNA GUNTUR KRISHNA NELLORE KRISHNA	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OBC	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 30	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 900	25 25 25 25 25 25 25 25 25 25 25 25 25 2	10 75 10 0 10 10 10 10 10 10 10 10 60 10 10 60 60 0 10 60 60	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: DRAW OF	30 15 30 0 30 30 30 30 15 0 30 30 15 15 0 15 15 15	5 5 4 3 3 5 5 5 4 4 5 5 3 3 4 4
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NIN-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS) VIJATAWADA CITY ELURI ORAD ANNAMYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NANTYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS). KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BETS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, MINICIPAL LIMITS ON MYNADEY NILORE, MUNICIPAL LIMITS ON MYNADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, MINICIPAL LIMITS ON MYNADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, MINICIPAL LIMITS ON MYNADU ROAD NELORE MUNICIPAL LIMITS ON MYNADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, MINICIPAL LIMITS ON MYNADU ROAD NELORE MUNICIPAL LIMITS ON MYNADU ROAD NELORE MUNICIPAL LIMITS ON MYNADU ROAD VIJAYAWADA CITY (PAYAKAPURAM - RAMAVARAPADU INNER RING ROAD)	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR KRISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA GUNTUR MELLORE KRISHNA GUNTUR KRISHNA KRISHNA GUNTUR KRISHNA KRISHNA GUNTUR	Regular	150 150 150 150 150 150 150 150 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OPEN OPEN OPEN OPEN OPEN OPEN OBC OPEN OPEN OPEN OPEN SC OPEN OPEN OPEN OBC OPEN OBC	CC DC CC C	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 900 400	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 10 10 10 10 60 10 60 60 60 60 0	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT:	30 15 30 0 30 30 30 30 30 30 30 30 30 30 15 15 30 0 15 0 0 15	5 5 4 3 3 5 5 5 4 4 5 5 3 3 5 5 4 5 5 3 3 5 5 6 4 6 5 5 5 6 6 7 6 7 6 7 6 7 6 7 6 7 6 7 6
663 664 665 666 667 668 669 671 672 673 674 675 676 677 678 679 680	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SI (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS DHABA TO RELIANCE PETROL PUMP ON LIS) MAHATIMA GANDH ININER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS) WIJAYAWADA CITY ELURU ROAD ETRURU (ON PRATHIPADU ROAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS) FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS WIJAYAWADA CITY ELURU ROSS ROAD NELORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA DEN SAMANAMAY CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA DEN SAMANAMAY CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA DEN SAMANAMAY CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA DEN SAMANAMAY CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA DEN SAMANAMAY CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA DEN SAMANAMAY CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA TURURURU WILLORE MUNICIPAL LIMITS ON MYDAYAWADA CITY BRTS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTURURURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYPADU GOAD VIJAYAWADA CITY (PAYAKAPURAM - RAMAVARAPPADU INNER RING ROAD)	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA MELLORE KRISHNA GUNTUR KRISHNA NELLORE KRISHNA	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OBC	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 4	25 25 25 25 25 25 25 25 25 25 25 25 25 2	10 75 10 0 10 10 10 10 10 10 10 10 60 10 10 60 60 0 10 60 60	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: DRAW OF	30 15 30 0 30 30 30 30 15 0 30 30 15 15 0 15 15 15	5 5 4 3 3 5 5 5 4 4 5 5 3 3 4 4
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 679 680 681	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NI-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS DHABAT ON RELIANCE PETROL PUMP ON LIS) MAHATIMA GANDH ININER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LIS) MAHATIMA GANDH ININER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS) VILIAYAWADA CITY ELURU ROAD ETRURI (ION PRATHIPADU ROAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN KUMMARIPALEM - GOLLAPUGH LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS WILLORE MUNICIPAL LIMITS ON MINIB BYPAS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BRTS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MINIB DYASS VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELORE MUNICIPAL LIMITS NELORE MORDON BYRAGE MORDON BYRAGE RING ROAD) VIJAYAWADA CITY (PRYKARPUR SARPARA (SAWARARA RAMMAYARI AMMAYARI SCHOOLOR ROAD) GRAND THUNKE ROAD FROM SIR RAMARA KARARA RAMAYARARI AMMAYARI	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA KRISHNA GUNTUR KRISHNA	Regular	150 150 150 150 150 150 150 150 150 160 160 250 170 160 150 150 150 150 150 150 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OBC ST OPEN OPEN OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN OBC OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 30 30 15 30 30 30 30 30 30 30 30 30 30 30 30 30	5 5 4 3 5 5 5 4 4 5 5 3 3 4 4 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 679 680	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NIN-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS MHAHTAM GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LIS) MAHATHA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS) VIJAYAWADA CITY ELURU ROAD ANNAMYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA BKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS WILLORE MUNICIPAL LIMITS ON MINIB WPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BETS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASSI ON VIJAYAWADA CITY (PAYAKAPURAM - RAMAYARAPADU INNER RING ROAD) VIJAYAWADA CITY (PAYAKAPURAM - RAMAYARAPADU INNER RING ROAD) VIJAYAWADA CITY (PAYAKAPURAM - RAMAYARAPADU INNER RING ROAD)	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA GUNTUR MELLORE KRISHNA GUNTUR KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA	Regular	150 150 150 100 150 150 150 150 150 160 160 250 170 160 150 150 150 150 150 150 150 150 150 15	OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400	25 25 25 20 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 10 60 0 10 10 60 60 10 10 10 10 10 10 10 10 10 10 10 10 10	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING BRAW OF LOT: BRAW BRAW BRAW BRAW BRAW BRAW BRAW BRAW	30 15 30 0 30 30 30 30 30 30 30 30 15 0 30 15 15 30 30 15 15 30 30 30 30 30 30 30 30 30 30 30 30 30	5 5 4 3 3 5 5 5 4 4 5 5 3 3 4 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 680 681	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDICAMA ON RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MHAHTMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABAT OT RELIANCE PETROL PUMP ON LHS) MHAHTMA GANDH INNER RING ROAD (BETWEEN CHILLES DHABAT OT RELIANCE PETROL PUMP ON RHS) VIUAYAWADA CITY LEURUR ROAD ETKURL (ON PRATHIPADU BOAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN MELLORE MUNICIPAL LIMITS), FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA ISKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BATS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAD NAWABPET, WTHIN NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYPADU ROAD VUTAYAWADA CITY BATS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAD NAWABPET, WTHIN NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYPADU ROAD VUTAYAWADA CITY (PAYAKAPURAM - RAMAYARAPADU INNER RING ROAD) VUTAYAWADA CITY (WITH IN 18 KM FROM N.T. R. CIRCLE (ON KRISHNAVENI SCHOOL ROAD) GRAND TRUNK ROAD FROM SHI RAJARALESWARI AMMAYARI DEVASTHAMAM TO NHEJ OW YEODAYPAPLEM (WITHIN) NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SHI RAJARALESWARI AMMAYARI DEVASTHAMAM TO NHEJ OW YEODAYPAPLEM (WITHIN) NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SHI RAJARALESWARI AMMAYARI DEVASTHAMAM TO NHEJ OW YEODAYPAPLEM (WITHIN) NELLORE MUNICIPAL LIMITS)	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR KISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA GUNTUR NELLORE KRISHNA	Regular	150 150 150 150 150 150 150 150 150 160 160 250 170 160 150 150 150 150 150 150 150 150	OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 30 30 15 30 30 30 30 30 30 30 30 30 30 30 30 30	5 5 4 3 5 5 5 4 4 5 5 3 3 4 4 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 679 680 681	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SI (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS DHABAT ON RELIANCE PETROL PUMP ON LIS) MAHATIMA GANDH ININER RING ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS) WIJIAYAWADA CITY ELURU ROAD ETRURU (ON PRATHIPADU ROAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN KUMMARIPALEM CONTROL PUMP ON LIS) FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS WIJIAYAWADA CITY ELURU ROSS ROAD NELLORE MUNICIPAL LIMITS ON MINIB BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT SUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELORE MUNICIPAL LIMITS ON MINIB BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BRTS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLOBE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY (WITHI NI KUM RROM N.T.R. CIRCLE (ON KRISHNAVENI SCHOOL ROAD) GRAND TBULKS KOAD FROM SIR BARARAJESWARI AMMAVARI DEVASTHANAM TO NH 50 VIA VEDAYARAE (WITHIN NELLORE MUNICIPAL LIMITS) ON TRINN ROAD FROM ATMAKUR BUSTAND TO MGB MALL VIA MADRAS BUS STAND (WITHIN TSLORE MUNICIPAL LIMITS) ON TRINN ROAD FROM ATMAKUR BUSTAND TO MGB MALL VIA MADRAS BUS STAND (WITHIN TSLLORE MUNICIPAL LIMITS) UNIMARUR SULLORE MUNICIPAL LIMITS) ON TRINN ROAD FROM ATMAKUR BUSTAND TO MGB MALL VIA MADRAS BUS STAND (WITHIN TSLLORE MUNICIPAL LIMITS) UNIMARUR SULLORE MUNICIPAL LIMITS) UNIMARUR SULLORE MUNICIPAL LIMITS) UNINGRA MARUR BUSTAND TO MGB MALL VIA MADRAS BUS STAND (WITHIN TSLLORE MUNICIPAL LIMITS) LIMITS!	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA KRISHNA GUNTUR KRISHNA	Regular	150 150 150 150 150 150 150 150 150 150	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OBC ST OPEN OPEN OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN OBC OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400	25 25 25 25 25 25 25 25 25 25 25 25 25 2	10 75 10 0 10 10 10 10 10 10 10 60 10 10 60 10 10 10 60 10 60 10 60 60 60 10 10 60	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 0 30 15 30 30 15 30 30 15 15 30 30 15	5 5 4 3 5 5 4 4 3 5 5 4 4 5 5 4 5 5 4 4 5 5 4 5 4
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 680 681	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RHS) VUAYAWADA CITY ELURU ROAD ETRURU (ION PRATHIPADU ROAD) ANNAMYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN MELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VILAYAWADA CIRCL END ATMAKUR BUS STAND) GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYPADD ROAD VIJAYAWADA CITY (BYTA KAPURAPHA PADU ROAD VIJAYAWADA CITY (BYTA KAPURAPHA PADU ROAD VIJAYAWADA CITY (BYTH IN SEL MGROAD) VIJAYAWADA CITY (BYTH IN SE MGAD) VIJAYAWADA CITY (WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY (WITHIN SEL MIS ROAD) VIJAYAWADA CITY (WITHIN	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR KISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA GUNTUR NELLORE KRISHNA	Regular	150 150 150 150 150 150 150 150 150 150	OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400	25 25 25 25 25 25 25 25 25 25 25 25 25 2	10 75 10 0 10 10 10 10 10 10 10 60 10 10 60 10 10 10 60 10 60 10 60 60 60 10 10 60	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 0 30 15 30 30 15 30 30 15 15 30 30 15	5 5 4 3 5 5 5 4 3 5 5 5 4 4 5 5 5 4 4 5 5 5 4 4 5 5 5 4 4 5 5 5 4 4 5 5 4 5 4 5 5 4 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 679 680 681 682	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MHAHTMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON LHS) MHAHTMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON RHS) WILLYAWADA CITY LEURU ROAD ETKURU (ON PRATHIPADU ROAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS IN LIMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BRTS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYPADU BOAD VIJAYAWADA CITY (PRYAKAPURA) CHY BRTS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYPADU BOAD VIJAYAWADA CITY (PRYAKAPURA PRAMAVARAPADU INNER RING ROAD) VIJAYAWADA CITY (PRYAKAPURA PRAMAVARAPADU INNER RING ROAD) VIJAYAWADA CITY (PRYAKAPURA PRAMAVARAPADU UNNER RING ROAD) VIJAYAWADA CITY (PRYAKAPURA PRAMAVARAPADU INNER RING ROAD) VIJAYAWADA CITY (PRYAKAPURA PRAMAVARAPADU INNER RING ROAD) VIJAYAWADA CITY (PRYAKAPURA PRAMAVARAPADU INNER RING ROAD) VIJAYAWADA CITY (PRYAKAPURA WE DAYAPALEM (MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SRI RAJARALESWARI AMMAVA BY LURING ROAD FROM SRI RAJARALESWARI AMMAVA BY LURING ROAD FROM SRI RAJARALESWARI AMMAVA VIJAYAWADA CITY (PRYAKAPURA TO THE WE VEDAYAPALEM (MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SRI RAJARALESWARI AMMAVA VIJAYAWADA CITY (PRYAKAPURA TO THE WE VEDAYAPALEM (MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SRI RAJARALESWARI AMMAVA VIJAYAWADA CHOR CHOM SRI RAJARALESWARI AMMAVA	GUNTUR KRISHNA GUNTUR GUNTUR GUNTUR GUNTUR KRISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA GUNTUR KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA	Regular	150 150 150 150 150 150 150 150 150 160 160 250 170 160 150 150 170 170 180	OPEN Open CC 2 OBC CC 1 SC CC 1 OPEN OBC ST OPEN OPEN OBC OPEN OBC OPEN OBC OPEN SC OPEN OBC OPEN OBC OPEN SC OPEN SC OPEN OBC OPEN SC OPEN OBC OPEN OBC OPEN OBC OPEN OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 20 25 25 25 25 25 25 25 25 25 25 25 26 27 27 28 28 29 20 20 20 20 20 20 20 20 20 20 20 20 20	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: DRAW OF LOT: DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: DRAW OF LOT: BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING	30 15 30 0 30 30 30 30 30 30 30 15 30 30 15 30 30 15 5 0 15 0 1	5 5 4 3 5 5 5 4 5 5 4 5 5 4 5 5 4 5 5 5 4 5 5 5 4 5 5 5 4 5 5 5 5 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 679 680 681 682	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDICAMA ON RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MHAHTMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT OT RELIANCE PETROL PUMP ON LHS) MHAHTMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT OT RELIANCE PETROL PUMP ON RHS) VILVAYAWADA CITY LEURU ROAD ETKURU (ON PRATHIPADU ROAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN MELLORE MUNICIPAL LIMITS), FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BRTS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURUN VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY (PRYAKAPURA HANDA HANDA PADU BYPASS) VUTUKURUN VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY (PRYAKAPURA MARNAMA RAPADU INNER RING ROAD) VIJAYAWADA CITY (PRYAKAPURA MARNAMA RAPADU INNER RING ROAD) VIJAYAWADA CITY (WITH NI 1 KM FROM N.T.R. CIRCLE (ON KRISHNAVENI SCHOOL ROAD) GRAND TRUNK ROAD FROM SHI RAJARAJESWABH AMMAVAR DEVASTHAMAMA TO NHA GWA VEDAYAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SHI RAJARAJESWABH AMMAVAR DEVASTHAMAMA TO NHA GWA VEDAYAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SHI RAJARAJESWABH AMMAVAR DEVASTHAMAMA TO NHA GWA VEDAYAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SHI RAJARAJESWABH AMMAVAR DEVASTHAMAMA TO NHA GWA VEDAYAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SHI RAJARAJESWABH AMMAVAR DEVASTHAMAMA TO NHA GWA VEDAYAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SHI RAJARAJESWABH AMMAVAR DEVASTHAMAMA TO NHA GWA VEDAYAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUN	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA GUNTUR KRISHNA	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OBC OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 20 25 25 25 25 25 25 25 25 25 25 25 26 27 25 27 27 27 28 28 29 20 20 20 20 20 20 20 20 20 20 20 20 20	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 30 30 15 5 0 30 15 0 30 30 30 30 30 30 30 30 30 30 30 30 3	5 5 4 3 5 5 4 4 5 5 5 4 4 5 5 5 4 4 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 679 680 681 682 683	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NIN-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS MHAHTAM GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LIS) MAHATHA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS) VIJAYAWADA CITY ELURU ROAD ANNAMYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS WILLORE MUNICIPAL LIMITS ON MINIB WPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BETS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VIJAYAWADA CITY (WITHIN SO M MYPADU BYPASS) VIJAYAWADA CITY (WITHIN SO MYPADU BYPASS) VIJAYAWADA CITY (WITHIN SO MYPADU BYPASS) ON TRUNK ROAD FROM SI RAJARAJESWARI AMMAYARI DENSTHANAM TO NHIS VIN YEDAYAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SI RAJARAJESWARI AMMAYARI DENSTHANAM TO NHIS VIR YEDAYAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) GUNTUR TOWN (BETWEEN NTR MUNCIPAL STADIUM AND CHEBROLU HANIMAYYA STATUE] GUNTUR TOWN (BETWEEN NTR MUNCIPAL STADIUM AND CHEBROLU HANIMAYYA STATUE] GUNTUR TOWN (BETWEEN NTR MUNCIPAL STADIUM GENERAL BROAD GONTON (SERWEEN NTR MUNCIPAL STADIUM GENERAL BROAD GONTON (SERWEEN NTR MUNCIPAL STADIUM GENERAL BROAD COLLEGE	GUNTUR KRISHNA GUNTUR GUNTUR GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA MELLORE KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA KRISHNA NELLORE KRISHNA	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OBC OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 25 25 25 25 25 25 25 25 25 25 2	10 75 10 0 10 10 10 10 10 10 10 10 10 60 10 10 10 60 60 10 10 60 60 10 10 10 10 10 10 10	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 30 30 15 30 15 0 30 30 30 30 30 30 30 30 30 30 30 30	5 4 3 5 5 4 3 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 6 6 7 8 8 8 8 8 8 8 8 8 8 8 8 8
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 679 680 681 682 683	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KIM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS DHABAT O RELIANCE PETROL PUMP ON LHS) MAHATIMA GANDH ININER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATIMA GANDH ININER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RHS) VIJAYAWADA CITY ELURU ROAD FERURU (ION PRATHIPADU ROAD) ANNAMAY'A CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS) FROM ANNAMAY'A CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BETS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWARDET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADO ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADO ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADO ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADO ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHS ÓW VEDAVPAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHS ÓW VEDAVPAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHS ÓW VEDAVPAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHS ÓW VEDAVPAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHS ÓW VEDAVPAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHS ÓW OW FOR TO NHS	GUNTUR KRISHNA GUNTUR GUNTUR GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA GUNTUR KRISHNA NELLORE KRISHNA KRISHNA KRISHNA KRISHNA GUNTUR MELLORE KRISHNA KRISHNA GUNTUR NELLORE KRISHNA KRISHNA KRISHNA GUNTUR MELLORE KRISHNA NELLORE	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OBC	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 26 27 27 28 28 29 29 20 20 20 20 20 20 20 20 20 20 20 20 20	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: DRAW OF LOT: DRAW OF LOT: BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 30 30 15 30 30 15 5 30 30 30 30 15	5 5 4 3 5 5 4 5 5 4 5 5 4 5 5 5 4 4 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 679 680 681 682 683 684 685 686	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KIM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS MANDICAMAN ON RHS MACHERIA ON SHI (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON RHS) MELLORE AND HINGER THE ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON RHS) FINAND (IN THE RELORE THOLE ON THE SHE WILLIAM SHADA CITY ELURU BOAD ETRURU (ON PRATHIPADU ROAD) FINANDAYAY GIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS) FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISTITIPADU - JECLAKUNITA ON NH VIJAYAWADA CITY BETS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL VIJAYAWADA CITY WITH STADA VIJAYAWADA CITY WITH STADA VIJAYAWADA CITY WITHIN SIN MYPADU ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY WITHIN SIN MYPADU ROAD VIJAYAWADA CITY WITHIN SIN MYPADU ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY WITHIN NELVORE MUNICIPAL LIMITS ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALAU MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALAU MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALAU MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR BAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALE UM MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR BAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALE ON MYTHIN NELORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR BAJARAJESWARI AMMAVARI DEVAST	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA MELLORE KRISHNA KRISHNA KRISHNA KRISHNA GUNTUR MELLORE KRISHNA KRISHNA GUNTUR MELLORE KRISHNA KRISHNA GUNTUR MELLORE KRISHNA KRISHNA KRISHNA KRISHNA MELLORE KRISHNA NELLORE GUNTUR MELLORE GUNTUR NELLORE	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OBC OPEN OPEN OBC OPEN OPEN OBC OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 26 27 27 28 28 29 29 20 20 20 20 20 20 20 20 20 20 20 20 20	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING PRAW OF LOT: BIDDING PRAW OF LOT: BIDDING PRAW OF LOT: BIDDING PRAW OF LOT: BIDDING BIDDING PRAW OF LOT: BIDDING BIDDING PRAW OF LOT: BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING PRAW OF LOT: BIDDING PRAW OF LOT: BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 30 30 15 30 30 15 5 30 30 30 15 30 30 30 30 30 30 30 30 30 30 30 30 30	5 5 4 3 3 5 5 5 4 3 3 5 5 5 4 3 3 5 5 5 4 3 3 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 680 681 682 683 684 685 686	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NI-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS MANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS MHAHTAM GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LIS) MAHATHA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS) WILLYAWADA CITY ELURU ROAD ANNAMYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT KKUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINIB BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VILAYAWADA CITY LET STAND GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM ASI RIRAJRAVESWARI AMMAVARI DEVASTHANAM TO NHA GVI NE KRING ROAD) VIJAYAWADA CITY (PAYAKAPURAM - RAMAYARAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM ASI RIRAJRAVESWARI AMMAVARI DEVASTHANAM TO NHA GVI NE KRING ROAD) PODAUBUR HORD FROM SI RIRAJRAVESWARI AMMAVARI DEVASTHANAM TO NHA GVI NE KRING ROAD) PODNURUR MINGEPALITY IN LIMITS (NOT ON SH) APOLLOR BUNICIPAL LIMITS) PONNURUR MINGEPALITY LIMITE (NOT ON SH) APOLLOR BUNICIPAL LIMITS) PONNURUR MINGEPALITY LIMITE (NOT ON SH) APOLLOR BUNICIPAL LIMITS) PONNURUR MINGEPALITY LIMITE (NOT ON SH) APOLLOR BUNICIPAL LIMITS) CHILDREN'S PARR ROAD WITHIN NELLORE MUNICIPAL LIMITS CHILDREN'S PARR ROAD WITHIN NELLORE MUNICIPAL LIMITS CHILDREN'S PAR	GUNTUR KRISHNA GUNTUR GUNTUR GUNTUR GUNTUR KRISHNA GUNTUR NELLORE NELLORE KRISHNA NELLORE KRISHNA GUNTUR KRISHNA KRISHNA KRISHNA GUNTUR NELLORE KRISHNA GUNTUR NELLORE KRISHNA GUNTUR MELLORE KRISHNA NELLORE KRISHNA NELLORE KRISHNA NELLORE KRISHNA NELLORE KRISHNA NELLORE KRISHNA NELLORE	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OPEN OPEN OPEN OBC OBC OPEN OBC OBC OPEN OBC	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 26 27 25 27 25 27 25 27 25 27 27 27 28 28 29 29 20 20 20 20 20 20 20 20 20 20 20 20 20	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: DRAW OF LOT: BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 30 30 15 30 30 15 5 30 30 15 5 0 30 30 15	5 5 4 3 5 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 4 5 5 4 5 5 4 5 5 4 5 5 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8
663 664 665 666 667 668 669 670 671 672 673 674 675 676 678 679 680 681 682 683 684 685 686 687	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KIM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS MANDICAMAN ON RHS MACHERIA ON SHI (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON RHS) MELLORE AND HINGER THE ROAD (BETWEEN CHILLES DHABAT O RELIANCE PETROL PUMP ON RHS) FINAND (IN THE RELORE THOLE ON THE SHE WILLIAM SHADA CITY ELURU BOAD ETRURU (ON PRATHIPADU ROAD) FINANDAYAY GIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS) FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISTITIPADU - JECLAKUNITA ON NH VIJAYAWADA CITY BETS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL VIJAYAWADA CITY WITH STADA VIJAYAWADA CITY WITH STADA VIJAYAWADA CITY WITHIN SIN MYPADU ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY WITHIN SIN MYPADU ROAD VIJAYAWADA CITY WITHIN SIN MYPADU ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY WITHIN NELVORE MUNICIPAL LIMITS ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALAU MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALAU MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR RAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALAU MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR BAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALE UM MYTHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR BAJARAJESWARI AMMAVARI DEVASTHAMAN TO NHES 'UX PEDAYAPALE ON MYTHIN NELORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SIR BAJARAJESWARI AMMAVARI DEVAST	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA MELLORE KRISHNA KRISHNA KRISHNA KRISHNA GUNTUR MELLORE KRISHNA KRISHNA GUNTUR MELLORE KRISHNA KRISHNA GUNTUR MELLORE KRISHNA KRISHNA KRISHNA KRISHNA MELLORE KRISHNA NELLORE GUNTUR MELLORE GUNTUR NELLORE	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OPEN OPEN OPEN OBC OPEN OPEN OPEN OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 26 27 27 28 28 29 29 20 20 20 20 20 20 20 20 20 20 20 20 20	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: DRAW OF LOT: DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: DRAW OF LOT: DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING	30 15 30 0 30 30 30 30 30 30 30 30 15 30 30 15 30 30 15 5 30 30 15 5 30 30 15 5 30 30 15	5 5 4 3 3 5 5 5 4 3 3 5 5 5 4 4 3 3 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 679 680 681 682 683 684 685 686 687 688 689 690 691 692	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS MACHERIA ON SH (RAILWAY GATE TO SAGAX X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MACHERIA ON SH (RAILWAY GATE TO SAGAX X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS DHABAT O RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH ININER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH ININER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RHS) VUAYAWADA CITY LEURU ROAD ETRURU (ION PRATHIPADU ROAD) ANNAMYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BYTS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYPADD ROAD VIJAYAWADA CITY (WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADD ROAD VIJAYAWADA CITY (WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADD ROAD VIJAYAWADA CITY (WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADD ROAD VIJAYAWADA CITY (WITHIN NEL KIM FROM N.T.R. CIRCLE (ON RING ROAD) VIJAYAWADA CITY (WITHIN NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM ATMAKUR BUSTAND TO MGB MALL LIMITS) GUNTUR TOWN (SEWEN NITHIN NELLORE MUNICIPAL LIMITS) GUDAVALLI TO RASADAMPADU ON NI HRIS GUDAVALLI TO RASADAMPADU ON NI HRIS GUDAVA	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA NELLORE KRISHNA NELLORE GUNTUR GUNTUR MELLORE GUNTUR NELLORE GUNTUR NELLORE KRISHNA NELLORE	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 26 27 27 28 28 29 29 20 20 20 20 20 20 20 20 20 20 20 20 20	10 75 10 0 10 10 10 10 10 10 10 10 10 10 10 1	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING	30 15 30 30 30 30 30 30 30 30 30 15 30 30 15 30 30 15 5 30 30 15 5 0 30 30 15 5 0 30 15 5 0 30 15 5 0 30 15	5 5 4 3 3 5 5 5 4 3 3 5 5 5 4 3 3 5 5 5 4 3 3 5 5 5 4 3 3 5 5 5 4 3 3 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 680 681 682 683 684 685 686 687 688	GUNTUR AUTOMACAR (ON RHS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NH-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDICAMA ON RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MHAHTMA GANDH ININER RINK GADE (BETWEEN CHILLES DHABAT OT RELIANCE PETROL PUMP ON LHS) MHAHTMA GANDH ININER RINK ROAD (BETWEEN CHILLES DHABAT OT RELIANCE PETROL PUMP ON RHS) VIUVAYAWADA CITY LEURUR ROAD ETKURL (ON PRATHIPADU BOAD) ANNAMAYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS), FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA ISKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY (BTS TROILUM TO BUDDAMPADU BYPASS) GUNTUR TOWN (BR STADIUM TO BUDDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WTHINI NELLORE MUNICIPAL LIMITS NELLORE MUNICIPAL LIMITS ON MYAPADU ROAD VUTAYAWADA CITY (WITH HI S KM FROM N.T. R. CIRCLE (ON KRISHNAVENI SCHOOL ROAD) VIJAYAWADA CITY (WITH HI S KM FROM N.T. R. CIRCLE (ON KRISHNAVENI SCHOOL ROAD) GRAND TRUNK ROAD FROM SHI RAJARAUSEWARD INNER RING ROAD) VIJAYAWADA CITY (WITH HI S KM FROM N.T. R. CIRCLE (ON KRISHNAVENI SCHOOL ROAD) PODALECTER MUNICIPAL LIMITS ON TRUNK ROAD FROM SHI RAJARAUSEWARD INNER BURSTAND ON FROM SHI RAJARAUSEWARD ADU INNER BURSTAND ON FROM SHI RAJARAUSEWARD ADU INNER BURSTAND ON FROM SHI RAJARAUSEWARD ADU INNER BURSTAND ON FROM SHI RAJARAUSEWARD AMMAVAR PUTAYAWADA CITY (WITH HI NELLORE MUNICIPAL LIMITS) ON TRUNK ROAD FROM SHI RAJARAUSEWARD AMMAVAR PUTAYAWADA CITY (WITH HI SHE ROAD ON HIS SHI SHI SHI SHI SHI SHI SHI SHI SHI	GUNTUR KRISHNA GUNTUR NELLORE GUNTUR GUNTUR KISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA NELLORE KRISHNA KRISHNA NELLORE GUNTUR NELLORE KRISHNA NELLORE KRISHNA NELLORE KRISHNA NELLORE NELLORE KRISHNA PRAKASAM NELLORE KRISHNA PRAKASAM NELLORE KRISHNA PRAKASAM NELLORE KRISHNA	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 20 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 10 10 60 10 10 60 60 10 10 60 60 10 10 60 60 10 10 60 60 10 10 60 60 10 10 60 60 10 10 60 60 60 10 10 60 60 60 60 60 60 60 60 60 60 60 60 60	BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT:	30 15 30 0 30 30 30 30 30 30 30 15 0 30 30 15 5 0 30 15 15 0 30 30 15 15 0 30 15 15 0 30 15 15 0 30 15 15 0 30 15 15 0 30 15 0	5 5 4 3 3 5 5 5 4 4 3 3 5 5 5 4 4 3 3 5 5 5 4 4 3 3 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 680 681 682 683 684 685 686 687 688 689 690 691 692 693	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NOI-16) ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS NANDIGAMA ON RIS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RIS MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LIS) MAHATMA GANDH INNER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RIS) WILLYAWADA CITY ELURU ROAD ANNAMYYA CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS). FROM ANNAMAYYA CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMIT KUMMARIPALEM - GOLLAPUDI Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINIB WPASS ROAD (BETWEEN ANNAMAYYA CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VILAYAWADA CITY LET AND AND AND BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWABPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON TRUNK ROAD FROM SI RAJARAJESWARI AMMAVARI DEVASTHANAM TO NHA GYA VEDAYAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) GUNTUR TOWN (BETWEEN NTR MUNICIPAL STADIUM AND CHEBROLU HANIMAYAY STATUE) PONNURU MINICIPAL LIMITS) GUNTUR TOWN (BETWEEN NTR MUNICIPAL STADIUM AND CHEBROLU HANIMAYAY STATUE) PONNURU MINICIPAL LIMITS) GUNTUR TOWN (BETWEEN NTR MUNICIPAL STADIUM AND CHEBROLU HANIMAYAY STATUE) PONNURU MINICIPAL LIMITS GUDAYALUR OAD FROM SI RAJARAJESWARI AMMAVARI PONNURU MINICIPAL LIMITS GUDAYALUR OAD FROM SI RAJARAJESWARI AMMAVARI PONNURU MINICIPAL LIMITS GUDAYALUR OAD FROM SI RAJARAJESWARI AMMAVARI PONNURU MINICIPAL LIMITS GUDAYALITO ROAD ON HIS (PRAKASHAM DISTRICT) MULUMUDI ROAD-RELORE MUNICIPAL LIMITS GUDAYALITO ROAD ON HIS (PRAKASHAM DI	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA NELLORE KRISHNA NELLORE GUNTUR GUNTUR MELLORE GUNTUR NELLORE GUNTUR NELLORE KRISHNA NELLORE	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 20 25 25 25 25 25 25 25 25 25 26 27 25 27 27 28 28 29 20 20 20 20 20 20 20 20 20 20 20 20 20	10 75 10 0 10 10 10 10 10 10 10 60 10 10 60 10 10 60 60 10 10 60 10 10 60 60 10 10 60 60 60 60 60 60 60 60 60 60 60 60 60	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING	30 15 30 0 30 30 30 30 30 30 30 15 30 30 15 30 30 15 50 30 30 15 50 30 15 50 30 15 50 50 50 50 50 50 50 50 50 50 50 50 50	5 5 4 3 3 5 5 5 4 4 3 3 5 5 5 4 4 3 3 5 5 5 5
663 664 665 666 667 668 669 670 671 672 673 674 675 676 677 678 680 681 682 683 684 685 686 687 688 689 690 691 692 693 694 695	GUNTUR AUTOMACAR (ON RIS OF GRAND TRUNK ROAD BETWEEN RELIANCE PETROL PUMP AND NOI-16) ONE KIM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) MELLORE TO BITRAGUNTA ON NH 16 RHS MACHERIA ON SH (RAILWAY GATE TO SAGAR X ROAD) NELLORE TO BITRAGUNTA ON NH 16 RHS DHABAT O RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH ININER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON LHS) MAHATMA GANDH ININER RINK ROAD (BETWEEN CHILLES DHABA TO RELIANCE PETROL PUMP ON RHS) VIJAYAWADA CITY ELURU ROAD FERURU (ION PRATHIPADU ROAD) ANNAMAY'A CIRCLE TO AYYAPPAGUDI CENTRE (WITHIN NELLORE MUNICIPAL LIMITS) FROM ANNAMAY'A CIRCLE TO GOLGAMUDI NH 16 CROSS, VIA SKCON TEMPLE WITHIN NELLORE MUNICIPAL LIMITS KUMMARIPALEM - GOLLAPUDI'Y CROSS ROAD NELLORE MUNICIPAL LIMITS ON MINI BYPASS ROAD (BETWEEN ANNAMAY'A CIRCLE AND ATMAKUR BUS STAND) POLISETTIPADU - JEELAKUNTA ON NH VIJAYAWADA CITY BETS ROAD GUNTUR TOWN (BR STADIUM TO BUDAMPADU BYPASS) VUTUKURU VILLAGE, KROSURU MANDAL NAWARPET, WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS NELORE MUNICIPAL LIMITS ON MYPADU ROAD VIJAYAWADA CITY WITHIN NELLORE MUNICIPAL LIMITS ON TRUNK ROAD FROM ATMAKUR BUSSWARI AMMAVARI DEVASTHAMAN TO NHS OW VEDAVPAPALEM (WITHIN NELLORE MUNICIPAL LIMITS) GUNTUR TOWN (BETWEEN NITH NELLORE MUNICIPAL LIMITS GUNTUR TOWN (BETWEEN NITHIN NELLORE MUNICIPAL LIMITS CHILDREN'S PARK ROAD WITHIN NELLORE MUNICIPAL LIMITS THU TO KAWALI ROAD ON HIS (PRAKASH	GUNTUR KRISHNA GUNTUR MELLORE GUNTUR GUNTUR GUNTUR KRISHNA GUNTUR NELLORE KRISHNA NELLORE KRISHNA NELLORE KRISHNA KRISHNA NELLORE NELLORE KRISHNA NELLORE NELLORE KRISHNA PRAKASAM NELLORE KRISHNA PRAKASAM NELLORE NELLORE NELLORE NELLORE NELLORE NELLORE	Regular	150 150 150 150 150 150 150 150 150 150	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	CC	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	20 45 30 45 20 20 20 20 20 20 20 20 20 20 20 20 20	400 2025 900 2025 400 400 400 400 400 400 400 400 400 40	25 25 25 20 25 25 25 25 25 25 25 25 25 25 25 25 25	10 75 10 0 10 10 10 10 10 10 60 0 10 10 60 60 10 10 60 60 10 10 60 60 10 10 60 60 60 45	BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING BIDDING DRAW OF LOT: BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: BIDDING BIDDING DRAW OF LOT: DR	30 15 30 0 30 30 30 30 30 30 15 0 30 30 15 15 30 30 15 15 0 30 30 15 15 15 30 30 15 15 15 15 15 15 15 15 15 15 15 15 15	5 5 4 3 3 5 5 4 4 5 5 5 4 4 3 3 5 5 5 4 4 3 3 5 5 5 4 4 4 5 5 5 4 4 5 5 5 4 4 5

							1	1	1					
698	NTR MARG ROAD (BETWEEN RAMALAYAM TEMPLE TO VR SIDDARTHA ENGINEERING COLLEGE), LHS	KRISHNA	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
699	TENALI TOWN (PEMMASANI THEATRE TO CHINARAVURU	GUNTUR	Regular	100	ОВС	DC	30	30	900	25	45	DRAW OF LOTS	15	4
	PARK) PENNA RIVER BRIDGE, NELLORE TO NARAYANA REDDYPET													
700	WITHIN NELLORE MUNICIPAL LIMITS	NELLORE	Regular	160	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
701	CHILAKALURIPETA TOWN (NOT ON HIGHWAY)	GUNTUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
702	TADEPALLI TOWN- ON THE MAIN ROAD TOWARDS NH-16	GUNTUR	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
703	KANDRICA- ON THE MAIN ROAD TOWARDS NUZVID ON EITHER SIDE	KRISHNA	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
704	NORTH RAJUPALEM TO YELLAYAPALEM, KODAVALUR	NELLORE	Regular	100	OPEN CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	5
705	MANDAL TADEPALLI-ON TRUNK ROAD-EITHER SIDE	GUNTUR	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
706	MACHILIPATNAM BYE PASS ROAD	KRISHNA	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
707	VIJAYAWADA CITY (CHANUMOLU VENKATA RAO FLY OVER - CHITTI NAGAR)	KRISHNA	Regular	250	OPEN	cc	20	20	400	25	10	BIDDING	30	5
708	GURUNANAK COLONY ROAD (FROM RAMESH HOSPITAL JUNCTION TO AUTONAGAR) LHS	KRISHNA	Regular	150	OPEN	cc	20	20	400	25	10	BIDDING	30	5
709	MARKAPURAM TOWN	PRAKASAM	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
710	2.5 KM ON EITHER SIDE OF MUNGAMURU DONKA (TRAFFIC SIGNAL) IN ONGOLE TOWN ON OLD NH 16 TOWARDS	PRAKASAM	Regular	100	sc	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
710	CHENNAI	FRANCIAN	Negulai	100	30	CIS	30	30	300	·	Ů	SILAW OF LOT.		,
711	VIJAYAWADA MUNICIPALITY LIMITS - OLD CHECK POST ROAD	KRISHNA	Regular	150	OPEN	cc	20	20	400	25	10	BIDDING	30	5
	(FROM NH 65 JN TO YANAMALAKUDURU LOCKS) LHS	Mashari		150			20	20	400					-
712	VIJAYAWADA MUNICIPALITY LIMITS - OLD CHECK POST ROAD	KRISHNA	Regular	150	OPEN	cc	20	20	400	25	10	BIDDING	30	5
	(FROM NH 65 TO JN TO YANAMALAKUDURU LOCKS) RHS													
713	KAMINENI HOSPITAL ROAD (IN BETWEEN ENKIPADU ELURU	KRISHNA	Regular	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
	ROAD CROSS & TADIGADAPA BANDAR ROAD CROSS) LHS													
714 715	SATTENAPALLE MUNICIPAL LIMITS (NOT ON SH) PETLURIVARIPALEM (ON NH)	GUNTUR GUNTUR	Regular Regular	100 150	OBC CC 1 ST CC 1	DC CFS	30 45	30 45	900 2025	25 0	45 0	DRAW OF LOTS	15 0	3
716	RHS ON ANASAGARAM - NAWABPETA ON NH	KRISHNA	Regular	150	Open PH	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
717	ONGOLE - KOTHAPATNAM BUS STAND TO KOTHAPATNAM ROAD WITHIN 5 KM.	PRAKASAM	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
718	VUAYAWADA CITY WITHIN MUNCIPAL LIMITS GUDIVADA TOWN (NEHRU CHOWK TO NAGAVARAPPADU	KRISHNA	Regular	250	OPEN	CC	20	20	400	25	10	BIDDING	30	5
719	BRIDGE) LHS (NOT ON HIGHWAY)	KRISHNA	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
720	VIJAYAWADA CITY (SITARA CONVENTION CENTRE - KABELA)	KRISHNA	Regular	250	OPEN	CC	20	20	400	25	10	BIDDING	30	5
721	NARASARAOPET TOWN (MALLAMMA CENTRE TO RLY		Regular	100	OBC	DC	30		900	25	45	DRAW OF LOTS	15	4
721	STATION) NOT ON SH VIJAYAWADA CITY (YV RAO ESTATE-PAMULA KALUVA)	GUNTUR	Regular	100	OPEN	CC	30 20	30 20	900 400	25	10	BIDDING	30	5
723	VIJAYAWADA CITY (YV RAO ESTATE-PIPULA ROAD AT INNER	KRISHNA	Regular	150	OPEN	cc	20	20	400	25	10	BIDDING	30	5
724	RING ROAD) RHS SULLURPETA (NOT ON NH)- within municipal limits	NELLORE	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
724	MANGALAGIRI TOWN (ON TRUNK ROAD) WITHIN	GUNTUR	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
	MUNCIPALITY LIMITS YANAMADALAKUDURU-ON ROAD SIDE TOWARDS	GOIVION	Negulai	100			30	30	900		45	SILAW OF LOT.		
726	KARAKATTA	KRISHNA	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
727	ENUGUPALEM VILLAGE, VINUKONDA MANDAL SANGAM TO NELLOREPALEM WITH IN 4 KM FROM SANGAM	GUNTUR	Regular	100	OPEN CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	5
728	JUNCTION ON NH (LHS)	NELLORE	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
729	JAGGAIAHPET TOWN (WITHIN MUNICIPAL LIMITS) MAHATMA GANDHI INNER RING ROAD (BETWEEN JKC	KRISHNA	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
730	COLLEGE TO CHILLIES DHABA)	GUNTUR	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
731	NELLORE TOWN ON MUTHUKUR ROAD (WITHIN NELLORE TOWN LIMITS)	NELLORE	Regular	160	OPEN	CC	20	20	400	25	10	BIDDING	30	5
732	TENALI TOWN (BUS STAND TO CHAKALI CHERUVU)	GUNTUR	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
733	CHILAKALURIPET (ON KOTAPPAKONDA ROAD, WITH IN MUNICIPALITY LIMITS)	GUNTUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
734	BELLAMVARI STREEET (FROM ELURU ROAD TO AUTONAGAR	KRISHNA	Regular	150	OPEN	СС	20	20	400	25	10	BIDDING	30	5
	CROSS) VIJAYAWADA-AJITH SINGH NAGAR- ON THE MAIN ROAD													
735	TOWARDS NUZVID	KRISHNA	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
736	GUDIVADA TOWN (NEHRU CHOWK TO NAGAVARAPPADU BRIDGE) RHS (NOT ON HIGHWAY)	KRISHNA	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
737	JAYAMPU ROAD, WITHIN GUDUR MUNICIPAL LIMITS	NELLORE	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
738	KANUR MAIN ROAD TOWARDS PRASADAMPADU ON LHS	KRISHNA	Regular	150	OPEN	cc	20	20	400	25	10	BIDDING	30	5
739	KANUR MAIN ROAD TOWARDS PRASADAMPADU ON RHS	KRISHNA	Regular	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
740	PAMURU TO VAGGAM PALLI ON NH	PRAKASAM	Regular	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
741	SANTHAPET, WITHIN NELLORE MUNICIPAL LIMITS	NELLORE	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
742	VIJAYAWADA CITY- RAMESH HOSPITAL TO AMMA KALYANA MANDAPAM ROAD	KRISHNA	Regular	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
743	KANCHIKACHERLA (LHS ON VIJAYAWADA - HYDERABAD NEW	KRISHNA	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
	NATIONAL HIGHWAY) GUDIVADA TOWN (WITHIN MUNCIPAL LIMITS) NOT ON			400					000					
744 745	HIGHWAY	KRISHNA	Regular	100	OPEN OPEN	cc	30	30	900	25	10	BIDDING	30	5
745 746	GUDUR TOWN (NOT ON NH/SH) CHINARIKATLA JN. (AFTER 1 KM FROM NH JUNCTION)		Regular	100		CC	30	30	900	25 0	0	BIDDING	30 0	3
/46	TOWARDS KANIGIRI ROAD (WITHIN 3 KMS) ON NH 565	PRAKASAM	Regular	150	SC	CFS	45	45	2025	U	U	DRAW OF LOTS	U	3
747	KANCHIKACHERLA ON NEW NH (RHS ON VIJAYAWADA - HYDERABAD NATIONAL HIGHWAY)	KRISHNA	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
748	CHIRALA (ON KOTHAPETA MAIN ROAD BETWEEN RAILWAY	PRAKASAM	Regular	100	OPEN	СС	30	30	900	25	10	BIDDING	30	5
749	STATION AND KUNDERU DRAIN) RAYAPUDI	GUNTUR	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
750	ALLAPADU TO AKIVEEDU ON NH LHS ONE KM AFTER KEESARA TOLL UPTO 3 KMS TOWARDS	KRISHNA	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
751	NANDIGAMA ON LHS	KRISHNA	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
752 753	THULLUR NADENDLA , NADENDLA MANDAL	GUNTUR GUNTUR	Regular Regular	100 100	OPEN CC 1	CC DC	30 30	30 30	900 900	25 25	10 60	BIDDING DRAW OF LOTS	30 15	5
754	MYLAVARAM BYEPASS	KRISHNA	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
755 756	LHS ON ANASAGARAM - NAWABPETA ON NH KAVALI WITH IN MUNICIPAL LIMITS	KRISHNA NELLORE	Regular Regular	150 100	ST OPEN	CFS CC	45 30	45 30	2025 900	0 25	0 10	DRAW OF LOTS BIDDING	0 30	3 5
756	MACHILIPATNAM TOWN (WITHIN MUNICIPAL LIMITS, NOT	KRISHNA	Regular	100	OPEN	cc	30	30	900	25	10	BIDDING	30	5
757	ON HIGHWAY) PARITALA TOWN - KANCHIKACHERLA TOWN ON NH	KRISHNA	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
759	ANKIREDDYPALEM Y JUNCTION TO BUDAMPADU CROSS	GUNTUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
760	ROADS ON NH 16 LHS MUSUNUR- IN KAVALI MUNCIPALITY LIMITS	NELLORE	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
761	ANANTHAVARAM, THULLUR MANDAL	GUNTUR	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
762 763	NELLORE TO BITRAGUNTA ON NH 16 LHS UNDAVALLI	NELLORE GUNTUR	Regular Regular	150 100	OBC OPEN	DC CC	45 30	45 30	2025 900	25 25	75 10	DRAW OF LOTS BIDDING	15 30	4 5
764	SYDAPURAM ON SH	NELLORE	Regular	100	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
765 766	MOTHADAKA, TADIKONDA MANDAL PIDUGURALLA MUNICIPAL LIMITS (NOT ON SH)	GUNTUR GUNTUR	Regular Regular	100 100	OPEN CC 2 OBC CC 1	DC DC	30 30	30 30	900 900	25 25	60 45	DRAW OF LOTS	15 15	5 4
767	ONGOLE - GUNTUR ROAD BYPASS - BEFORE INTERSECTION	PRAKASAM	Regular	100	OPEN	cc	30	30	900	25	10	BIDDING	30	5
	WITH OLD NH (NOT ON OLD NH) MANGALAGIRI TENALI CROSS ROADS TO NRI HOSPITAL (LHS													
768	ON NH 16)	GUNTUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
769	FROM TADEPALLI TO MANGALAGIRI-ON NH 16 ON LHS NUZVID BYEPASS ON EITHER SIDE (IN NUZVID MINICIPAL	GUNTUR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
770	LIMITS)	KRISHNA	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5

March of March 1997 March 1		SEPOYPET (ON CHIRALA - ONGOLE ROAD WITHIN 2 KM			100	0.0511					25				
Column C	771	RADIUS OF BUS STOP)	PRAKASAM	Regular	100	OPEN	DC	30	30	900	25	45 75	DRAW OF LOTS	15	5
The confidence of the control of t	773	MOPIDEVI ON NH-216	KRISHNA	Regular	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
The content of the	774		PRAKASAM	Regular	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
March Marc	775	ON GUNTUR ROAD) - WITHIN MUNICIPAL LIMITS	GUNTUR	Regular	100	OPEN	СС	30	30	900	25	10	BIDDING	30	5
The content of the		MACHILIPATNAM ON THE RHS- WITHIN 2 KM FROM KANKIPADU CENTRE													
The content of the	778	KURUMADDALI ON NH 65	KRISHNA	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
The control of the															
Section Proceed Section Process Proces	781	KAVALI TO GOWRAVARAM NH 16	NELLORE	Regular	150		CFS	45	45	2025	0	0	DRAW OF LOTS	0	
Second Continues of the Continues of t	783			Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
Manual Process Manu															
1985 1985	786	ATMAKUR TO DC PALLI ON NH 67 LHS	NELLORE	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
The STANLAMPSON PRINTANCH AND STREET STANLAMS PRINTANCH															
		VEMULURIPADU TO PHIRANGIPURAM RTC BUS STAND ON				OPEN									
Page		· ·													
		GANTAVARIPALEM TO SAVALYAPURAM POLICE STATION (ON													
292	793	KANAMARLAPUDI TO SAVALYAPURAM POLICE STATION (ON	GUNTUR	Regular	150	OPEN	сс	45	45	2025	25	10	BIDDING	30	5
		VENKATACHALAM TO NELLORE ON NH 16 LHS													
Part															
Page		FROM DORNALA ARCH. BETWEEN KM STONE 1236.00 TO 1236.900 ON NH -16 AT													
PROM.			NELLORE	Regular			DC			2025					
BIT		INAVOLU TO CHINTALACHERUVU , NUZENDLA MANDAL								900					
Martine Mart	800	FROM NELLOREPALEM ON LHS OF NH67	NELLORE	Regular	150	OPEN	cc	45	45	2025	25	10	BIDDING	30	5
SOURCE DE 264 SERVER (PRIS) PRISONAL PRISONA	801	VIJAYAWADA ON NH 16	PRAKASAM	Regular	150	OPEN	сс	45	45	2025	25	10	BIDDING	30	
MORE		STONE TO 32 KM STONE (RHS)													
DOTS CONTROL 25 STYCES NAME NANOMANUM & MERCAN MIREDIAN 150 OPTION C. 0.5 4.5 2023 2.5 7.5 DAMA OF LOT 15 5.5 5.0															
BOD															
REVIEWER VERNALISATION COST NAME OF STATE PRODUCT 100 THE CC 45 45 2023 23 10 REDORM 30 5 5 100 THE COST NAME OF STATE PRODUCT 100 THE COST NAME OF STATE PR															
MILLIANASURE TO IMMAGRAMOPET A CUTTOR Meginiary 120 5°T 127 30 10 900 0 0 NAVO PT (10 0 1 1 1 1 1 1 1 1		BETWEEN VENKATAGIRI CROSS ROAD AND YERPADU ON TIRUPATI ROAD (NH) WITHIN 2 KM DISTANCE FROM													
BOO MARGON PALLY DICTION TO COLOMADO LICE ON PASSO AND PASSO Section	808	MULAKALURU TO NARASARAOPETA (OUTSIDE NARASARAOPET MUNICIPAL LIMIT), NARASARAOPET	GUNTUR	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
10 10 10 10 10 10 10 10	809		KRISHNA	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
BIT MOORETALL TO MANDONALUL RADIO ON IN WITHINST SIDES MERCHAN Regular 150 OPEN CC 45 45 2025 25 10 BRODING 30 5 5 5 5 5 5 5 5 5	810		GUNTUR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
STOCK STOC	811	MUDINEPALLI TO MANDAVALLI ROAD ON NH WITHIN 3 KMS	KRISHNA	Regular	150	OPEN	сс	45	45	2025	25	10	BIDDING	30	5
Section Sect	812		KRISHNA	Regular	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
B15	813		GUNTUR	Regular	150	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
B15 WITHIN 3 MAS FROM MARTUR TO CHILACALIDRET RIS ON PRAKASAM Regular 150 Open PH DC 45 45 2025 25 75 DANN OF LOT 15 5 5 18 18 18 18 18															
## STATE MICHAEL MICHA		WITHIN 3 KMS FROM MARTUR TO CHILAKALURIPET RHS ON													
DOTAGE COLOR COL		NIZAMPATNAM-REPALLI ROAD, AMUDALAPALLI VILLAGE		-		,									
839 SOURTO SURNAMO SATION NH 16 BHS NELLORE Regular 150 OPEN DC 45 45 2025 25 75 SRAW OF LOT 15 5 5	818					OBC		45	45		25	75	DRAW OF LOTS	15	4
REPUIR FOR TO HATPHALLE ON SH MELLORE Regular 150 0.5		KOVUR TO SUNNAPU BATTI ON NH 16 RHS											DRAW OF LOTS		
REST VELUENTHYTO SINGIGREPADU (ON NH) GUNTUR Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5 5 82 82 PROM FOR THE STAND FOR TH		ON NH													
ROM POTHEREDIPALEM TO RAMPU[ETHER OF THE SIDE ON NH 67] No NH 67] NH															-
RETWEEN MARTUR TO CHILAKALUMPET (ON INS.) RAMANTHA/ARAM VALLEGE, VADAMAPOLID MANDAL) RESULT RE		FROM POTHIREDDIPALEM TO RAMPU (EITHER OF THE SIDE													
R22 NATIONAL HIGHWAY NASHWA Regular 150 US 45 45 2025 25 10 BIDDING 30 30 30 30 30 30 30 3	824	BETWEEN MARTUR TO CHILAKLURIPET (ON LHS, ANANTHAVARAM VILLAGE, YADDANAPUDI MANDAL)	PRAKASAM	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
\$26 YACHASAMURRANT OB BALAYAPALEON SH NELLORE Regular 100 SC CFS 30 30 900 0 DRAW OF LOTE 0 3		NATIONAL HIGHWAY				OBC	DC			2025					
## ANNUMAN JUNCTION TO GUDINADA ROAD (INTHIN'S KMS FROM HANUMAN JUNCTION) ## S29 ## BRAHIMPATNAM-MULAPADU ON NH ## KRISHNA ## Regular ## 150 ## OPEN CC 1 ## DC 30 ## 30		YACHASAMUDRAM TO BALAYAPALLE ON SH													
READMINANDUMAN JUNICIDNS REGULAR Regular 150		HANUMAN JUNCTION TO GUDIWADA ROAD (WITHIN 5 KMS													
San NALLAPADU TO NH16 VIA ANNIREDDYPALEM ON MAHATMA GANDH INNER RINGROAD GUNTUR Regular 150 ST CFS 20 20 400 0 0 DRAW OF LOT 0 3 3 3 3 NELLORE TO KOVUR LHS ON NH 16 NELLORE Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5 5 3 3 3 NELLORE TO KOVUR LHS ON NH 16 NELLORE Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5 5 3 3 NANUBGUL TO VENKETACHALAM (1HS ON NH 16) NELLORE Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5 4 3 4 NELLORE TO BURANPUR ON NH 16 NELLORE Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5 5 3 4 NELLORE TO BURANPUR ON NH 16 NELLORE Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5 5 3 3 NAUBBOLUT ON NH 16 NELLORE Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5 5 3 3 NAUBBOLUT ON NH 16 NELLORE Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5 5 3 3 3 3 3 3 3															
SANUPHINNER NINK ROLD SANUPLES ON NH 16 NELLORE Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5		NALLAPADU TO NH16 VIA ANKIREDDYPALEM ON MAHATMA													3
833		NELLORE TO KOVUR LHS ON NH 16	NELLORE	Regular	150	OPEN			45		25	75	DRAW OF LOTS	15	5
834 NELLORE TO BURANPUR ON NH 16 LHS NELLORE Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5															
SSS SINS GUNTUR NEGULAR SSC CFS 20 20 400 0 0 DRAW OF LOT 0 3	834	NELLORE TO BURANPUR ON NH 16 LHS	NELLORE	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
837 NAIDUPETA ON NH 71 (WITHIN MUNICIPAL LIMITS) NELLORE Regular 150 OPEN CC 35 45 1575 25 10 BIDDING 30 5		RHS)													
838	837	NAIDUPETA ON NH 71 (WITHIN MUNICIPAL LIMITS)	NELLORE	Regular	150	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
### AMARAYTH WITHIN MUNICIPALITY LIMITS-ON LIHS) ### AMARAYTH WITHIN MUNICIPALITY LIHI AND REQUIR 150 OBC DC 45 45 2025 25 75 DRAW OF LOT 15 4 ### AMARAYTH WITHIN MUNICIPALITY LIHI AND REQUIR 150 OPEN CC 45 45 45 2025 25 10 BIDDING 30 5 ### AMARAYTH WITHIN MUNICIPALITY LIHI AND REQUIR 150 OPEN CC 45 45 2025 25 10 BIDDING 30 5 ### AMARAYTH WITHIN MUNICIPALITY LIHI AND REQUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 15 5 ### AMARAYTH WITHIN MUNICIPALITY LIHI AND REQUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 10 3 ### AMARAYTH WITHIN MUNICIPALITY LIHI AND REQUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 15 5 ### AMARAYTH WITHIN MUNICIPALITY LIHI AND REQUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 15 5 ### AMARAY CONTROL OF AND REGUIR NOT AND REQUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 15 5 ### AMARAY CONTROL OF AND REGUIR NOT AND REGUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 15 5 ### AMARAY CONTROL OF AND REGUIR NOT AND REGUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 15 5 ### AMARAY CONTROL OF AND REGUIR NOT AND REGUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 15 5 ### AMARAY CONTROL OF AND REGUIR NOT AND REGUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 15 5 ### AMARAY CONTROL OF AND REGUIR NOT AND REGUIR 150 OPEN CC 45 45 2025 25 75 DRAW OF LOT 15 4 ### AMARAY CONTROL OF AND REGUIR NOT AND REGU		GUNTUR TOWN (FROM LODGE CENTRE TOWARDS			150			45	45	2025					
841 ATKURU TO GANAVARAM ON NH LIS KRISHNA Regular 150 OPEN CC 45 45 2025 25 10 BIDDING 30 5	840		GUNTUR	Regular		OBC	DC	45	45		25	75	DRAW OF LOTS	15	4
843 UPPUGUNDURU- ON NH 214A GUNTUR Regular 150 OBC DC 45 45 2025 25 75 DRAW OF LOT 15 4		ATKURU TO GANNAVARAM ON NH LHS	KRISHNA KRISHNA							2025					
845 BHATTIPROLU TO VELLATURU ON NH GUNTUR Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT: 15 5	843	UPPUGUNDURU- ON NH 214A	GUNTUR	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
846 VINUKONDA SHIVAYYA STUPHAM CENTER TO KOTHAPALEM (ON NH) GUNTUR Regular 150 OPEN DC 45 45 2025 25 75 DRAW OF LOT 15 5 847 GUDUR TO ANDLUPETA ON LHS OF NH 16 NELLORE Regular 150 OBC DC 45 45 2025 25 75 DRAW OF LOT 15 4 848 ON ROAD CONNECTING NH 16 AT VENKATACHALAM TO SURVEPALLE WITHIN 2 KM DISTANCE STRETCH FROM NH 16, NELLORE Regular 100 ST CFS 30 30 900 0 DRAW OF LOT 0 33															
ON ROAD CONNECTING NH16 AT VENKATACHALAM TO SURVEPALLE WITHIN 2 KM DISTANCE STRETCH FROM NH16, NELLORE Regular 100 ST CFS 30 30 900 0 DRAW OF LOT: 0 3		VINUKONDA SHIVAYYA STUPHAM CENTER TO KOTHAPALEM													
848 SURVEPALLE WITHIN 2 KM DISTANCE STRETCH FROM NH16, NELLORE Regular 100 ST CFS 30 30 900 0 0 RAW OF LOTE 0 3	847		NELLORE	Regular	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
	848	SURVEPALLE WITHIN 2 KM DISTANCE STRETCH FROM NH16,	NELLORE	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3

849	NUDURUPADU (ON NH)	GUNTUR	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
850	BODIREDDYPALLI JN. (AFTER 1 KM FROM NH JUNCTION) TOWARDS GUNTUR ROAD WITHIN 13 KM (NH 544D) ON	PRAKASAM	Regular	150	OPEN	cc	45	45	2025	25	10	BIDDING	30	5
	(RHS)													
851 852	BAPATLA (WITHIN MUNCIPAL LIMITS ON NH 214-A) CHINNAGANJAM ON NH	GUNTUR PRAKASAM	Regular Regular	150 150	OBC OPEN	DC DC	45 45	45 45	2025 2025	25 25	75 75	DRAW OF LOTS	15 15	5
853	VIJAYAWADA-SAMBAMURTHY ROAD TO LENIN CENTER	KRISHNA	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
854	GURAVAI PALEM ON SH	KRISHNA	Regular	100	OBC	CC	30	30	900	25	10	BIDDING	30	4
855	BOMMULURU ON SH	KRISHNA	Regular	100	OPEN CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	5
856	BETWEEN VEERAVALLI & KODURUPADU ON NH 65 ANKIREDDYPALEM Y JUNCTION TO BUDAMPADU CROSS	KRISHNA	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
857	ROADS ON NH 16 RHS	GUNTUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
858	WITHIN 1 KM FROM TATICHERALA MOTU CENTER ON	PRAKASAM	Regular	100	OBC	CC	30	30	900	25	10	BIDDING	30	4
	KOMAROLE ROAD ON LHS SH 56 ON NH-65, VUYYURU BYEPASS TOWARDS MACHILIPATNAM		-											-
859	ON THE EITHER SIDE	KRISHNA	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
860	DEVRAJUGATTU TO CUMBUM WITHIN 5 KM (NH 544D) LHS	PRAKASAM	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
	GUNTUR TOWN (CHANDRAMOULI NAGAR TO LODGE								2025					
861	CENTRE)	GUNTUR	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
862	TELLADEVARA PALLI - CHANDRUPATLA	KRISHNA	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
863	PULI GADDA TO CHALLAPALLI ON NH LHS	KRISHNA	Regular	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
864 865	RHS ON IBRAHIMPATNAM - APHMEL, ON NH MACHERLA MUNICIPAL LIMITS (NOT ON HIGHWAY)	KRISHNA GUNTUR	Regular Regular	150 100	OPEN CC 2 OBC CC 1	DC DC	45 30	45 30	2025 900	25 25	75 45	DRAW OF LOTS	15 15	5 4
866	VIJAYAWADA - RED CIRCLE CENTER TOWARDS GOPAL REDDY	KRISHNA	Regular	150	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	ROAD													
867 868	PULI GADDA TO CHALLAPALLI ON NH RHS NALLAPADU TO PERECHERLA (ON NH) RHS	KRISHNA GUNTUR	Regular Regular	150 150	OPEN OPEN	DC CC	45 45	45 45	2025 2025	25 25	75 10	DRAW OF LOTS BIDDING	15 30	5 5
869	RAVICHERLA, ON NUZVID TO AGIRIPALLI ROAD	KRISHNA	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
870	VIJAYAWADA CITY (CROMBAY - SWATHI THEATRE ROAD)	KRISHNA	Regular	250	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
					-						-			-
871	VINUKONDA SHIVAYYA STUPHAM CENTER TO BRAHMANAPALLI (ON NH)	GUNTUR	Regular	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
872	AVANIGADDA NAGAYALANKA ROAD (WITHIN 3 KMS OF	KDICHMA	Regular	100	OPEN	DC	20	20	900	25	60	DRAW OF LOTS	15	5
0/2	AVANIGADDA)	KRISHNA	negular	100	OPEN	DC	30	30	900	23	OU	JIMAY OF LUIS	13	2
873	PIDUGURALLA BUS STAND (OUTSIDE MUNICIPALI LIMITS) TOWARDS DACHEPALLI WITHIN 10 KMS ON STATE HIGHWAY	GUNTUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
0/3	(RHS)	GUNIUK	negular	100	UBC	DC	30	30	900	23	00	JIMAN OF LUIS	13	*
874	ARUGOLANU	KRISHNA	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
875	VIJAYAWADA CITY (VAMBAY COLONY)	KRISHNA	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
876	ON MANGALAGIRI-TENALI ROAD, WITHIN 2 KMS FROM NH- 16 CROSSING	GUNTUR	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
877	FROM GAMALAPADU TO PONDUGULA (ON SH)	GUNTUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
878	FROM VENKATAGIRI CROSS ROAD TO GOLLAGUNTA ON SH	NELLORE	Regular	100	OPEN CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	5
	(VENKATAGIRI-NAIDUPETA ROAD)										0		0	3
879 880	VEDAYAPALEM WITHIN NELLORE MUNICIPAL LIMITS CHINNARIKATLA JN. TO PODILI WITHIN 500 MTRS.	NELLORE PRAKASAM	Regular Regular	150 100	SC OBC	CFS DC	20 30	20 30	400 900	0 25	60	DRAW OF LOTS	15	4
881	WITHIN 5 KMS EITHER SIDE OF SRICHAKRA CEMENTS ON				OPEN	DC				25	60	DRAW OF LOTS	15	5
	KARAMPUDI TO VINUKONDA ON SH	GUNTUR	Regular	100			30	30	900					
882 883	DACHEPALLI TO NADIKUDI (ON SH) PULLADIGUNTA (ON STATE HIGHWAY)	GUNTUR GUNTUR	Regular Regular	100 100	OPEN OBC	CC DC	30 30	30 30	900	25 25	10 60	DRAW OF LOTS	30 15	5
884	NUNNA BYEPASS ROAD, VIJAYAWADA	KRISHNA	Regular	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
885	KAREMPUDI TO OPPICHARLA (ON SH)	GUNTUR	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
886 887	PODALKUR TO PADAMATI KHANDRIKA ON SH	NELLORE	Regular	100	OPEN OBC	CC	30	30 30	900	25 25	10 60	DRAW OF LOTS	30	5
	On RHS, Nuzvid to Gollapalli, On SH NARASARAOPET (RTC BUS STAND TO VINUKONDA ROAD) -	KRISHNA	Regular	100		DC	30		900				15	
888	WITHIN MUNICIPAL LIMITS	GUNTUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
889	PADAMATIPALEM WITHIN PANCHAYAT LIMITS	KRISHNA	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
890	KODALI-MOVVA	KRISHNA	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
891	MUDINEPALLI TO MANDAVALLI ROAD ON NH WITHIN 3 KMS FROM CEREMICS FACTORY LHS	KRISHNA	Regular	150	OBC PH	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
892	MUPPAVARAM VILLAGE - J.PANGALURU MANDAL	PRAKASAM	Regular	100	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
893	KAREMPUDI TO DURGI (WITHIN 3 KMS EITHER SIDE, FROM	GUNTUR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
894	ADIGOPULA CROSS ROAD) ON SH SHANTI NAGAR TO NEKARIKALLU JUNCTION (ON SH)	GUNTUR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
895	ON LHS, GOLLAPALLI TO HANUMAN JN, ON SH	KRISHNA	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
896	Addanki (Towards Narsaraopet within 1 km from Bhavani	PRAKASAM	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
650	Centre)	FIGNOSAW	riegulai	100	OFEIN	DC	30	30	300	23	00	SILAW OF LOT.		
897	ONGOLE TOWN WITHIN MUNICIPAL LIMITS (BETWEEN COLLECTOR OFFICE TO NH 16 ON NELLORE BUS STAND ROAD	PRAKASAM	Regular	100	sc	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	(LHS)	11010001111		100	50	Cis	30	50	300	-	-		-	-
898	KOTA CENTRE TO DUGARAJAPATNAM WITHIN 6 KMS FROM	NELLORE	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
899	KOTA				OBC	DC	30	30		25	60	DRAW OF LOTS	15	4
	AGIRIPALLI BHIMAVARAM (FROM CHILLAKALLU X ROAD TO	KRISHNA	Regular	100					900					
900	BHIMAVARAM ON SH-168-TOWARDS LHS)	KRISHNA	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
901	YERRABALEM	GUNTUR	Regular	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
902	ROMPICHERLA (O KM MILE STONE TO SANTAMAGALURU X ROADS- LHS ON SH)	GUNTUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
000	KOADS- LHS ON SH) KOTHA AMBAPURAM TO PULIPADU CROSS ROAD(IN	CINTER	Day 1	400	0000	D.°	20	20	000	25		DDAW 05 : 0		-
903	GURAZALA) (ON SH)	GUNTUR	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
904	ALLAPADU TO AKIVEEDU ON NH RHS	KRISHNA	Regular	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
905	ANGALAKUDURU VILLAGE, ON GUNTUR TO TENALI ROAD	GUNTUR	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
906	TENALI (CHENCHUPET)									0	0	DRAW OF LOTS	0	3
907		GUNTUR	Regular	100	ST	CFS	30	30	900					5
	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD	KRISHNA	Regular	100	OPEN	CC	30	30	900	25	10	BIDDING	30	
908	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON SH67	KRISHNA NELLORE	Regular Regular	100 100	OPEN OPEN	CC DC	30 30	30 30	900 900	25 25	10 60	DRAW OF LOTS	15	5
908 909	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168)	KRISHNA NELLORE KRISHNA	Regular Regular Regular	100 100 100	OPEN OPEN OBC	CC DC DC	30 30 30	30 30 30	900 900 900	25 25 25	10 60 60	DRAW OF LOTS	15 15	5 4
908 909 910	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS)	KRISHNA NELLORE KRISHNA GUNTUR	Regular Regular Regular Regular	100 100 100 100	OPEN OPEN OBC SC	CC DC DC CFS	30 30 30 30	30 30 30 30	900 900 900	25 25 25 0	10 60 60	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0	5 4 3
908 909 910 911	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA CROSS ROAD NI 15 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR	Regular Regular Regular Regular	100 100 100 100	OPEN OPEN OBC SC OPEN	CC DC DC CFS	30 30 30 30 30	30 30 30 30 30	900 900 900 900	25 25 25 0 25	10 60 60 0	DRAW OF LOT: DRAW OF LOT: DRAW OF LOT: DRAW OF LOT:	15 15 0	5 4 3
908 909 910 911 912	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA KORS ROAD NH 16 TO CHITTEDU ON SHO? KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVLIYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERLA, BOLLAPALLE MANDAL	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR	Regular Regular Regular Regular Regular Regular	100 100 100 100 100 100	OPEN OPEN OBC SC OPEN OPEN	CC DC DC CFS DC DC	30 30 30 30 30 30	30 30 30 30 30 30 30	900 900 900 900 900	25 25 25 0 25 25	10 60 60 0 60 60	DRAW OF LOT:	15 15 0 15 15	5 4 3 5 5
908 909 910 911 912 913 914	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA (ROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVLYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERIA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARUMA SAGAR (ON NH)	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR	Regular Regular Regular Regular Regular Regular Regular Regular	100 100 100 100	OPEN OPEN OBC SC OPEN	CC DC DC CFS DC DC DC DC DC	30 30 30 30 30	30 30 30 30 30	900 900 900 900	25 25 25 25 0 25 25 25 25 25	10 60 60 0 60 60 60 60 75	DRAW OF LOT:	15 15 0 15 15 15 15	5 4 3 5 5 5 4
908 909 910 911 912 913 914 915	PAMARRU WITHIN 2 KMS ON CHALLAPALU ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON 5H67 KAUTHAVARI AGRAHARAM (ON 5H-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM WILLAGE, SAVALYAPURAM MANDAL REMDICHERIA, BOLIPAPALE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIJINA SAGAR (ON NH) ONGOLE MARKET ROAD. BEHINDI MARKET ROAD.	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM	Regular Regular Regular Regular Regular Regular Regular Regular Regular	100 100 100 100 100 100 100 100 150 100	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OBC CC 1 ST CC 1	CC DC DC CFS DC DC DC DC CFS CFS CFS	30 30 30 30 30 30 30 30 45 30	30 30 30 30 30 30 30 30 45 30	900 900 900 900 900 900 900 900 2025	25 25 25 0 25 25 25 25 25 25 0	10 60 60 0 60 60 60 60 75	DRAW OF LOT:	15 15 0 15 15 15 15 15	5 4 3 5 5 5 4 3
908 909 910 911 912 913 914 915	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERIA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIUNA SAGAB (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHERIA MANDAL	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR	Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular	100 100 100 100 100 100 100 100 150 100	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OBC CC 1 ST CC 1 Open PH	CC DC DC CFS DC DC DC CFS DC DC DC DC DC DC DC DC	30 30 30 30 30 30 30 30 45 30 30	30 30 30 30 30 30 30 30 45 30 30	900 900 900 900 900 900 900 900 2025 900	25 25 25 0 25 25 25 25 25 25 25 25 25	10 60 60 0 60 60 60 60 75 0	DRAW OF LOT:	15 15 0 15 15 15 15 15 0	5 4 3 5 5 5 4 3 5
908 909 910 911 912 913 914 915	PAMARRU WITHIN 2 KMS ON CHALLAPALU ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON 5H67 KAUTHAVARI AGRAHARAM (ON 5H-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM WILLAGE, SAVALYAPURAM MANDAL REMDICHERIA, BOLIPAPALE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIJINA SAGAR (ON NH) ONGOLE MARKET ROAD. BEHINDI MARKET ROAD.	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM	Regular Regular Regular Regular Regular Regular Regular Regular Regular	100 100 100 100 100 100 100 100 150 100	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OBC CC 1 ST CC 1	CC DC DC CFS DC DC DC DC CFS CFS CFS	30 30 30 30 30 30 30 30 45 30	30 30 30 30 30 30 30 30 45 30	900 900 900 900 900 900 900 900 2025	25 25 25 0 25 25 25 25 25 25 0	10 60 60 0 60 60 60 60 75	DRAW OF LOT:	15 15 0 15 15 15 15 15	5 4 3 5 5 5 4 3
908 909 910 911 912 913 914 915 916 917 918	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA KORS ROAD NH 15 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERLA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIUMA SAGAR (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHERLA MANDAL RENTACHINTALO N HIGHWAY KUKATLAPALLI, BALLIKURVA MANDAL ATMAKUR APARTCE BUS TANDA TO SRI ANJANEYA SWAMY	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR GUNTUR PRAKASAM	Regular	100 100 100 100 100 100 100 150 100 100	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OBC CC 1 ST CC 1 Open PH OBC OPEN	CC DC DC CFS DC	30 30 30 30 30 30 30 30 45 30 30 30 30	30 30 30 30 30 30 30 30 45 30 30 30 30	900 900 900 900 900 900 900 2025 900 900 900	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 0 60 60 60 75 0 60 60 60 60	DRAW OF LOT:	15 15 0 15 15 15 15 15 0 15 15	5 4 3 5 5 5 5 4 3 5 5
908 909 910 911 912 913 914 915 916 917	PAMARRU WITHIN 2 KMS ON CHALLAPALU ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM WILLAGE, SAVALYAPURAM MANDAL PASUVEMULA TO NAGARIJUNA SAGAR (ON NH) ONOGLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHERLA MANDAL REMDICHARLA BOLON HIGHWAY KUKATLAPALLI, BALLIKURVA MANDAL ATMAKUR APSRTE BUS STAND TO SRI MAINNEYS AWAMY TEMPLE NEAR VENKATRAO PALLI CROSS ROAD (BY PASS	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR GUNTUR GUNTUR	Regular	100 100 100 100 100 100 100 150 150 100 10	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OBC CC 1 ST CC 1 Open PH OBC	CC DC DC CFS DC	30 30 30 30 30 30 30 30 45 30 30	30 30 30 30 30 30 30 30 45 30 30 30	900 900 900 900 900 900 900 900 2025 900 900	25 25 25 0 25 25 25 25 25 25 25 25 25 25	10 60 60 0 60 60 60 60 75 0 60 60	DRAW OF LOTE	15 15 0 15 15 15 15 15 15 0 15	5 4 3 5 5 5 5 4 4 3 5
908 909 910 911 912 913 914 915 916 917 918	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON 5H67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERIA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIUNA SAGAR (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHEBLA MANDAL RENTACHINITALA ON HIGHWAY KUKATLAPALLI, BALLIKUNYA MANDAL ATMAKUR APRATE OUS STAND TO SRI ANIANEYA SWAMY TEMIE NEAR VENKATRAO PALLI CROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN.	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR GUNTUR PRAKASAM	Regular	100 100 100 100 100 100 100 150 100 100	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OBC CC 1 ST CC 1 Open PH OBC OPEN	CC DC DC CFS DC	30 30 30 30 30 30 30 30 45 30 30 30 30	30 30 30 30 30 30 30 30 45 30 30 30 30	900 900 900 900 900 900 900 900 2025 900 900 900	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 0 60 60 60 75 0 60 60 60 60	DRAW OF LOT:	15 15 0 15 15 15 15 15 0 15 15	5 4 3 5 5 5 5 4 3 5 5
908 909 910 911 912 913 914 915 916 917 918	PAMARRU WITHIN 2 KMS ON CHALLAPALU ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM WILLAGE, SAVALYAPURAM MANDAL REMIDICHERLA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIUNA SAGAR (ON NH) ONGOLE -MARKET ROAD - BENIND MARKET ROAD VIJAYAPURI SOUTH, MACHERLA MANDAL RENTACHINTALA ON HIGHWAY KUKATLAPALL, BALLIKURVA MANDAL ATMAKUR APSTIC BUS STAND TO SRI ANJANEYA SWAMY TEMPLE NEAR VENKATRAD PALIL CROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN. KAKUPALLI ON MITHUKUR, MUTHUKUR MANDAL ROMPICHERLA (OK M MILE STONE TO VIPPARIA ON SH)	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM FRAKASAM GUNTUR PRAKASAM NELLORE	Regular	100 100 100 100 100 100 100 150 100 100	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	CC DC DC CFS DC DC DC DC DC DC DC DC DC CFS DC DC CFS DC DC DC CFS DC DC DC DC DC DC	30 30 30 30 30 30 30 30 45 30 30 30 30 30	30 30 30 30 30 30 30 30 45 30 30 30 30 30	900 900 900 900 900 900 900 2025 900 900 900	25 25 25 0 25 25 25 25 25 0 25 25 25 0 0	10 60 60 0 60 60 60 60 60 60 60 60 60	DRAW OF LOT:	15 15 0 15 15 15 15 0 15 15 15 0 0	5 4 3 5 5 5 5 4 3 5 4 5
908 909 910 911 912 913 914 915 916 917 918 919	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA KORS ROAD NH 5 TO CHITTEUD ON 5H67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNICIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERLA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUSWAMULA TO NAGARIUNA SAGAR (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHERLA MANDAL RENTACHINTALA ON HIGHWAY KUKATLAPALLI, BALLIKURVA MANDAL ATMAKUR APSTIC BUS STAND TO SRI ANIANEYA SWAMY TEMPLE NEAR YENKATRAO PALLI CROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN, KAKUPALLI TO MUTHUKUR, MUTHUKUR MANDAL ROMPICHERLA (OKM MILE STONE TO VIPPARILA ON SH)	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM KUNTUR PRAKASAM NELLORE	Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular	100 100 100 100 100 100 100 100 100 100	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	CC DC DC CFS DC DC DC DC DC DC CFS DC DC CFS DC	30 30 30 30 30 30 30 45 30 30 30 30 30 30	30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	900 900 900 900 900 900 900 900 900 900	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 0 60 60 60 75 0 60 60 60	DRAW OF LOTE	15 15 0 15 15 15 15 0 15 15 0 15 15	5 4 3 5 5 5 4 3 5 4 4 5
908 909 910 911 912 913 914 915 916 917 918 919 920 921	PAMARRU WITHIN 2 KMS ON CHALLAPALU ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM WILLAGE, SAVALYAPURAM MANDAL PASUVEMULA TO NAGARIJUNA SAGAR (ON NH) ONOGLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHERLA MANDAL REMDICHERLA, BOLON HIGHWAY KUKATLAPALLI, BALLIKURVA MANDAL ATMAKUR APSRTE BUS STAND TO SRI MAJUNEYA SWAMY TEMPLE NEAR VENKATRAD PALLI CROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN. KAKUPALITO MUTHHUKUR, MUTHHUKUR MANDAL ROMPICHERLA (D KIM MILE STONE TO VIPPARLA ON SH) CHINTAVARAM ROAD BETWEEN HALS OTO PALICHERLAPALEM (NOT ON NH), CHILAKUR MANDAL	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM NELLORE NELLORE GUNTUR	Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular	100 100 100 100 100 100 100 100 100 100	OPEN OPEN OPEN OBC SC OPEN OPEN OPEN OBCCC1 ST CC 1 OPEN OBC OPEN SC OPEN OBC OPEN OPEN	CC DC DC DC CFS DC	30 30 30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	30 30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	900 900 900 900 900 900 900 2025 900 900 900 900 900	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 60 60 60 60 60 60 60 60 60 60 60	DRAW OF LOTT	15 15 15 0 15 15 15 15 15 15 15 15 15 15 15 15 15	5 4 3 5 5 5 5 4 4 5 3 3 5 4 5 5
908 909 910 911 912 913 914 915 916 917 918 919 920 921	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA KORS ROAD NH 5 TO CHITTEUD ON 5H67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNICIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERLA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUSWAMULA TO NAGARIUNA SAGAR (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHERLA MANDAL RENTACHINTALA ON HIGHWAY KUKATLAPALLI, BALLIKURVA MANDAL ATMAKUR APSTIC BUS STAND TO SRI ANIANEYA SWAMY TEMPLE NEAR YENKATRAO PALLI CROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN, KAKUPALLI TO MUTHUKUR, MUTHUKUR MANDAL ROMPICHERLA (OKM MILE STONE TO VIPPARILA ON SH)	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM PRAKASAM NELLORE NELLORE GUNTUR NELLORE GUNTUR NELLORE GUNTUR	Regular	100 100 100 100 100 100 100 100 100 100	OPEN	CC DC DC DC CFS DC	30 30 30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	900 900 900 900 900 900 900 900 900 900	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 0 60 60 60 60 60 60 60 60 60 60	DRAW OF LOT:	15 15 15 15 15 15 15 15 15 15 15 15 15 1	5 4 3 5 5 5 4 3 5 4 5 3 5 4 5 5 4 5 5 5 4 5 5 4 5 5 4 5 5 5 5
908 909 910 911 912 913 914 915 916 917 918 919 920 921	PAMARRU WITHIN 2 KMS ON CHALLAPALLI ROAD KOTA KORS ROAD NH 15 TO CHITTEDU ON 5H67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERLA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIUMA SAGAR (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHERLA MANDAL RENTACHINITAL ON HIGHWAY KUKATLAPALLI, BALLIKURVA MANDAL ATMAKUR APRIT CBU STAND TO SRI ANIJARYA SWAMY TEMPLE NEAR YENKATRAD PALLI CROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN. KAKUPALLI TO MUTHUKUR, MUTHUKUR MANDAL ROMPICHERLA (O KM MILE STONE TO VIPPARLA ON SH) CHIMTAYARAM ROAD BETWEEN NH 16 TO PALICHERLAPALEM (NOT ON NH), CHILLAKUR MANDAL JULKAKLU, PIDOUGURALA MANDAL	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM NELLORE NELLORE GUNTUR	Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular Regular	100 100 100 100 100 100 100 100 100 100	OPEN OPEN OPEN OBC SC OPEN OPEN OPEN OBCCC1 ST CC 1 OPEN OBC OPEN SC OPEN OBC OPEN OPEN	CC DC DC DC CFS DC	30 30 30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	30 30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	900 900 900 900 900 900 900 2025 900 900 900 900 900	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 60 60 60 60 60 60 60 60 60 60 60	DRAW OF LOTT	15 15 15 0 15 15 15 15 15 15 15 15 15 15 15 15 15	\$ 4 4 3 5 5 5 5 5 4 4 5 5 5 5 6 4 5 5 6 6 6 6 6
908 909 910 911 912 913 914 915 916 917 918 919 920 921	PAMARRU WITHIN 2 KMS ON CHALLAPALU ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON 5H67 KAUTHAVARI AGRAHARAM (ON 5H-168) TENALI TO DUGGIRALA (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM WILLAGE, SAVALYAPURAM MANDAL REMDICHERIA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIJUNA SAGAR (ON NH) ONGOLE MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHERIA MANDAL RENTACHINTALA ON HIGHWAY KUKATLAPALU, BALLIKURYA MANDAL ATMAKUR APSRTC BUS STAND TO SRI ANJANEYA SWAMY TEMPLE NEAR VENNATRAO PALLI CROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN. KARUPALLITO MUTHKURK, MUTHKUK MANDAL ROMPICHERLA (OKM MILE STONE TO VIPPARLA ON SH) CHINTAYARAM ROAD BETWEEN NHIGT OF PALCHERLAPALEM (NOT ON NH), CHILLAKUR MANDAL ON NH 65 WITHIN SK KMS OF NIDUMOLU ON RHS ON	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM PRAKASAM NELLORE NELLORE GUNTUR NELLORE GUNTUR NELLORE GUNTUR	Regular	100 100 100 100 100 100 100 100 100 100	OPEN	CC DC DC DC CFS DC	30 30 30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	900 900 900 900 900 900 900 900 900 900	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 0 60 60 60 60 60 60 60 60 60 60	DRAW OF LOT:	15 15 15 15 15 15 15 15 15 15 15 15 15 1	5 4 3 5 5 5 4 3 5 4 5 3 5 4 5 5 4 5 5 5 4 5 5 4 5 5 4 5 5 5 5
908 909 910 911 912 913 914 915 916 917 918 919 920 921 922 923	PAMARRU WITHIN 2 KMS ON CHALLPALLI ROAD KOTA CROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRAL (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERIA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIUNA SAGAR (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHEBL MANDAL RENTACHINTALA ON HIGHWAY KUKATLAPHALI, BALLIKURYA MANDAL ATMAKUR APSRTC BUS STAND TO SRI ANIANEYA SWAMY TEMPLE NEAR VENKATRAO PALLI CROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN, KAKUPALLI TO MUTHUKUR, MUTHUKUR MANDAL ROMPICHERIA (OK MILE STONE TO VIPPABLA ON SH) CHINTAVARAM ROAD BETWEEN NH16 TO PALICHERLAPALEM (NOTO N NH), CHILAKUR MANDAL JULAKALLU, PIDUGURALLA MANDAL ON NH 65 WITHIN 5 KMS OF NIDUMOLU ON RHS ON VIJAYAMDA MANDAL SONE ON SHIPPANA ON SH SANTHAMAGURURU X-TOWARDS ROMPICHERLAPALEM (ON NH 65 WITHIN 5 KMS OF NIDUMOLU ON RHS ON VIJAYAMADA MACHILIPATNAM ROAD SANTHAMAGULURU X-TOWARDS ROMPICHARLA ON SH	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM FUNTUR PRAKASAM NELLORE GUNTUR NELLORE GUNTUR NELLORE GUNTUR KRISHNA	Regular	100 100 100 100 100 100 100 100 100 100	OPEN OPEN	CC DC DC CFS DC	30 30 30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	30 30 30 30 30 30 30 30 30 30 30 30 30 3	900 900 900 900 900 900 900 900 900 900	25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 60 60 60 60 60 60 60 60 60 60 60	PARW OF LOT:	15 15 15 0 0 15 15 15 15 0 15 15 15 15 15 15 15 0 0 15 15 15 0 0	5 4 3 5 5 5 4 3 5 4 5 5 4 5 5 5 5 4 4 5 5 5 5
908 909 910 911 912 913 914 915 916 917 918 919 920 921 922 923 924	PAMARRU WITHIN 2 KMS ON CHALLPALLI ROAD KOTA GROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRAL (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERIA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIUNA SAGAR (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHEBL MANDAL RENTACHINTALA ON HIGHWAY KUKATLAPALLI, BALLIKURYA MANDAL ATMAKUR APSRTC BUS STAND TO SRI ANIANEYA SWAMY TEMPLE NEAN VENKATRAO PALLI GROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN, KAKUPALLI TO MUTHUKUR, MUTHUKUR MANDAL ROMPICHERIA (OK MILE STONE TO VIPPABLA ON SH) CHINTAYARAM ROAD BETWEEN NH16 TO PALICHERLAPALEM (NOTO N NH), CHILAKUR MANDAL JULAKALLU, PIDUGURALLA MANDAL ON NH 65 WITHIN 5 KMS OF NIDUMOLU ON RHS ON VIJAYAWADA MACHILIPATNAM ROAD SANTHAMAGULURU X. TOWARDS ROMPICHARLA ON SH OJILI TO KURUGGONDA, OJILI MANDAL RIS OF CHILAKALLU Y GARIKAPADO N NH OJILI TO KURUGGONDA, OJILI MANDAL RIS OF CHILAKALLU Y GARIKAPADO N NH	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM NELLORE NELLORE GUNTUR NELLORE GUNTUR NELLORE GUNTUR KRISHNA PRAKASAM NELLORE	Regular	100 100 100 100 100 100 100 100 100 100	OPEN OPEN	CC	30 30 30 30 30 30 30 30 30 30 30 30 30 3	30 30 30 30 30 30 30 30 30 30 30 30 30 3	900 900 900 900 900 900 900 900 900 900	25 25 25 0 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 60 60 60 60 60 60 60 60 60 60 60	JARW OF LOT: JRAW OF LOT:	15 15 15 10 0 15 15 15 15 15 15 10 0 15 15 15 15 15 15 15 15 15 15 15 15 15	5 4 3 5 5 5 5 4 3 5 4 5 5 4 5 5 4 5 5 5 4 5 5 5 4 5 5 5 4 5 5 5 5 5 5 5 5 7 5 7
908 909 910 911 911 912 913 914 915 916 917 918 920 921 922 923 924	PAMARRU WITHIN 2 KMS ON CHALLPALLI ROAD KOTA KORS ROAD NH 15 TO CHITTEU DI OS H67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRAL (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERLA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUS WEMULA TO NAGARIUMA SAGAR (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHERLA MANDAL RENTACHINTAL ON HIGHWAY KUKATLAPALLI, BALLIKURVA MANDAL ATMAKUR APSTCE BUS TAND TO SRI ANIANEYA SWAMY TEMPLE NEAR YENKATRAO PALLI CROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN. KAKUPALLI TO MUTHUKUR, MUTHUKUR MANDAL ROMPICHERLA (O KM MILE STONE TO VIPPARLA ON SH) CHIMTAVARAM ROAD BETWEEN NH16 TO PALICHERAPALEM (NOT ON NH), CHILLAKUR MANDAL JULKAKLU, PIDUGURALLA MANDAL JULKAKLU, PIDUGURALLA MANDAL ON NH 65 WITHIN S KMS OF NIDUMOLU ON RHS ON VIJAYAWADA MACHILIPATNAM ROAD SANTHAMAGULURUX T. TOWARDS ROMPICHARLA ON SH OJILI TO KURUGONDA, OJILI MANDAL RHS OF CHILLAKALILU TO GARIKAPADU ON NH PENAMAGULURUX T. TOWARDS ROMPICHARLA ON SH OJILI TO KURUGONDA, OJILI MANDAL RHS OF CHILLAKALILU TO GARIKAPADU ON NH PENAMALURU TO GARRIKAPADU ON NH PENAMALURU TO GARRIKAPADU ON NH	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM NELLORE GUNTUR NELLORE GUNTUR KRISHNA NELLORE GUNTUR KRISHNA NELLORE	Regular	100 100 100 100 100 100 100 100 100 100	OPEN OPEN	CC DC DC DC CFS DC	30 30 30 30 30 30 30 30 30 30 30 30 30 3	30 30 30 30 30 30 30 30 30 30 30 30 30 3	900 900 900 900 900 900 900 900 900 900	25 25 25 0 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 0 60 60 60 60 75 0 60 60 60 60 60 60 60 60 60 60 60 60 6	DARW OF LOT: DRAW	15 15 15 10 0 15 15 15 15 15 10 0 15 15 15 15 15 15 15 15 15 15 15 15 15	5 4 3 3 5 5 4 4 5 5 5 3 3 4 4 5 5 5 3 3
908 909 910 911 912 913 914 915 916 917 918 919 920 921 922 923 924	PAMARRU WITHIN 2 KMS ON CHALLPALLI ROAD KOTA GROSS ROAD NH 16 TO CHITTEDU ON SH67 KAUTHAVARI AGRAHARAM (ON SH-168) TENALI TO DUGGIRAL (IN TENALI MUNCIPALITY LIMITS) SAVALYAPURAM VILLAGE, SAVALYAPURAM MANDAL REMIDICHERIA, BOLLAPALLE MANDAL DAGGUBADU, KARAMCHEDU MANDAL PASUVEMULA TO NAGARIUNA SAGAR (ON NH) ONGOLE -MARKET ROAD - BEHIND MARKET ROAD VIJAYAPURI SOUTH, MACHEBL MANDAL RENTACHINTALA ON HIGHWAY KUKATLAPALLI, BALLIKURYA MANDAL ATMAKUR APSRTC BUS STAND TO SRI ANIANEYA SWAMY TEMPLE NEAN VENKATRAO PALLI GROSS ROAD (BY PASS ROAD) THROUGH ATMAKUR TOWN, KAKUPALLI TO MUTHUKUR, MUTHUKUR MANDAL ROMPICHERIA (OK MILE STONE TO VIPPABLA ON SH) CHINTAYARAM ROAD BETWEEN NH16 TO PALICHERLAPALEM (NOTO N NH), CHILAKUR MANDAL JULAKALLU, PIDUGURALLA MANDAL ON NH 65 WITHIN 5 KMS OF NIDUMOLU ON RHS ON VIJAYAWADA MACHILIPATNAM ROAD SANTHAMAGULURU X. TOWARDS ROMPICHARLA ON SH OJILI TO KURUGGONDA, OJILI MANDAL RIS OF CHILAKALLU Y GARIKAPADO N NH OJILI TO KURUGGONDA, OJILI MANDAL RIS OF CHILAKALLU Y GARIKAPADO N NH	KRISHNA NELLORE KRISHNA GUNTUR GUNTUR GUNTUR PRAKASAM GUNTUR PRAKASAM GUNTUR PRAKASAM NELLORE NELLORE GUNTUR NELLORE GUNTUR NELLORE GUNTUR KRISHNA PRAKASAM NELLORE	Regular	100 100 100 100 100 100 100 100 100 100	OPEN OPEN	CC DC DC CFS DC	30 30 30 30 30 30 30 30 30 30 30 30 30 3	30 30 30 30 30 30 30 30 30 30 30 30 30 3	900 900 900 900 900 900 900 900 900 900	25 25 25 0 0 25 25 25 25 25 25 25 25 25 25 25 25 25	10 60 60 60 60 60 60 60 60 60 60 60 60 60	JARW OF LOT: JRAW OF LOT:	15 15 15 10 0 15 15 15 15 15 15 10 0 15 15 15 15 15 15 15 15 15 15 15 15 15	5 4 3 5 5 5 4 4 5 3 3 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 5 4 5 5 5 5 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8

				ı			ı				ı			
932	SANTHANUTHALAPADU ON SH 53 RHS TOWARDS KURNOOL ROAD	PRAKASAM	Regular	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
933	ANKIREDDY PALEM Y JUNCTION TO EDLAPADU (RHS ON NH 16)	GUNTUR	Regular	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
934	SOMASILA TO MANCHALAPALLI, ANANTHA SAGARAM MANDAL	NELLORE	Regular	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
935 936	PENUGANCHIPROLU KOWTARAM ON SH	KRISHNA KRISHNA	Regular Regular	100 100	OPEN OBC	CC DC	30 30	30 30	900 900	25 25	10 60	BIDDING DRAW OF LOTS	30 15	5 4
937 938	LAKSHMIPURAM TO LANKAPALLI ON NH-216 NUNNA ON SH	KRISHNA KRISHNA	Regular Regular	150 100	SC OPEN	CFS DC	45 30	45 30	2025 900	0 25	0 60	DRAW OF LOTS	0 15	3 5
939	PIDUGURALLA MUNICIPAL LIMITS, ON RHS OF SATTENAPALLI	GUNTUR	Regular	100	OPEN	cc	30	30	900	25	10	BIDDING	30	5
940	DACHEPALLI ROAD (SH) Tuni to Pentakota road via Srirampuram,Payakaropeta	VISAKHAPATNAM	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
941	Mandal From Chodavaram to Gavaravaram , Chodavaram Mandal	VISAKHAPATNAM	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
942	Cheedikada village not on SH (on Chodavaram-Cheedikada	VISAKHAPATNAM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
943	road), Cheedikada Mandal Badangi to Chepurapalli (not on SH) ,Merakamudidam	VIZIANAGARAM	Rural	52	OPEN	DC	20	20	400	12	30		0	4
	Mandal											Draw of Lots		
944	SILAGAM , kaviti Mandal	SRIKAKULAM	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
945	Kella Village ,Gurla Mandal	VIZIANAGARAM	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
946	Chintada, Bobbili Mandal	VIZIANAGARAM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
947	Kotha Cherukupalli ,Chepurapalli Mandal	VIZIANAGARAM	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
948	Veeravasam to Koppuru	WEST GODAVARI	Rural	100	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
949	Valluru within village limits ,KAPILESWARAPURAM Mandal	EAST GODAVARI	Rural	52	OBC PH	DC	20	20	400	12	30	Draw of Lots	0	3
950	Mamidipalli ,Salur Mandal	VIZIANAGARAM	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
951	Savaravalli NH Jn towards Sunrays Resort with in 1 KM not on NH 16 ,Bhogapuram Mandal	VIZIANAGARAM	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
952	Prathipadu to Lampakalova, Prathipadu Mandal	EAST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
953	Kumaradevam Village ,kovvur Mandal	WEST GODAVARI	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
954	Veerabhadrapuram Village, Kothavalasa Mandal Kothavalasa,	VIZIANAGARAM	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
955	Mandal VAJRAPUKOTTURU Vajrapukotturu Mandal	SRIKAKULAM	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
956	Dosari to Kondampeta on Rajam - Mudidham road , Rajam	SRIKAKUJI AM	Rural	52	OBC	DC	20	20	400	12	30		0	3
	Mandal			-								Draw of Lots		
957	Vantaram, Balijipeta Mandal V N PURAM VILLAGE ON KOMARTHI RD ,Narasannapeta	VIZIANAGARAM	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
958	Mandal Mandal	SRIKAKULAM	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
959	Tekkalipatnam to Bendigate road, Palasa Mandal	SRIKAKULAM	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
960	Santhaseetharampuram to Etcheria Jn (Not on NH 16) ,Etcheria Mandal	SRIKAKULAM	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
961	VENUGOPALAPURAM, Vizianagaram Mandal	VIZIANAGARAM	Rural	52	ОВС	DC	20	20	400	12	30	Draw of Lots	0	3
962	NANDIGAM VILLAGE (NOT ON NH) ,Nandigam Mandal	SRIKAKULAM	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
963	Dantha to Pakivalasa (Not on NH 16) ,Kotabommali Mandal	SRIKAKULAM	Rural	52	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	0	4
964	THARLAKOTA to Palasa RD (Not on NH 16), Palasa Mandal	SRIKAKULAM	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
965	From Nimmada to Priyagraharam Kotabommali Mandal	SRIKAKULAM	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
966	P. Dontamuru - From Gollaprolu to Kirlampudi via P.	EAST GODAVARI	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
967	Rayavaram not on SH Pithapuram Mandal KOSTA NOT ON HIGHWAY ,Ranastalam Mandal	SRIKAKULAM	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
968	PITHAPURAM TO KONDEVARAM RHS, U Kothapalli	EAST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
	Mandal													
969	BHAMINI VILLAGE NOT ON HIGHWAY, Bhamini Mandal	SRIKAKULAM	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
970	Gogganamatam Village, Mammidikuduru Mandal	EAST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
971	KINTHALI TO KENIMETTA	SRIKAKULAM	Rural	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
972	Kesava dasu palem, Sakhinetipalli Mandal	EAST GODAVARI	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	0	3
973	Pasarlapudi(Not on NH) , Mammidikuduru Mandal	EAST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
974	Ballipadu Village, Attili Mandal Attili Mandal	WEST GODAVARI	Rural	52	OPEN PH	DC	20	20	400	12	30	Draw of Lots	0	4
975	Vadlamuru within village limits ,Ramachandrapuram Mandal	EAST GODAVARI	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
976	Tamarada to Kandarkota, Peddapuram Mandal	EAST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
977	Kotipalli village, pamarru, mandal Pamarru Mandal	EAST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
978	Ainavilli, Ainavilli Mandal	EAST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
979	From Yerravaram to Yeleswaram on LHS, Yeleswaram Mandal	EAST GODAVARI	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
980	DUPPALAPUDI, (NOT ON SH), ANAPARTHI Mandal	EAST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
	DRAKSHARAMAM TO VENKATAYAPALEM ON RHS	EAST GODAVARI											0	4
981	Ramachandrapuram Mandal		Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots		
982	GOLLAPALEM TO KAJULURU Kajuluru Mandal	EAST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
983	SINGAMPALLE ,RANGAMPETA Mandal	EAST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
984	Kovvada, Kakinada Rural	EAST GODAVARI	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
985	Yeleswaram to J Annavaram ,Yeleswaram Mandal	EAST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
986	Gollavilli ,Uppalaguptam Mandal	EAST GODAVARI	Rural	52	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	0	4
987	Odalarevu, Allavaram MANDAL	EAST GODAVARI	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
988	l Polavaram , l Polavaram Mandal	EAST GODAVARI	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
989	DWARAPUDI(NOT ON STATE HIGHWAY), mandapeta Mandal	EAST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
990	Sankaraguptam Malkipuram Mandal	EAST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
991	KOVVALI (KOVVALI TO GUNDUGOLANU ROUTE) ,Denduluru	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
	Mandal					_				_]		

				ı			ı				1	1		
992	chebrol to Gollagudem on chebrolu to dubacherla road "Unguturu Mandal	WEST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
993	Kanavaram, Rajanagaram Mandal	EAST GODAVARI	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
994	Kothalanka within village limits, Mummidivaram Mandal	EAST GODAVARI	Rural	52	ОВС	DC	20	20	400	12	30	Draw of Lots	0	3
995	Chityala on chityala to Gopalapuram, road Gopalapuram Mandal	WEST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
	Suryarao peta (on Ratnalakuta temple from 1 KM towards				0.0511									
996	Pedavegi road) RHS from Ratnalamma temple, Pedavegi Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
997	Arugolanu Village, Tadepalligudem Mandal	WEST GODAVARI	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
998	Borrampalem-T.Narasapuram on Chintalapudi road on RHS, T.Narasapuram Mandal	WEST GODAVARI	Rural	52	ОВС	DC	20	20	400	12	30	Draw of Lots	0	3
999	Kothur (Eluru area) on Eluru to Pedapadu road, Opp: Kothuru Jute Mill., Eluru Mandal	WEST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1000	Bondada Village ,Kalla Mandal	WEST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1001	G Yerrampalem, Rajanagaram Mandal	EAST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1002	Bobbanapalli Village, Veeravasaram Mandal	WEST GODAVARI	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1003	Vommangi, Prathipadu Mandal	EAST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1004	Brahmana Cheruvu Not on SH , Penumantra Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1005	Mogallu Village, Palakoderu Mandal	WEST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1006	4 km after mahipal cheruvu to Katrenekona Not on SH ,Mummidivaram Mandal	EAST GODAVARI	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1007	Kalipatnam Village, Mogalthur Mandal	WEST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1008	Kaza Village , Elamanchili Mandal	WEST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1009	Dharmavaram within village limits on main road, Prathipadu	EAST GODAVARI	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1010	Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30		0	4
	Kopparru Village ,Narsapuram Mandal											Draw of Lots		
1011	Koppaka on koppaka to eluru road ,Pedavegi Mandal Between Pulla and MM Puram on Pulla to M.M.Puram road	WEST GODAVARI	Rural	62	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1012	,Unguturu Mandal	WEST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1013	VENKATAYAPALEM to KOTIPALLI ON RHS, K Gangavaram Mandal	EAST GODAVARI	Rural	60	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	0	4
1014	Rangapuram (Rangapuram to Dharamajigudem road LHS), Lingapalem Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1015	Pedapadu on pedapadu to eluru road, Pedapadu Mandal	WEST GODAVARI	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1016	CHODAVARAM ON CHODAVARAM TO TELIKACHERLA ROAD	WEST GODAVARI	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1017	,Nallajerla Mandal Muppinavarigudem towards JR Gudem highway LHS	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1018	,Buttayagudem Mandal	WEST GODAVARI	Rural	60	OPEN	DC	20	20	400	12	30		0	4
	Peravali to Repakakhandrika, Peravali Mandal											Draw of Lots		
1019	yanamdurru to Deyalatippa, Bhimavaram Mandal JANGAREDDYGUDEM TO NAGULA GUDEM UPTO 1.5 KM ,	WEST GODAVARI	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1020	JANGAREDDYGUDEM Mandal	WEST GODAVARI	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1021	Yadavolu - (Poguturu to Yernagudem road) Devarapalli Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1022	Gangalakurru Village(Not on SH) ,Ambajipeta Mandal	EAST GODAVARI	Rural	52	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	0	4
1023	Tottumuri, Ainavilli Mandal	EAST GODAVARI	Rural	52	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	0	3
1024	TANGELLAMUDI LHS ON JANGAREDDYGUDEM ROAD	WEST GODAVARI	Rural	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1025	VEMULURU, kovvur Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1026	Kuppanapoodi Village, Akividu Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1027		WEST GODAVARI	Rural	60	OBC	DC	20	20	400	12	30		0	3
	Kummarapurugupalem Village ,Mogalthur Mandal											Draw of Lots		
1028	G Vemavaram Thallarevu Mandal	EAST GODAVARI	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1029	Perugugudem Denduluru Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1030	Poduru village & Mandal Poduru Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1031	Lakshmaneswarapura, Agraharam Village Tadepalligudem Mandal	WEST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1032	Pothavaram, Nallajerla Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1033	GOPALAPURAM TO KARRICHERLAGUDEM ON KHAMMAM-	WEST GODAVARI	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1034	DEVARAPALLI ROAD LHS Puppalavarigudem (Gokavaram Center to 100 mtrs),	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1035	Lingapalem Mandal Polavaram on polavaram tp annadevarapeta road Polavaram	WEST GODAVARI	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
	Mandal													
1036	Kommara Village, Attili Mandal	WEST GODAVARI	Rural	52	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	0	4
1037	Munagapaka Road, Atuchutapuram to Anakapalle	VISAKHAPATNAM	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1038	RavipaduVillage, Pentapadu mandal	WEST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1039	Vendra Village, Palakoderu Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1040	T.Narasapuram (on Chintalapudi-Ravikampadu road) on RHS, T.Narasapuram Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1041	J JUTE MILL CIRCLE TO SVR STATUE ON BYEPASS ROAD Eluru N	WEST GODAVARI	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	0	3
1042	ATTILI TO RELANGI, Iragavaram Mandal	WEST GODAVARI	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1043	T.Narasapuram on LHS, T.Narasapuram Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1044	Thirupathipuram Village, Attili Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1045	Teeparru village ,Peravali Mandal	WEST GODAVARI	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1046	Kakinada Beach to Uppada on LHS	EAST GODAVARI	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1047	Siragalapalli Village ,Elamanchili Mandal	WEST GODAVARI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1048	Draksharamam to Venkatayipalem on Kotipalli road on RHS	EAST GODAVARI	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1049	KANDRIKAGUDEM JUNCTION TO JANGAREDDYGUDEM ROAD ON SH42 (WITHIN 3 KM)	WEST GODAVARI	Rural	100	OBC PH	DC	20	20	400	12	30	Draw of Lots	0	3
L	OIR STIME (MITHING STIME)	l .	1	·	I	1	·	1	1	1	1	J	1	L

	T									,		,		
1050	ON KADIYAM DULLA ROAD FROM KADIYAM TO VEERAVARAM	EAST GODAVARI	Rural	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1051	Annavaram , Not on NH.	EAST GODAVARI	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1052	ON SRIRAMPURAM ROAD NEAR SRI CHAITANYA TECHNO SCHOOI	EAST GODAVARI	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1053	From Jiyyammavalasa to Veragattam Not on SH,	VIZIANAGARAM	Rural	52	ОВС	DC	20	20	400	12	30	Draw of Lots	0	3
1054	Jiyyammavalasa Mandal Auto Nagar,Kakinada	EAST GODAVARI	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1055	Hiramandalam to Metturu on New Diversion road	SRIKAKULAM	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1056	Bhimavaram to Losari Road	WEST GODAVARI	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1057	SANTHAKAVITI	SRIKAKULAM	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1058	Tekkali to Jagati Metta Cheruvu on Tekkali Main Road	SRIKAKULAM	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1059	Poolbagh to Gurla on Either side	VIZIANAGARAM	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1060	Satyawada Undrarajavaram mandal on Kaldari Satyawada	WEST GODAVARI	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1061	road JAGGAMPETA NEAR JVR CINEMA HALL ON GURRAPALEM	EAST GODAVARI	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1062	ROAD VELIVENU(NOT ON SH), undrajavaram Mandal	WEST GODAVARI	Rural	52	Open CC 1	DC	20	20	400	12	30	Draw of Lots	0	4
1063	Tekkali Town	SRIKAKULAM	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1064	Darisiparru Village Not on SH, Pentapadu Mandal	WEST GODAVARI	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1065	V.T. Agraharam Junction ('Y' Junction) to Korukonda (not on NH43)	VIZIANAGARAM	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1066	Vizianagaram Town to Nellimarla Road (3 KM from Poolbagh on either side)	VIZIANAGARAM	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1067	Peddavam (Between Tallapudi and Kappavaram Road)	WEST GODAVARI	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1068	CHIKKALAVALASA TO URLAM	SRIKAKULAM	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1069	Nellivada (Ambati Valasa to Nellivada)	VIZIANAGARAM	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1070	Madugola Village(Modugola Koduru Road) ,Madugola Mandal	VISAKHAPATNAM	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1071	TATIPAKA to Geddada	EAST Godavari	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1072	Kunduru, Pammaru Mandal	EAST GODAVARI	Rural	52	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	0	3
1073	Mulaparru Village Penugonda Mandal	WEST GODAVARI	Rural	52	ST-CC1	CFS	20	20	400	0	0	Draw of Lots	0	2
1074	FROM CHAGALLU TO NIDADAVOL ON NARSAPURAM- NIDADAVOL ROAD outside municipal limit	WEST GODAVARI	Rural	100	Open PH	DC	20	20	400	12	30	Draw of Lots	0	4
1075	AUTONAGAR RAJAHMUNDRY (ON AUTONAGAR MAIN ROAD TO NH)	EAST GODAVARI	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	0	3
1076	Indrapalem to G.Mamidada WITHIN 5 KMS FROM	EAST GODAVARI	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1077	INDRAPALEM Malakapalli (Between Tallapudi and Kappavaram Road)	WEST GODAVARI	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1078	From Rajam to Cheepurupalli road (within 4km from Rajam)	Srikakulam	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
			Rural	100	OBC	DC	20		400	12		Draw of Lots		3
1079	Ethakota to Taptipaka jn on rajahmundry to Tatipaka road	EAST GODAVARI						20			30			
													0	
1080	Cheppurupalli	VIZIANAGARAM	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1080	Cheppurupalli Thimma puram to sarpavaram jn on Thimmapuram to kakinada road													
	Thimma puram to sarpavaram jn on Thimmapuram to	VIZIANAGARAM	Rural	100	OPEN	DC	20	20	400	12	30	Draw of Lots	0	4
1081	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA-	VIZIANAGARAM EAST GODAVARI	Rural Rural	100	OPEN OPEN	DC DC	20	20	400	12	30 30	Draw of Lots Draw of Lots	0	4
1081	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru[within 2 km from Railway crossing], Pedapadu	VIZIANAGARAM EAST GODAVARI WEST GODAVARI	Rural Rural Rural	100 100 52	OPEN OPEN ST	DC DC CFS	20 20 20	20 20 20	400 400 400	12 12 0	30 30 0	Draw of Lots Draw of Lots Draw of Lots	0 0	4 4 2
1081 1082 1083	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI	Rural Rural Rural	100 100 52 100	OPEN OPEN ST OBC OPEN	DC DC CFS DC	20 20 20 20 20	20 20 20 20 20	400 400 400 400	12 12 0	30 30 0 30	Draw of Lots Draw of Lots Draw of Lots Draw of Lots	0 0 0	4 4 2 3
1081 1082 1083 1084 1085	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road,	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI	Rural Rural Rural Rural Rural Rural	100 100 52 100 52 52	OPEN OPEN ST OBC OPEN OPEN Open CC1	DC DC CFS DC DC DC	20 20 20 20 20 20 20	20 20 20 20 20 20 20	400 400 400 400 400 400	12 12 0 12 12 12	30 30 0 30 30 30	Draw of Lots	0 0 0 0 0 0 0	4 4 2 3 4
1081 1082 1083 1084 1085	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16)	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI EAST GODAVARI VISAKHAPATNAM	Rural Rural Rural Rural Rural Rural Rural	100 100 52 100 52 52 52	OPEN OPEN ST OBC OPEN Open CC1 OBC	DC DC CFS DC DC CCC	20 20 20 20 20 20 20 45	20 20 20 20 20 20 20 45	400 400 400 400 400 400 2025	12 12 0 12 12 12 12 25	30 30 0 30 30 30	Draw of Lots Bidding	0 0 0 0 0 0	4 4 2 3 4 4
1081 1082 1083 1084 1085 1086	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI EAST GODAVARI VISAKHAPATNAM VIZIANAGARAM	Rural Rural Rural Rural Rural Rural Rural Rural Rural Regular	100 100 52 100 52 52 52 150	OPEN OPEN ST OBC OPEN OPEN OPEN COBC ST	DC DC CFS DC DC CC CC CFS	20 20 20 20 20 20 20 45 30	20 20 20 20 20 20 20 45 30	400 400 400 400 400 400 2025 900	12 0 12 12 12 12 25 0	30 30 0 30 30 30 10	Draw of Lots Bidding Draw of Lots	0 0 0 0 0 0 0	4 4 2 3 4
1081 1082 1083 1084 1085	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI EAST GODAVARI VISAKHAPATNAM	Rural Rural Rural Rural Rural Rural Rural	100 100 52 100 52 52 52	OPEN OPEN ST OBC OPEN Open CC1 OBC	DC DC CFS DC DC CCC	20 20 20 20 20 20 20 45	20 20 20 20 20 20 20 45	400 400 400 400 400 400 2025	12 12 0 12 12 12 12 25	30 30 0 30 30 30	Draw of Lots Bidding	0 0 0 0 0 0	4 4 2 3 4 4 4 3
1081 1082 1083 1084 1085 1086 1087	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on Either	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI EAST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM	Rural Rural Rural Rural Rural Rural Rural Rural Regular Regular	100 100 100 52 100 52 100 52 150 100 150	OPEN OPEN ST OBC OPEN Open CC1 OBC ST OPEN	DC DC CFS DC DC CC CC CC CC CC	20 20 20 20 20 20 20 20 45 30 20	20 20 20 20 20 20 20 45 30 20	400 400 400 400 400 400 2025 900 400	12 12 0 12 12 12 12 25 0	30 30 0 30 30 30 10 0	Draw of Lots Bidding Draw of Lots Bidding	0 0 0 0 0 0 0 30	4 4 2 3 4 4 4 3 5
1081 1082 1083 1084 1085 1086 1087 1088 1089	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple in	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI UEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Regular Regular Regular Regular	100 100 52 100 52 52 100 52 52 150 150 150	OPEN OPEN ST OBC OPEN Open CC1 OBC ST OPEN OPEN OPEN OPEN	DC DC CFS DC DC DC CC CC CC CC CC CC CC CC	20 20 20 20 20 20 20 45 30 20 45	20 20 20 20 20 20 20 45 30 20 45 45	400 400 400 400 400 400 2025 900 400 2025	12 12 0 12 12 12 12 12 12 25 0 25 25	30 30 0 30 30 30 30 10 0	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding	0 0 0 0 0 0 0 0 30 0	4 2 3 4 4 4 3 5 4
1081 1082 1083 1084 1085 1086 1087 1088 1089	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talapulamma temple in kakinada to yanam routue on NH216 on Either side	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Regular Regular Regular Regular	100 100 100 52 100 52 150 150 150 150	OPEN OPEN ST OBC OPEN Open CC1 OBC ST OPEN OPEN OPEN OPEN OPEN	DC DC CFS DC DC CC CC CC CC CC CC CC	20 20 20 20 20 20 20 45 30 20 45 45 45	20 20 20 20 20 20 20 45 30 20 45 45 45	400 400 400 400 400 400 2025 900 400 2025 2025 2025	12 12 0 12 12 12 12 12 12 25 0 25 25 25	30 30 30 30 30 30 10 0 10 75 10	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Bidding	0 0 0 0 0 0 0 30 0 30 15 30	4 4 2 3 4 4 4 4 5 5 5 5 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple in kakinada to yanam routue on NH216 on Either side	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI UEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VIZIANAGARAM EAST GODAVARI EAST GODAVARI EAST GODAVARI EAST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Regular Regular Regular Regular Regular	100 100 100 52 100 52 150 150 150 150 100	OPEN OPEN ST OBC OPEN Open CC1 OBC ST OPEN OPEN OPEN OBC OPEN OPEN SC	DC DC CFS DC DC CC	20 20 20 20 20 20 20 45 30 20 45 45 45	20 20 20 20 20 20 20 45 30 20 45 45 45	400 400 400 400 400 400 2025 900 400 2025 2025 2025 900	12 12 0 12 12 12 12 12 12 25 0 25 25 25 0 0	30 30 0 30 30 30 10 0 10 75 10	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots	0 0 0 0 0 0 0 30 0 30 15 30 30	4 4 2 3 4 4 4 4 5 5 5 5 3 3
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talipublamma temple in kakinada to yanam routue on NH216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM	Rural Rural Rural Rural Rural Rural Rural Regular Regular Regular Regular	100 100 100 52 100 52 150 150 150 150 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OPEN OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN	DC DC CFS DC DC CC	20 20 20 20 20 20 20 45 30 20 45 45 45 30 30 30	20 20 20 20 20 20 45 30 20 45 45 45 45 30 30	400 400 400 400 400 400 2025 900 400 2025 2025 2025 900 900	12 12 0 12 12 12 12 12 12 12 25 0 25 25 25 25 25 25	30 30 0 30 30 30 10 0 10 75 10	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Draw of Lots Draw of Lots Draw of Lots	0 0 0 0 0 0 0 30 0 30 15 30 30	4 4 2 3 4 4 4 3 5 5 4 4 5 5 5 3 3 4 4
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple in kakinada to yanam routue on NH216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LH5) (from 895 kms to 903 kms)on NH-16	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VIZIANAGARAM EAST GODAVARI EAST GODAVARI EAST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 150 150 150 100 150 150 150	OPEN OPEN ST OBC OPEN OPEN OPEN OPEN OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC CFS DC DC CC	20 20 20 20 20 20 20 45 30 20 45 45 45 45 45	20 20 20 20 20 20 20 45 30 20 45 45 45 45 45	400 400 400 400 400 400 2025 900 400 2025 2025 2025 900 900 900 2025	12 12 0 12 12 12 12 12 12 25 0 25 25 25 25 25 25 25 25 25	30 30 0 30 30 30 10 0 10 75 10 10 0 10	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Draw of Lots Bidding	0 0 0 0 0 0 0 30 0 30 15 30 0	4 4 2 3 4 4 4 3 5 5 5 5 3 3 4 5 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of the company of the c	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 150 150 150 100 100 150 150 150	OPEN OPEN ST OBC OPEN OPEN OPEN OPEN OBC OPEN OBC OPEN OBC OPEN OPEN SC OBC OPEN	DC DC CFS DC DC CC CFS CC CC CC CC CC CC CC CC CC	20 20 20 20 20 20 45 30 20 45 45 45 45 45 45	20 20 20 20 20 20 45 30 20 45 45 45 30 30 45 45	400 400 400 400 400 400 2025 900 2025 2025 900 900 2025 2025	12 12 0 12 12 12 12 12 25 0 25 25 25 0 25 25 25 25 25 25	30 30 30 30 30 30 10 0 10 75 10 10 0 60 10	Draw of Lots Bidding Draw of Lots Draw of Lots Bidding Bidding	0 0 0 0 0 0 0 30 0 30 15 30 30 0	4 4 2 3 4 4 4 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple in kakinada to yanam routue on NH216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LH5) (from 895 kms to 903 kms)on NH-16	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 150 150 150 100 150 150 100 150 150	OPEN OPEN ST OBC OPEN OPEN OPEN OBC OPEN OBC OPEN OPEN SC OBC OPEN SC OPEN SC	DC DC CFS DC DC CC	20 20 20 20 20 20 45 30 20 45 45 45 45 30 30 45 45 30 30 30 45	20 20 20 20 20 20 45 30 20 45 45 45 30 30 30 45 45 30 30 30 30 30 45 30 30 45 45 30 30 45 45 45 45 45 45 45 45 45 45 45 45 45	400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900	12 12 0 12 12 12 12 12 25 0 25 25 25 25 0 25 25 0 0	30 30 30 30 30 30 10 0 10 75 10 0 60 10 0	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Draw of Lots	0 0 0 0 0 0 0 30 0 30 15 30 0 15 30 0	4 4 2 3 4 4 4 4 5 5 5 3 4 4 5 5 5 3 3
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar ,Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of the proad Armalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple in kakinada to yanam routue on NH216 on Either side PYEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kms) on NH-16 AGNAMPUD on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town , From Ramalasmana Junction to Day & Night Junction	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM SAST GODAVARI VISAKHAPATNAM VISAKHAPATNAM VISAKHAPATNAM VIZIANAGARAM SRIKAKULAM	Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 100 150 150 100 100 100 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OBC OPEN OBC OPEN OBC OPEN OPEN SC OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC DC CFS DC CC CC CFS CC CC CC CFS CC	20 20 20 20 20 20 45 30 20 45 45 30 30 30 45 45 30 20	20 20 20 20 20 20 45 30 20 45 45 45 30 30 30 45 45 30 20 45	400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900 900	12 12 0 12 12 12 12 12 12 25 0 25 25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding	0 0 0 0 0 0 30 0 30 15 30 0 15 30 0 0 30 0	4 4 2 3 4 4 4 4 5 5 5 5 3 4 4 5 5 5 3 4 4 5 5 5 3 4 4 5 5 5 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of the road Amalapuram bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulanma temple in kakinada to yanam routure on NH216 on Either side Pydon Sold on Manda Peruna (HS) (From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kms) on NH-16 AGNAMPUDIO at OS Sethanagaram on SH Srikakulam Town, From Ramlaksmana Junction to Day & Srikakulam Town, From Ramlaksmana Junction to Day & Srikakulam Town, From Ramlaksmana Junction to Day &	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 150 150 150 100 150 150 100 150 150	OPEN OPEN ST OBC OPEN OPEN OPEN OBC OPEN OBC OPEN OPEN SC OBC OPEN SC OPEN SC	DC DC CFS DC DC CC	20 20 20 20 20 20 45 30 20 45 45 45 45 30 30 45 45 30 30 30 45	20 20 20 20 20 20 45 30 20 45 45 45 30 30 30 45 45 30 30 30 30 30 45 30 30 45 45 30 30 45 45 45 45 45 45 45 45 45 45 45 45 45	400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900	12 12 0 12 12 12 12 12 25 0 25 25 25 25 0 25 25 0 0	30 30 30 30 30 30 10 0 10 75 10 0 60 10 0	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Draw of Lots	0 0 0 0 0 0 0 30 0 30 15 30 0 15 30 0	4 4 2 3 4 4 4 3 5 5 5 3 3 4 4 5 5 5 5 3 3 4 4 5 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar ,Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of the proad Armalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple in kakinada to yanam routue on NH216 on Either side PYEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kms) on NH-16 AGNAMPUD on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town , From Ramalasmana Junction to Day & Night Junction	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM SAST GODAVARI VISAKHAPATNAM VISAKHAPATNAM VISAKHAPATNAM VIZIANAGARAM SRIKAKULAM	Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 100 150 150 100 100 100 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OBC OPEN OBC OPEN OBC OPEN OPEN SC OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC DC CFS DC CC CC CFS CC CC CC CFS CC	20 20 20 20 20 20 45 30 20 45 45 30 30 30 45 45 30 20	20 20 20 20 20 20 45 30 20 45 45 45 30 30 30 45 45 30 20 45	400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900 900	12 12 0 12 12 12 12 12 12 25 0 25 25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding	0 0 0 0 0 0 30 0 30 15 30 0 15 30 0 0 30 0	4 4 2 3 4 4 4 4 5 5 5 5 3 4 4 5 5 5 3 4 4 5 5 5 3 4 4 5 5 5 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of the road and particular side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulanma temple in kakinada to yanam routue on NH216 on Either side Pydah college of engineering to talupulanma temple in kakinada to yanam routue on NH216 on Either side Pydah no MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kms)on NH-16 AGNAMPUDI on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town , From Ramlaismana Junction to Day & Night junction	EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI USAST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM VISAKHAPATNAM VIZIANAGARAM VIZIANAGARAM SRIKAKULAM EAST GODAVARI	Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 100 150 150 150 100 100 100 150 150	OPEN OPEN ST OBC OPEN OPEN OPEN OBC OPEN OBC OPEN OPEN OPEN SC OBC OPEN OPEN OPEN SC OBC OPEN OPEN OPEN SC OBC OPEN	DC DC DC CFS DC DC CC	20 20 20 20 20 20 45 30 20 45 45 45 30 30 20 45 45 45 45 30 20 45 45 45 45 45 45 45 45 45 45 45 45 45	20 20 20 20 20 20 45 30 20 45 45 45 30 30 20 45 45 45 45 30 20 45 45 45 45 45 45 45 45 45 45 45 45 45	400 400 400 400 400 400 400 2025 900 400 2025 2025 2025 900 900 2025 2025 900 900 2025	12 12 0 12 12 12 12 12 12 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10 10 10 10 10 10 10 10 1	Draw of Lots Bidding Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding	0 0 0 0 0 0 30 0 30 15 30 0 15 30 0 30 0	4 4 2 3 4 4 4 3 5 5 5 3 3 4 4 5 5 5 5 3 3 4 4 5 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096 1097 1098	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru[within z km from Railway crossing], Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulanma temple in kakinada to yanam routue on NH216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kms) on NH-16 AGNAMPUDI on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town , From Ramlaksmana Junction to Day & Night Junction Paasarlapudi to Kondammachinta on NH-216 either side	EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI USAST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM VISAKHAPATNAM VISAKHAPATNAM SAST GODAVARI VISAKHAPATNAM VISAKHAPATNAM VISIANAGARAM VIZIANAGARAM SRIKAKULAM EAST GODAVARI EAST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 100 150 150 150 100 100 150 150 100 10	OPEN OPEN ST OBC OPEN OPEN OPEN OBC OPEN OBC OPEN OBC OPEN OPEN SC OBC OPEN SC OPEN OPEN SC OPEN OPEN SC OPEN OPEN OPEN SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC DC CFS DC CC	20 20 20 20 20 20 45 30 20 45 45 45 45 45 30 20 45 30 45 30 45 30 45 30 45 30 45 30 45 45 30 45 45 45 45 45 45 45 45 45 45 45 45 45	20 20 20 20 20 20 45 30 20 45 45 45 45 45 30 20 45 30 20 45 30 30 45 30 45 30 45 30 45 30 45 45 45 45 45 45 45 45 45 45 45 45 45	400 400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900 900 2025	12 12 0 12 12 12 12 12 12 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10 0 60 10 10 60 10 60 60 60 60 60 60 60 60 60 6	Draw of Lots Bidding Draw of Lots	0 0 0 0 0 0 30 0 30 15 30 0 15 30 0 30 0	4 4 2 3 4 4 4 3 5 5 5 3 4 4 5 5 5 5 5 5 5 5 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096 1097 1098	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru[within 2 km from Railway crossing], Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of the road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple in kakinada to yanam routue on NH216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LH5) (from 895 kms to 903 kms)on NH-16 AGNAMPUDI on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town , From Ramlaksmana Junction to Day & Night Junction Paasarlapudi to Kondammachinta on NH-216 either side S. Yanam to N.Kothapalli Velagalapalli (SH43) on Lingapalem to Chintalapudi road	EAST GODAVARI WEST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM VISIANAGARAM VISIANAGARAM VISIANAGARAM VIZIANAGARAM VIZIANAGARAM VIZIANAGARAM SRIKAKULAM EAST GODAVARI EAST GODAVARI EAST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 100 150 150 150 100 100 100 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OBC OPEN OBC OPEN OPEN OPEN SC OPEN OPEN SC OPEN OPEN SC OPEN OPEN SC OPEN OPEN OPEN SC OPEN OPEN SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC DC CFS CC CC CFS CC CC CC CFS CC CC CC CFS CC	20 20 20 20 20 20 45 30 20 45 45 45 45 30 20 45 30 20 45 30 30 30 45 30 30 45 30 40 40 40 40 40 40 40 40 40 40 40 40 40	20 20 20 20 20 20 45 30 20 45 45 45 45 30 20 45 30 30 45 45 30 30 45 45 30 45 30 45 30 45 30 45 30 45 30 45 30 45 30 45 30 45 30 40 40 40 40 40 40 40 40 40 40 40 40 40	400 400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900 900 2025 900 900	12 12 0 12 12 12 12 12 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10 10 60 60 60	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Draw of Lots	0 0 0 0 0 0 30 0 30 15 30 0 15 30 0 30 0	4 4 2 3 4 4 4 3 5 5 3 4 5 5 3 4 5 5 4
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096 1097 1098 1099	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDADA ON GMAMIDADA- KAKINADA ROAD Vatluru[within 2 km from Railway crossing], Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar ,Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of the road of the road of the company of the road of	VIZIANAGARAM EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM VIZIANAGARAM SRIKAKULAM EAST GODAVARI WEST GODAVARI WEST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 100 52 100 52 150 100 150 150 150 100 100 150 150 100 10	OPEN OPEN ST OBC OPEN OPEN OPEN OPEN OBC OPEN OPEN OPEN SC OBC OPEN OPEN SC OBC OPEN OPEN OPEN SC OBC OPEN OPEN OPEN OPEN SC OBC OPEN OPEN OPEN OPEN OPEN SC OBC	DC DC CFS DC CC CFS CC CC CC CFS CC CC CC CFS CC CC CC CFS CC CC CC CC CFS CC	20 20 20 20 20 20 45 30 20 45 45 45 45 30 20 45 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	20 20 20 20 20 20 45 30 20 45 45 45 45 30 30 20 45 30 30 30 30 30 30 30 30 30 30 30 30 30	400 400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900 900 900 900	12 12 0 12 12 12 12 12 12 25 0 25 25 25 25 25 25 25 25 0 25 25 25 0 25 25 0 25 25 0 25 25 0 25 25 0 25 25 0 0 0 0	30 30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10 0 10 0 10 0 10 0 10 0 10 1	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Draw of Lots Draw of Lots Draw of Lots Bidding Draw of Lots Draw of Lots Draw of Lots Draw of Lots	0 0 0 0 0 0 30 0 30 15 30 0 15 30 0 0 30 0 15 30 0 0 15 30 0 0 15 15 15 16 16 16 16 16 16 16 16 16 16 16 16 16	4 4 2 3 4 4 4 4 3 5 5 3 4 5 5 3 4 5 5 4 3 3
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096 1097 1098 1099 1100 1101	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru[within k im from Railway crossing], Pedapadu Mandall Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulanma temple in kakinada to yanam routue on NH216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancherunu (LHS) (from 895 kms to 903 kms)on NH-16 AGNAMPUDI on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town , From Ramlaksmana Junction to Day & Night Junction Paasarlapudi to Kondammachinta on NH-216 either side S.Yanam to N.Kothapalli Velagalapalli (SH43) on Lingapalem to Chintalapudi road Gollavanitheppa to gutlapadu on SH II.TD junction towards Rly Station LHS (Rajamundry)	EAST GODAVARI EAST GODAVARI EAST GODAVARI EAST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM VISIANAGARAM VIZIANAGARAM SRIKAKULAM EAST GODAVARI EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 52 100 52 150 100 150 150 150 100 100 100 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN SC OBC OPEN SC OPEN OPEN OPEN OPEN OPEN ST	DC DC DC DC CFS CC	20 20 20 20 20 20 45 30 20 45 45 45 45 30 20 45 30 30 30 30 30 30 30 30 30 30 30 30 30	20 20 20 20 20 20 45 30 20 45 45 45 45 30 20 45 30 30 30 30 30 30 30 30 30 30 30 30 30	400 400 400 400 400 400 400 2025 900 400 2025 2025 900 900 900 900 900	12 12 12 0 12 12 12 12 12 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10 0 60 10 10 45	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Draw of Lots Draw of Lots Draw of Lots Bidding Draw of Lots	0 0 0 0 0 0 30 0 30 15 30 0 15 30 0 30 0	4 4 2 3 4 4 4 3 5 5 3 4 5 5 3 4 5 5 3 4 5 5 5 3 5 5 5 7 7 7 8 7 8 7 8 8 8 8 8 8 8 8 8 8
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1099 1100 1101 1102	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandali Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NN161) Jagaram to Jami Autonagar, Vitzag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple kakinada to yanam routue on HN216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kmsjon NH-16 AGNAM/PUDI on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town, From Ramlaksmana Junction to Day & Night Junction Paasarlapudi to Kondammachinta on NH-216 either side S. Yanam to N. Kothapalli Velagalapalii (SH43) on Lingapalem to Chintalapudi road Gollavanitheppa to gutlapadu on SH ILTD junction towards Riy Station LHS (Rajamundry) T.Narsapuram on SH43 on chintalapudi to kamavarapu kota T.Narsapuram on SH43 on chintalapudi to kamavarapu kota	VIZIANAGARAM EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI EAST GODAVARI EAST GODAVARI VISAKHAPATNAM VISIANAGARAM VISIANAGARAM VISIANAGARAM VISIANAGARAM VISIANAGARAM VISIANAGARAM SRIKAKULAM EAST GODAVARI EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI VISAKHAPATNAM VISIANAGARAM EAST GODAVARI WEST GODAVARI WEST GODAVARI VISAKHAPATNAM	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 100 52 100 52 150 100 150 150 150 100 100 100 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC DC CFS DC CC	20 20 20 20 20 20 45 30 20 45 45 45 30 20 45 30 30 20 45 30 30 30 30 30 30 30 30 30 30 30 30 30	20 20 20 20 20 20 45 30 20 45 45 45 30 20 45 30 20 45 30 30 30 20 45 30 30 20 45 30 30 30 30 30 30 30 30 30 30 30 30 30	400 400 400 400 400 400 400 2025 900 400 2025 2025 2025 900 900 900 900 900 400	12 12 12 0 12 12 12 12 12 12 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10 10 60 60 60 60 60 60 60 60 60 6	Draw of Lots Bidding Draw of Lots Draw of Lots Bidding Draw of Lots Draw of Lots Draw of Lots Draw of Lots	0 0 0 0 0 0 30 0 30 15 30 0 15 30 0 30 0	4 4 2 3 4 4 4 3 5 5 3 4 5 5 3 4 5 5 5 4 5 5 5 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096 1097 1100 1101 1102 1103 1104 1105	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G. MAMIDADA TO PEDDADA ON GMAMIDADA FROM G. MAMIDADA TO PEDDADA ON GMAMIDADA Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NN161) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of eingerering to talupulamma temple in kakinada to yanam routue on NH216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kmsjon NH-16 AGNAMPUDI on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town, From Ramlaksmana Junction to Day & Night junction Paasarlapudi to Kondammachinta on NH-216 either side S. Yanam to N. Kothapalli Velagalapalli (SH43) on Lingapalem to Chintalapudi road Gollavanitheppa to gutlapadu on SH ILTD junction towards Riy Station LHS (Rajamundry) 100 Feet Road, Madhavadhara T. Narsapuram on SH43 on chintalapudi to kamavarapu kota road FROM VEMAGRI TO KADIYAM ON SH 40(KAKINADA ROAD) Mummidivaram to Bondaikodu on NH 216 RHS	VIZIANAGARAM EAST GODAVARI WEST GODAVARI EAST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI VISAKHAPATNAM WEST GODAVARI VISAKHAPATNAM WEST GODAVARI VISAKHAPATNAM VEST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 100 52 100 52 100 52 150 100 150 150 100 100 100 150 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN SC OBC OPEN OPEN SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	20 20 20 20 20 20 20 45 30 45 45 45 30 30 45 45 30 20 45 30 20 45 30 30 45 30 20 45 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	20 20 20 20 20 20 45 30 45 45 45 30 30 45 45 30 20 45 30 20 45 30 20 45 30 30 30 30 30 30 30 30 30 30 30 30 30	400 400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900 900 900 900 900 900 900 900 900 90	12 12 12 0 12 12 12 12 12 25 0 25 25 25 0 25 25 0 25 25 25 0 25 25 0 25 25 0 25 25 25 0 25 25 25 0 25 25 25 25 0 25 25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 30 30 10 0 10 10 0 10 10 0 10 10	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Bidding Bidding Draw of Lots Bidding Bidding Draw of Lots Draw of Lots Bidding Draw of Lots	0 0 0 0 0 0 0 30 0 30 15 30 30 0 15 30 30 0 15 30 0 15 30 0 15 30 0 15 15 15 16 16 16 16 16 16 16 16 16 16 16 16 16	4 4 2 3 4 4 4 4 3 5 5 5 3 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 6 7 7 8 7 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1099 1100 1101 1102 1103 1104	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NH16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of the road, and the side of croad Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple in kakinada to yanam routue on NH216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kms)on NH-16 AGNAMPUDI on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town , From Ramlaksmana Junction to Day & Night junction Paasarlapudi to Kondammachinta on NH-216 either side S.Yanam to N.Kothapalii Velagalapalii (SH43) on Lingapalem to Chintalapudi road Gollavanitheppa to gutlapadu on SH ILTD junction towards Riy Station LHS (Rajamundry) 100 Feet Road, Madhavadhara T.Narsapuram on SH43 on chintalapudi to kamavarapu kota road	EAST GODAVARI EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI UEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM VIZIANAGARAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM VIZIANAGARAM SRIKAKULAM EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI VISAKHAPATNAM WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM EAST GODAVARI WEST GODAVARI VISAKHAPATNAM WEST GODAVARI VISAKHAPATNAM WEST GODAVARI VISAKHAPATNAM	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 100 52 100 52 150 100 150 150 150 100 100 100 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN SC OBC OPEN OPEN SC ST OPEN OPEN OPEN OPEN	DC DC DC DC CFS DC CC DC CFS DC CC CFS DC CC CFS DC CC	20 20 20 20 20 20 45 30 20 45 45 45 30 20 45 30 20 45 30 20 30 30 30 30 30 30 30 30 30 30 30 30 30	20 20 20 20 20 20 45 30 20 45 45 45 30 30 20 45 30 20 45 30 20 30 30 30 30 30 30 30 30 30 30 30 30 30	400 400 400 400 400 400 400 2025 900 400 2025 2025 2025 900 900 900 900 900 900 900 900	12 12 12 0 12 12 12 12 12 12 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10 10 60 60 0 45 10 60 0	Draw of Lots Bidding Draw of Lots	0 0 0 0 0 0 0 30 15 30 30 0 15 30 0 30 15 30 0 15 30 0 15 30 0 15 15 15 16 16 16 16 16 16 16 16 16 16 16 16 16	4 4 2 3 4 4 4 3 5 5 5 3 4 5 5 5 4 5 5 4 3 5 4 3 5 4 3
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096 1100 1101 1102 1103 1104 1105	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA.TO PEDDADA ON GMAMIDADA- FROM G.MAMIDADA.TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandal Moramanda within village limits KADIAM Mandal Hanumanthuwaka Jn to Komadi Jn (either side of the road, NN161) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple in kakinada to yanam routue on NH216 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kmsjon NH-16 AGNAMPUDI on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town, From Ramlaksmana Junction to Day & Night junction Paasarlapudi to Kondammachinta on NH-216 either side S.Yanam to N.Kothapalli Velagalapalli (SH43) on Lingapalem to Chintalapudi road Gollavanitheppa to gutlapadu on SH ILTD junction towards Rly Station LHS (Rajamundry) 100 Feet Road, Madhavadhara T.Narsapuram on SH43 on chintalapudi to kamavarapu kota road FROM VEMAGIRI TO KADIYAM ON SH 40(KAKINADA ROAD) Mummidivaram to Bondaikodu on NH 216 RHS "JINTU- kakinada College to Bhanugudi Junction Kanakadripuram (Pothavaram - Koyyalagudem road) SH 42	EAST GODAVARI EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI VISAKHAPATNAM VIZIANAGARAM VIZIANAGARAM VIZIANAGARAM VISAKHAPATNAM EAST GODAVARI EAST GODAVARI VISAKHAPATNAM EAST GODAVARI VISAKHAPATNAM VIZIANAGARAM VIZIANAGARAM VISAKHAPATNAM VIZIANAGARAM VIZIANAGARAM VIZIANAGARAM VIZIANAGARAM SRIKAKULAM EAST GODAVARI WEST GODAVARI WEST GODAVARI VISAKHAPATNAM WEST GODAVARI EAST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 100 100 52 100 52 150 100 150 150 100 100 100 100 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	20 20 20 20 20 20 20 45 30 45 45 45 30 30 45 45 30 20 45 30 20 45 30 20 45 30 30 45 30 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	20 20 20 20 20 20 20 45 30 20 45 45 45 30 30 20 45 30 30 20 45 30 30 30 30 30 30 30 30 30 30 30 30 30	400 400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900 900 900 900 900 900 900 900 900 90	12 12 12 0 12 12 12 12 12 12 25 0 25 25 25 0 25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10 10 60 60 0 45 10 60 0 10 10 60	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Bidding Bidding Draw of Lots Bidding Bidding Draw of Lots Draw of Lots Bidding Bidding Draw of Lots Bidding Bidding Draw of Lots	0 0 0 0 0 0 0 30 0 30 15 30 0 15 30 30 0 30	4 4 2 3 4 4 4 4 3 5 5 5 3 4 5 5 4 5 5 4 5 4 5
1081 1082 1083 1084 1085 1086 1087 1088 1089 1090 1091 1092 1093 1094 1095 1096 1097 1100 1101 1102 1103 1104 1105 1106	Thimma puram to sarpavaram jn on Thimmapuram to kakinada road Ramannapalem village, Pervali mandal Peravali Mandal FROM G.MAMIDADA TO PEDDADA ON GMAMIDADA- KAKINADA ROAD Vatluru(within 2 km from Railway crossing), Pedapadu Mandali Moramanda within village limits KADIAM Mandal Hanumanthuwaka In to Komadi Jn (either side of the road, NN16) Jagaram to Jami Autonagar, Vizag Thimmapuram to gonchala on new highway NH 216 on Either side of the road Amalapuram Bodaskuru to Bodaskuru Bridge on NH216 on either side Pydah college of engineering to talupulamma temple Pydah college of engineering to talupulamma temple kakinada to yanam routue on HX16 on Either side YEDITHA ON MANDAPETA-MADIKI ROAD From Bodepalli to Ravikamptam on SH Rajanagaram to Diwancheruvu (LHS) (from 895 kms to 903 kmsjon NH-16 AGNAM/PUD on NH-16 towards Visakhapatnam Kasapeta to Seethanagaram on SH Srikakulam Town, From Bamlaksmana Junction to Day & Night Junction Paasarlapudi to Kondammachinta on NH-216 either side S. Yanam to N. Kothapalli Velagalapalii (SH43) on Lingapalem to Chintalapudi road Gollavanitheppa to gutlapadu on SH ILTD junction towards Rly Station LHS (Rajamundry) T.Narsapuram on SH43 on chintalapudi to kamavarapu kota road FROM VEMAGIRI TO KADIYAM ON SH 40(KAKINADA ROAD) Mummidivaram to Bondaikodu on NH 216 RHS "JNTU- kakinada College to Bhanugudi Junction	EAST GODAVARI EAST GODAVARI WEST GODAVARI WEST GODAVARI WEST GODAVARI USASHAPATNAM VIZIANAGARAM VIZIANAGARAM VISASHAPATNAM EAST GODAVARI EAST GODAVARI EAST GODAVARI VISASHAPATNAM EAST GODAVARI VISASHAPATNAM VIZIANAGARAM VIZIANAGARAM VIZIANAGARAM VIZIANAGARAM VIZIANAGARAM VIZIANAGARAM SRIKAKULAM EAST GODAVARI WEST GODAVARI WEST GODAVARI EAST GODAVARI	Rural Rural Rural Rural Rural Rural Rural Regular	100 100 100 100 100 52 100 52 150 100 150 150 100 100 150 100 100 100	OPEN OPEN ST OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC DC CFS CC CC CFS CC CC CFS DC CC CFS CC CC CFS CC CC CC CFS CC	20 20 20 20 20 20 45 30 20 45 45 45 30 30 45 30 20 45 30 20 45 30 30 45 30 45 30 30 45 30 45 30 30 30 30 30 30 30 30 30 30 30 30 30	20 20 20 20 20 20 45 30 45 45 45 30 30 45 45 30 20 45 30 20 45 30 20 45 30 30 30 30 30 30 30 30 30 30 30 30 30	400 400 400 400 400 400 400 400 2025 900 400 2025 2025 900 900 2025 900 900 900 900 900 900 900 900 900 90	12 12 12 0 12 12 12 12 12 25 0 25 25 25 25 25 0 25 25 25 0 25 25 25 0 25 25 25 0 25 25 25 0 25 25 25 0 25 25 25 0 25 25 25 0 25 25 25 0 25 25 25 0 25 25 25 0 25 25 25 25 25 0 25 25 25 25 25 25 25 25 25 25 25 25 25	30 30 30 30 30 30 30 10 0 10 75 10 10 0 60 10 10 60 60 0 45 10 60 60 0 10 10 10 10 10 10 10 10 10	Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Bidding Draw of Lots Draw of Lots Draw of Lots Bidding Draw of Lots Draw of Lots Bidding Bidding Bidding Bidding Bidding	0 0 0 0 0 0 30 0 30 15 30 0 15 30 0 30 15 30 0 15 30 0 15 30 0 15 30 0 15 15 15 15 15 15 15 15 15 15 15 15 15	4 4 4 2 3 4 4 4 4 3 5 5 3 4 5 5 3 4 5 5 5 4 3 5 5 5 4 3 5 5 5 4 3 5 5 5 4 3 6 6 6 7 7 7 8 7 8 7 8 7 8 8 8 8 8 8 8 8

												T .		
1111	Achampeta jn to Kakinada lighThouse RHS ON KOVVUR NIDADAVOL ROAD FROM VIJJESWARAM TO	EAST GODAVARI	Regular	100	OPEN CC 2	DC	30	30	900	25	60	Draw of Lots	15	5
1112	GOPAVRAM	WEST GODAVARI	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
1113	From Rushikonda to Bheemli on Beach road Gollavuru to Palasa on NH16 - LHS	VISAKHAPATNAM SRIKAKULAM	Regular	150 150	OPEN SC	CC	20 45	20 45	400 2025	25 0	10 0	Bidding Draw of Lots	30	5
	STRETCH OF 6 KM FROM KOTHAPETA TOWARDS		Regular											
1115	RAVULAPALEM (INCLUDING KOTHAPETA)	EAST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1116	Narasannapeta to Singupuram on NH 16 (LHS) NH16 GANDEPALLI TO RAJANAGARAM (UPTO KM STONE	SRIKAKULAM EAST GODAVARI	Regular Regular	150 150	OPEN OPEN	CC DC	45 45	45 45	2025 2025	25 25	10 75	Bidding Draw of Lots	30 15	5
1118	895)LHS (TOWARDS RAJAHMUNDRY) YADAVOLE (NALLAJERLA TO KOYYALAGUDEM ROAD) ON	WEST GODAVARI												
	SH42, RHS		Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1119	Chepuripalli to Laveru Jn	VIZIANAGARAM	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1120	Bondayikodu Village to Mahipal cheruvu on NH 216 on either side	EAST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1121	Peddapuram Town on main road	EAST GODAVARI	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1122	Pithapuram town	EAST GODAVARI	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
1123	VEPAGUNTA TO PENDURTI JN ON LHS	VISAKHAPATNAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	ON GODAVARI BUND ROAD FROM PV NARASIMHA RAO PARK		1											
1124	TO MUNICIPAL CORPORATION OFFICE, RAJAHMUNDRY	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
1125	SURAPURAM TO TADIMALLA ON NIDADAVOLU - YARNAGUDEM ROAD	WEST GODAVARI	Regular	100	OPEN CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
1126	Vizianagaram to Kakulametta Lakshmipuram On NH 26 (Old	VIZIANAGARAM	I Regular	150	OBC	СС	45	45	2025	25	10	Bidding	30	4
1127	NH 43)	EAST GODAVARI		100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Achanpeta jn to unduru junction. Paradesipalem to Anandapuram on NH 16 from		Regular											
1128	Visakhapatnam towards Srikakulam LHS	VISAKHAPATNAM	Regular	150	OPEN	cc	45	45	2025	25	10	Bidding	30	5
1129 1130	Kakinada municipal limits Kommadi to Anandapuram On NH 16 on either Side	EAST GODAVARI VISAKHAPATNAM	Regular Regular	100 150	OPEN OBC	CC	20 45	20 45	400 2025	25 25	10 10	Bidding Bidding	30 30	5 4
1131	Srikakulam RTC Complex to Ragolu	SRIKAKULAM	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
1132	Lankalakoderu to Kommuchikkala on SH	WEST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1133	G Chodavaram (Opp to CPF Factory) on NH 16	VIZIANAGARAM	Regular	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1134	CHEBRULU to Pitapuram on NH 216 on LHS	EAST GODAVARI	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
1135	Gangavaram Port Main Gate towards Jaggu Junction within One KM on Main Road	VISAKHAPATNAM	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
1136	Aaravalli to unikili not on SH	WEST GODAVARI	Regular	100	ST PH	CFS	30	30	900	0	0	Draw of Lots	0	3
1137										25	10		30	4
	Vizianagaram Town (With in 5 KM radius from Collectorate) Eluru (1 Km from Satyanarayana theatre) on Chataparru	VIZIANAGARAM	Regular	100	OBC PH	СС	30	30	900			Bidding		
1138 1139	road	VISAKHAPATNAM	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1140	Bobbili Industrial Area (with in 2KM) ON SH 36 From Rajam to Perumali on SH 36 TOWARDS	VISAKHAPATNAM SRIKAKULAM	Regular Regular	150 100	OPEN OBC	CC DC	20 30	20 30	400 900	25 25	10 60	Bidding Draw of Lots	30 15	5
	RAMABHADRAPURAM		-											
1141 1142	Mandapeta Muncipal limits Palakole town within municipal limit	EAST GODAVARI EAST GODAVARI	Regular Regular	150 150	ST OPEN	CFS	45 45	45 45	2025	0 25	10	Draw of Lots Bidding	30	3
1143	Shivakodu Lakulu to DINDI on NH 216	EAST GODAVARI	Regular	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1144	Bommuru towards Vemagiri Junction (LHS) from 913 kms to 915 kms)	VISAKHAPATNAM	Regular	150	OBC	cc	20	20	400	25	10	Bidding	30	4
1145	samalkota Railway over Bridge to peddapuram Rajahmundry ADB road junction LHS	VISAKHAPATNAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1146	Madhurawada - Near Silparamam on NH - 16 (Vizag -	EAST GODAVARI	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
1147	Srikakulam Road LHS) KOVVUR ON MAIN ROAD BETWEEN POLICE STATAION AND	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
1148	BUS COMPLEX Amberupuram on Chodavaram to Vadaddi Road	VISAKHAPATNAM	Regular	100	OPEN	cc	30	30	900	25	10	Bidding	30	5
1149	Saravakota VILLAGE LIMITS on Parlakhemudi - Narasannapeta road	SRIKAKULAM	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1150	Pitapuram to Panduru village on NH 216 on Either side of the	EAST GODAVARI	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
1151	road Mummidivaram to Bondayikodu on NH216 on LHS	EAST GODAVARI	Regular	150	OPEN CC 1	CC	45	45	2025	25	10	Bidding	30	5
1152	Voppengi to Gara on SH	EAST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1153	Anakapalli Town with in Municipal limits(Not on NH - 16)	VISAKHAPATNAM	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1154	Kappalagunta on gundugolanu to kovvuru highway on LHS	WEST GODAVARI	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
1154	Etcherla to Ranastalam on NH 16 (either side)	SRIKAKULAM	Regular	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1156	Amalapuram on Challapalli Road after 3 kms from Red Bridge	EAST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1157	to Kunavaram From Anandapuram to Modavalasa LHS on NH 16	VISAKHAPATNAM	Regular	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1158	SALUR with in Town Limits on old NH 43 (New NH 26)	VIZIANAGARAM	Regular	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1159	NH 16 DIWANCHERUVU (FROM 903KM STONE) TO KONTHAMURU LHS(TOWARDS GODAVARI FOURTH BRIDGE)	EAST GODAVARI	Regular	150	SC CC 1	CFS	45	45	2025	0	0	Draw of Lots	0	3
1160	Asakapalli Jn to Lankellapalem	VISAKHAPATNAM	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
1161	, ,	WEST GODAVARI										Draw of Lots		
	RTC Bus Stand to Tehsildar Office - Palakollu town		Regular	100	OPEN	DC	20	20	400	25	45		15	5
1162	Kakinada lighthouse to GSPC gate	SRIKAKULAM	Regular	100	OPEN PH	DC	30	30	900	25	60	Draw of Lots	15	5
1163	Gundugolanu on NH-16	WEST GODAVARI	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
1164	Ramabhadrapuram JN to Kunayavalasa either side on SH	WEST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1165	Jangareddygudem town-II (within municipal limits)	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
1166	Sheelanagar	VISAKHAPATNAM	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
1167	Temburu to Tekkali road	SRIKAKULAM	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1168	Achanta to achanta Vemavaram on SH	VIZIANAGARAM	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1169	Ramannagudem on SH42 ramannagudem to Nallajerla road	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1170	Mogalturu to Muthyalapalli	WEST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1171	Razzole to Sivakodu on Either side on NH 216	EAST GODAVARI	Regular	150	OBC	DC	45	45	2025	25	75	Draw of lots	15	4
		EAST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1172	MALLISALA ON STATE HIGHWAY	LAST GODAVAIN												1
1172 1173	MALLISALA ON STATE HIGHWAY Eluru-II (within Municipal limits)	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
				100 150	OPEN CC 1	DC CC	30 20	30 20	900 400	25 25	45 10	Draw of Lots Bidding	15 30	5 5

1176	Meliaputi to Tekkali road From Chebrolu to Pithapuram Samalkota Junction on RHS of	SRIKAKULAM	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1177	new NH216	EAST GODAVARI	Regular	150	OPEN	cc	45	45 45	2025	25	10	Bidding	30	5
1178	Rajapulova to Anandapuram LHS on NH 16 Simhachalam to Sontyam Road on either side	VISAKHAPATNAM VISAKHAPATNAM	Regular Regular	150 150	OBC OPEN	CC	45 20	20	2025 400	25 25	10 10	Bidding Bidding	30 30	5
1180	Palakollu Canal Locks road	WEST GODAVARI	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1181	Bhimili to Tagarapuvalasa Road not on NH (on Either Side)	VIZIANAGARAM	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1182	Amalapuram clock tower road to bodaskuru on NH 216 on Either side not in Amalapuram Muncipal limits	EAST GODAVARI	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
1183	Gantavarigudem on new byepass road Vijaywada-Vizag Road	WEST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1184	(RHS) towards Vizag. ELURU-1 (within muncipal limits)	WEST GODAVARI	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
1185	FROM BOMMURU-NH 16 JUNCTION TO TADITHOTA (RAJAHMUNDRY) ON EAST RAILWAY STATION ROAD	EAST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1186	Pulla on NH-16	WEST GODAVARI	Regular	150	ОВС	DC	45	45	2025	25	75	Draw of Lots	15	4
1187	From Chilakkapalem NH Jn to Ponduru (On SH 36)	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1188	Bhimavaram to Dirusumarru	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
1189	BORUBHADRA	SRIKAKULAM	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
1190	BOMMURU TO RAJAVOLU ON BOMMURU - KESAVARAM	EAST GODAVARI		100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	ROAD RHS		Regular											
1191	Denduluru on NH 16 Rambadrapuran to Busayavalasa (on NH26 (Old NH 43) on	WEST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1192	LHS)	VIZIANAGARAM	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1193	Atuchutapuram to Yelemanchalli, SH97	VISAKHAPATNAM	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1194	RAMPACHODAVARAM WITHIN 0.5KM FROMM BPC PETROL BUNK ON STATE HIGHWAY	EAST GODAVARI	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1195	OLD SRINIVASA THEATER, RR PETA, ELURU	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
1196	KOTHAVALASA JN TO LAKKAVARAPUKOTA ON SH39	VIZIANAGARAM	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1197	PENDURTHI JUNCTION TOWARDS SARIPALLI ON SH39 (ON	VISAKHAPATNAM	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1198	RHS)	EAST GODAVARI			OPEN				900		60	Draw of Late		5
1198	Konavaram to challapalli on Amalapuram to S yanam road G DONTHAMURU (ON BALABHADRAPURAM-RAJANAGARAM		Regular	100		DC	30	30		25		Draw of Lots	15	
	ROAD) From Samalkota to Peddapuram on RHS/LHS via Kakinada	EAST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1200	road	EAST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1201	Kasimkota/Elamanchilli to Nakapalli LHS on NH16	VISAKHAPATNAM	Regular	150	OPEN CC 1	DC	45	45	2025	25	75	Draw of Lots	15	5
1202	GOPALAPURAM TOWARDS DEVARAPALLI (WITHIN 5 KMS) LHS	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1203	With in 5KM Khadgavalasa Jn on SH 37 (either side)	WEST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1204	G Medapadu to Biccavolu	EAST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1205	Vizianagaram Town (Mayuri Junction to Balaji Jn) on RTC Bus	VIZIANAGARAM	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
1206	stand road on either side Vizianagaram Town (With in 4KM raidus from Balaji Junction)	VIZIANAGARAM	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
1207	From Balighattam to Gannavaram Meta on narsipatnam	VISAKHAPATNAM	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	kotananduru road													
1208	ON NALLAJERLA (RHS) TOWARDS KOVVURU	WEST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1209	Gantavarigudem on Old NH 16 FROM Unagatla TO Brahmanagudem ON NARSAPURAM-	WEST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1210	NIDADAVOL ROAD	WEST GODAVARI	Regular	100	OPEN CC 2	DC	30	30	900	25	60	Draw of Lots	15	5
1211	Ravulapalem APSRTC bus station to Athreyapuram (Not on Athreyapuram)	EAST GODAVARI	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
1212	Nagullanka to jagganapeta	EAST GODAVARI	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
1213	Kantheru to Juttiga on SH	VIZIANAGARAM	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1214	Kakinada light house to Uppada on LHS	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1215	Penumantra to Polamuru	WEST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1216	JONNADA ON JONNADA- MANDAPETA ROAD	EAST GODAVARI	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1217	Bethapudi to Matsyapuri on SH	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1218	Gollalakoderu to Garagaparru on SH	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1219	Srinagar Jn to Gangavaram port road	VISAKHAPATNAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1220	Jangareddy Gudem Town (Towards Nagula Gudem / Pangidi Gudem Road)	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1221	Nakkapalli (after 1 km from toll gate towards Vizag - LHS)	VISAKHAPATNAM	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
1222	Bhimavaram Town	WEST GODAVARI	Regular	100	OPEN	CC	30	30	900	25	10	Bidding	30	5
1223	Gopalapatnam-NAD junction	VISAKHAPATNAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1224	Rajapulova to Vizianagaram on either side NH 26 (Old NH 43)	VIZIANAGARAM	Regular	150	OPEN CC 1	DC	45	45	2025	25	75	Draw of Lots	15	5
1225	Pedagantayada	VISAKHAPATNAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1226	Panduru village to Thimmapura on NH 216 on Either sise of the road	EAST GODAVARI	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
1227	Savaravilli to Bhogapuram ON NH16 on LHS	VIZIANAGARAM	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
1228 1229	Kalipatnam on NH 216 100 FEET Road, Mithilapuri Colony Road, Madhurwada	WEST GODAVARI VISAKHAPATNAM	Regular Regular	150 150	OPEN OBC	CC	45 20	45 20	2025 400	25 25	75 10	Draw of Lots Bidding	15 30	5
1230	From Lingapuram Junction to Kotavuratla	VISAKHAPATNAM	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1231	NALLAJERLA (RHS) TOWARDS KOVVURU	WEST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1232 1233	Between ELURU & Asram Chowk- LHS Muralinagar - Kailsapuram-Narasimhanagar	WEST GODAVARI VISAKHAPATNAM	Regular Regular	100 150	OPEN OBC	DC CC	30 20	30 20	900	25 25	45 10	Draw of Lots Bidding	15 30	5
1234	Sattaruvu Junctin to Anandapuram on RHS on SH 38	VISAKHAPATNAM	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1235	Parvathipuram with in town limits (ON SH36 either side)	VIZIANAGARAM	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
1236	U.Kothapalli to Panduru Eluru (1 Km from Satyanarayana theatre) on Chataparru	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1237	road	WEST GODAVARI	Regular	100	OBC PH	DC	30	30	900	25	45	Draw of Lots	15	4

1238	Bobbili Industrial Area (with in 2KM) ON SH 36	EAST GODAVARI	Regular	100	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
1239	From Rajam to Perumali on SH 36 TOWARDS RAMABHADRAPURAM	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1240	Mandapeta Muncipal limits	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1241	Palakole town within municipal limit	SRIKAKULAM	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1242	KATAVARAM VILLAGE ON SEETHANAGARAM MAIN ROAD	VIZIANAGARAM	Regular	100	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1243	Bommuru towards Vemagiri Junction (LHS) from 913 kms to	WEST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1244	915 kms) samalkota Railway over Bridge to peddapuram Rajahmundry	VIZIANAGARAM	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
	ADB road junction LHS													
1245	Karapa to Velangi on kakinada to Mandapeta road S Burjavalasa to K Kothavalasa on NH26(Dattirajeru Mandal)	EAST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1246	on either side	VIZIANAGARAM	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
1247	A Annavaram on Chintapalle to G Madugola road	VISAKHAPATNAM	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1248	Gajuwaka to steel plant on Gajuwaka Bypass road/Kanithi road	VISAKHAPATNAM	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
1249	Pendurthy to Sabbavaram on LHS	EAST GODAVARI	Regular	100	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1250	Gunnampalli (Before Nallajerla) on NH 16 ByPass road	WEST GODAVARI	Regular	150	OPEN CC 1	DC	45	45	2025	25	75	Draw of Lots	15	5
1251	Duvva on NH-16	WEST GODAVARI	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
1252	From Anakapalli to Kundram on Bangurmetta Kasimkota Road	VISAKHAPATNAM	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1253	Paatavala Village on NH - 216	EAST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1254	ANAPARTHI ON SH40 (CANAL ROAD)	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1255	From Nav bharath Junction to Madapam toll gate (LHS on NH - 16)	Srikakulam	Regular	150	OBC	СС	45	45	2025	25	10	Bidding	30	4
1256	Gollapalem to Draksharamam on LHS	EAST GODAVARI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1257	STRETCH OF 1KM FROM PEDAPARTHI REVU TOWARDS	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1258	PEDAPARTHI VILLAGE Between Kathipudi to Annavaram on NH - 16 on LHS	EAST GODAVARI	Regular	150	OPEN	CC	45	45	2025	25	10	Bidding	30	5
1259	AV Appa Rao Road NH16 Jn towards Spencers stretch of 2 km, Rajahmundry	EAST GODAVARI	Regular	150	OPEN	cc	20	20	400	25	10	Bidding	30	5
1260	BETWEEN D MUPPAVARAM AND KALAVACHARLA ON NIDADAVOL-NARSAPURAM STATE HIGHWAY	WEST GODAVARI	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
1261	Bobbili Industrial Area (with in 2KM) ON SH 36	VIZIANAGARAM	Regular	100	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
1262	From Rajam to Perumali on SH 36 TOWARDS	SRIKAKULAM	Regular	100	OPEN PH	DC	30	30	900	25	60	Draw of Lots	15	5
1263	RAMABHADRAPURAM RAMABADRAPURAM JN. TOWARDS SALUR with in 5KM ON	VIZIANAGARAM	Regular	150	OBC	СС	45	45	2025	25	10	Bidding	30	4
1264	old NH 43 (NH 26) NH-ADB ROAD JUNCTION TOWARDS RANGAMPETA 5KM			100	OPEN	DC			900					5
	STRETCH	EAST GODAVARI	Regular				30	30		25	60	Draw of Lots	15	
1265	Mummidivaram to Bondaikodu on NH 216 ON EITHER SIDE	EAST GODAVARI	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
1266	PEDAPALLA ON JONNADA- MANDAPETA ROAD	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1267	ON NH16 FROM MURARI TO GANDEPALLI LHS(TOWARDS JAGGAMPETA)	EAST GODAVARI	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
1268	NARSIPATNAM town within Municipal limit	WEST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
1269	Burugupudi (Between Ramavaram and Burugupudi on NH 16)	EAST GODAVARI	Regular	150	OPEN	cc	45	45	2025	25	10	Bidding	30	5
1270	Mandapeta Muncipal limits	EAST GODAVARI	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1271	From NAD junction to Pendurthy Junction RHS (SH39)	VISAKHAPATNAM	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
1272	Kakinada Bhanugudi Junction to Karnamgari junction	WEST GODAVARI	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1273	eluru on eluru - kaikalur road (SH)	WEST GODAVARI	Regular	100	OPEN CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
1274	Palakole town within municipal limit	WEST GODAVARI	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1275	On Simhachalm-Goshala Jn. Road	VISAKHAPATNAM	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
1276	FROM BURUGUPUDI TO KOLAMURU ON SH41 LHS (TOWARDS RAJAHMUNDRY)	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1277	FROM KONTHAMURU TO KOLAMURU ON SH41 LHS	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1278	(TOWARDS KORUKONDA) Kothavalasa to Kantakapalli	VIZIANAGARAM	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1279				100					900	0	0			
1279	KATAVARAM VILLAGE ON SEETHANAGARAM MAIN ROAD Palakollu Town on Peravali Road	EAST GODAVARI WEST GODAVARI	Regular Regular	100	SC OPEN	CFS	30 20	30 20	400	25	10	Draw of Lots Bidding	30	5
1281	Tetali on NH -16 (Tetali to Vizag on LHS)	WEST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1282	Palakonda to PATTIKAGUDA TOWARDS Seethampeta	SRIKAKULAM	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1283	Bommuru towards Vemagiri Junction (LHS) from 913 kms to	EAST GODAVARI	Regular	150	sc	CFS	45	45	2025	0	0	Draw of Lots	0	3
1284	915 kms) Chinna Mamidi Palli on NH 216 (Digamarru to Ongole Road)	WEST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1285	BURUGUPUDI TO RAJANAGARAM ON STATE HIGHWAY Z MEDAPADU BRIDGE TO TAPESWARAM ON DWARAPUDI	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
1286	YANAM ROAD	EAST GODAVARI	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1287	samalkota Railway over Bridge to peddapuram Rajahmundry ADB road junction LHS	EAST GODAVARI	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1288	Palakollu Town on Pamarru Road	WEST GODAVARI	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1289	Hanumantuwaka Jn to adavivaram Jn either side of road	VISAKHAPATNAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1290	Ramachandra Puram on Bypass Road	EAST GODAVARI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
1291	Gandepalli on NH -16 on LHS (Towards Vizag)	EAST GODAVARI	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
1292	GMC Balayogi Bridge to Kakinada within 1.5 km in Yanam	YANAM, Puddicherry	Regular	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5
1292	municipal limit on NH-216 LHS	ANAIVI, PUDDICHETTY	negular	120	open	υL	20	20	400	25	/5	DI aw OI LOSS	12	3